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BHE 3
XML BRRA LAY A (ERERIZ £S5

<Txml version="1,0" encoding="UTF-8"%
smlnsixsi="http: /www. wd org/2001 ML Schema—instance™>
{id extension="N. 1.2 root="2.16.840. 1. 113883.3.089. 2. 1. 3. 22" />
b N1 20 Bateh Number -—>
{ereationTime value="20101214151617"/>
<l-— N.1,5! Date of Batch Transmission -—>
{respenseModeCode code="0"/>
dinteractionld extension="MCCI_IN2OO100UVOL™ root="2. 16. B40. 1. 113883.1.8"/>
<hame code="N.1.1" codeSystem="2. 16. 840, 1. 113883, 3.989. 2. 1. {. 1" codeSystemVersion="1, 01" />
CPe= NOL1: Type of Messages in Batch —>
(T Moggage #1 -
<PORR_INO490160Y>
id extension="N.2.r.1” root="2. 16.840. 1. {13883, 3,989, 2. 1. 3. 1" />
¢l—— N.2.r.1: Message Identifier —
{ereationTime value="20101214151617"/>
<= N.2.r.4: Date of Message (reation ——>
<{processinglode code="P"/>
{processingfodeCode code="T"/>
{accepthckCode code="AL"/>
{receiver typeCode="RCV™>
<device classCode="DEV” determinerCode="TNSTANCE”>
<id extension="N. 2. r.3" root="2 16.540.1, 113883, 2.989.2.1.3.12"/>
(I N.2.r. 3! Message Receiver ldentifier —»
{fdevicer
{/receiver?
{sender typeCode="SND™>
<device classCode="DEV” determinerCode="INSTANCE”>
<id extension="N, 2.1, 2" root="2.16.840. 1. 113883, 3,989, 2, 1. 3. 11"/>
1= N 2.1, 2! Message Sender Fdentifier —>
</device>
{/sender>
<controlhctProcess classCode="CACT” moodCode="EVN">
<code code="PORR_TE049016UV” codeSystem="2. 16.840. 1. 113883. 1. 18" /">
{I=— BL7 Trigger Event ID -
CeffectiveTime value="20101214151617"/>
A=~ 1,2 Date of Creation —
C(subject typeCode="SUBJ">
<investigationEvent classCode="INVSTG” moodCode="EVN">
<id extension="C, 1. 17 reot="2. 15.840. 1. 113883.3.982. 2. 1. 3.1"/>
<te- €. 1.1: Sender’ s (case} Safety Report Unique [dentifier ——»
<id extension="C.1.8. 17 root="2, 16 540,1. 113883.3.989.2.1.3. 2" />
- £ 1.8.1: Worldwide Unicue Case Identification Number -—>
<id extension="J2 1b” reot="2. 16.840. 1. 113883, 3.989.5.1.3.2.3.17/>
d-- egaye. 1b: WHES (EF)
‘code code="PAT_ADV_EVNT" codeSystem="2. 16.B40.1, 113883, 5, 4"/
CtextrH 1</ text>
(= H 1t Lase Narrative Including Clinical Course, Therapeutic Measures, Outcome and Additional Relevant
Information —2>
{statusCode code="active”/»
e BREJ2.7.1 BT, RFETRES -
{effectiveTime>
low value="200801017/>
{I-~ €. 1.4: Date Report Was First Received from Source ——>
effectiveTime>
<availabilityTime value="20000101"/>
4-- C. 1.5 Date of Most Recent Informstion for This Report --»
{reference typeCode="REFR">
<{document classCode="DOC” moodCode="EVN™>
{code code="1" codeSystem="2. 16. 840. 1. 112883, 3,980, 2, 1. 1. 27" codeSystemVersian="1.0"



displayName="documentsiel dBySender” /2
CeitledC. 1.6, Lor 1</titlel
¢l—= €. 1.6.1.r. 1: Documents Held by Sender (repeat as necessary) #1 -—»
¢text mediaType="application/pdf” representation="B64">C.1, 6. L r. 2¢/text>
b (0 5 .

tor i Inchuded mants K

L doouiment
</reference’
<reference typeCode="REFR”>

doeument classCode="D0C" moodCode="EVN">

<code code="1" codeSystem="2. 15, 840. 1. 113883, 3, 989. 2. 1. 1. 27" codeSystenVersion="1,0"
displayName="documentsHeldBySender” />

CtitlerC, 1.6, Lr. 14/ 1itler

Yo C.1.B. L.r.1: Documents Held by Sender {repeat as necessary) #2 --»

Stext mediaType="image/jpeg” representation="R64" compression="DF"7C.1.6. 1 r. 2¢/text>

¢i—— €. 1.6, L 1. 21 Included Documents 82 -——>

S document>
</reference>
{reference typeCode="REFR”>

<document classCode="DOC” moodCode="E¥N">

¢code code="2" codeSystem="2. 15, 840, 1. 113883, 3. 989. 2. 1. 1. 277 codeSystemVersion="1. 0"
displayName="1iteratureReference” />

titled]2. 1T rd/titler
<le- BOEJ2.17.r RBRROSE B
<text mediaType="application/pdf” representation="B6473C, 4. v, 2</text>
e C.4.r. 2 Ineluded Documents 81 —>
<bibliographicDesignationText>C. 4. v, 1</bibliographicDesignationText?
4= 0, 4.r. 10 Literature Reference{s) #1 -->
<participation typeCode="AUT™>

<assignedintity classCode="ASSIGNED™>

<representedOrganization classCode="0RG” determinerCode="INSTANCE™>
{aslLocatedEntity classCode="1.0CE">
¢location classCode="COUNTRY” determinerCode="INSTANCE”>
‘eode code=")2. 15, r" codeSystem="1.0.3166. 1.2.2"/>
- @RET2. 15. v HFRE # -
/location
{/asLocatedEntity>
{/representedOrganization?

/assignedEntity>
</participation>

</document>
</reference’
¢reference typeCode="REFR™>

(document classCode="DOC" moodCode="EVN">

<code code="2" codeSystem="2. 16, 840, 1, 113883, 3.989. 2. 1. 1. 277 codeSystenVersion="1, 0"
displayName="literatureReference” />

{titler]2. 17, rd/titler
<|-- g@eIe. 17.r BB HAOSE 82 -
¢text mediaType="application/pdf” representation="B64">C, 4. 1. 2¢/text>
<i=- €. 4.r.2: Included Documents KZ -->
¢hibliographicDesignationText>C. 4. r. 1</bibliographicDesignationText>
<lem C 4 r. 1! Literature Reference{s} #2 -2
{patrticipaticn typeCode="AUT">

¢assignedEntity classCode="ASSIGNED">

crepresentedirganization classCode="0ORG” determinerCode="INSTANCE™>
<aslocatedFntity classCode="LOCE™>
<lovation classCode="COUNTRY” determinerCode="INSTANCE™>
Ccode code="J2. 15.v" codeSysten="1.0.3166.1.2.27/>
<l—— @@er2. 15 r DFE 2 >
</location>
{/asLocatedEntity?
/representedOrganization?
<fassignedBEntity?
- </participation>

</document>
/reference>
<component typeCode="COMP™>

¢adversefventAssessment classCode=” INVSTG” moodCode="EVN">

<suhjectl typeCode="SBI">
{primarvRole classCode="INVSB]">



<playerl classCode="PSN" determinerCode="INSTANCE”>

{namerd. 1/ name>

<!=- D.1: Patient (name or initials) —>

{administrativeGenderCode code="D. 57 codeSystem="1.0, 5218"/>

S DS Saw

ShirthTime velues" 2000010177

<l~= D.2.1: Date of Birth --

<deceasedTime value="20080101"/>

== D.9. 1! Date of Death >

<asfdentifiedEntity classCode="IDENT >
Zid extension="D. 1. 1. 1" root="2. 16.840. 1. 113883, 3. 489.2.1. 3. 7" />
<de= D11 10 Patient Medical Record Number (s} and Source(s) of the Record Numher (6P Medical

Record Number) ——»
{code code="1" codeSystem="2. 16. 840, 1. 113883.3.980. 2. 1. {. 4" codeSystemVersion="1. 6"
displayName="GP" />
</asldentifiedEntity>
<asidentifiedBEntity classCode="IDENT >
“id extension="D0. 1. 1. 27 root="2. 16.840. 1, 113883, 3. 989. 2. 1. 3. 8"/>
b= D 1.5 27 Patient Medical Record NMumber (s) and Sourcefs) of the Record Number (Specialist
Record Number) --3
<code code="2" codeSystem="2. 16. 840. 1. 113883, 3, 980, 2. 1. 1. 4" codeSystenVersion="1, 0%
displayName="Specialist”/>
<SasldentifiedEntity>
<asldentifiedEntity classCode="IDENT">
<id extension="D.1.1.3" voot="2. 16, 840 1. 113883.53.989, 2.1, 3,97/
<I--D. 1.5 3 Patient Medical Record Number (s) and Source(s) of the Record Number (Hospital Record
Number) ——>
<code code="3" codeSystem="2. 16. 4G, 1. 113883.3.989. 2. 1. 1. 47 codeSystemVersion="1. 0"
displayName="Hospital Record”/>
</asTdentifiedEntity>
<asidentifiedEntity classCode="IDENT">
<id extensions"D, 1. 1. 4" root="2. 16.840. 1. 113883, 3.98%. 2. 1. 3. 10" />
<i==D.1.1. 4" Patient Medical Record Number{s) and Source(s) of the Record Number (Investigation
Humber} =-»
<epde code="4" codeSystem="2. 16. 840. 1. 113883, 2. 989, 2. 1. 1. 4" codeSystemVersion="1.0"
displayName="Tnvestigation”/> :
asldentifiedEntity
{role classCode="PRS">
{cede code="PRN” codeSystem="2. 16, 840. 1. 113883. 5. 1117/>
{agsaciatedPerson classCode="PSN” determinerCode=" INSTANCE”>
<nameD. 10. 1</name>
1=~ D.16.1: Parent Identification —>
<administrativebenderCode code="D. 10. 8" codeSystem="1, (. 521R8"/>
<= D 1660 Sex of Parent —»
<hirthTime value="200901017/>
- D162, 10 Date of Birth of Parent ——3
</associatedPerson?
{subjectOf2 typeCode="SB}">
<observation classCode="0BS" moodCode="EVN">
<code code="3" codeSystem="2, 16, 840. 1. 113883.3.980. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="age” />
{value xsiitype="PQ” value="10" unit="D. }0. 2. 2b"/>
I~ D.10. 2. 2a: Age of Parent (number; —>
le~ D10, 2, Zb: Age of Parent {unit) ——>
{/chservation>
{/subjectDfE;
{gubjectOf2 typeCode="SB] >
<observation classCode="0BS” moodCode="EVN">
<code code="22" codeSystew="2. 16. 840. 1. 113883, 3. 989, 2, 1, 1. 19" codeSystemVersion="1. 1"
displayName="lastMenstrualPeriodDate” />
C(value xsiitype="TS" value="20000101"/>
<J— B.10.3: Last Menstrual Pericd Date of Parent -~
</observation>
/subjectOf2>
<subject0f2 tvpeCode="SBJ">
{observation classCode="0BS” moodCode="EVN™>
(code code="7" EDdeSystemf”Z‘16<S40.1.213?83.3,989.2.1,1.i9” codeSystemVersion="1.1"
displayName="bodyWeight”/>
Cvalue xsiltype="PQ” value="50" unit="kg"/>



<1— D.10.4: Body Weight (kg) of Parent -—>
{/observation>
< subjectOf 2>
<subjectOf2 typeCode="SB]">

leode od ol i so16B40, 11 ELLEY
displayName="height”/>
Cvalue xsiitype="PQ" value="160" unit="en”/>
<d-— 0,10, 50 Height {om) of Parent —>
</ohservation’
S sub jectOF 2y
<subject0f? typeCode="SBI">
¢organizer classCodes"CATEGORY” moodCode="EVN™>
¢eode code="1" codeSysten="2.16.840. L. 113883, 3.989. 2. 1. 1. 207 codeSystenVersion="1.07
displayName:"relevantMedicalHistoryAndConcurrentConditions"/> )
Ccomponent typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN™>
{code code="D. 10,7. 1. r. 1b” codeSysten="2. 16, B40, 1. 113883. 6. 163"
codeSystemVersion="D. 10. 7. L. r. 1a"/>
I D10, 7. L r. ta: MedDRA Versicm for Medical History #1 -2
¢tee BU10.7. 1. 1 16t Medical History (disease / surgical procedure/ ete.) (MedDRA code) #1 -

CeffectiveTime xsiitype="IVL_TS"»
<low value="200901017/>
(F== D.10.7. 1. 7. 20 Start Date Hl ~->
<high value="200G01017/>
e D.10.7. 1. r. 47 End Date #1 ~->
</effectiveTime
<puthoundRelationship? typeCode="CONE">
Cobgervation classCode="0BS” moodCode="EVN™>
Ceode codes 107 codeSystem="2. 16. 840, 1. 113883, 3. 089. 2. 1. 1. 197 codeSystemVersion="1.1"
displayNane="comment” />
<yalue xsiitype="ED">D. 10,7 1. ¥ 5</value?
i D IO.T. Ly. 5 Comments #1 ——>
</observation?
/outhoundRelationshipls
<inboundRelationship typeCode="REFR™>
{observation elassCode="0BS" moodCode="EVN">
<eode codes"13” codeSystem="2. 16, §40. 1. 113883, 3,989, 2. 1, 1. 19" codeSystemVersion="1.1"
dizplayName="eontinuing”/>
{value xsi:types BL” value="true”/>
Com DU10L7. 1.1, 30 Contipning 1 -2
{/ohservationd
</inboundRelationship>
<faobzervation?
</ component>
<component 1ypeCode="COMP">
{obeervation classCode="0BS” moodCode="EVN">
feode code="DL 10, 7. 1. r. 18" codeSystem="2. 16, 840. 1. 113883, 6, 163"
codeSystemVersion="D. 10. 7. 1.r. 1a" />
<d--D1

0.7.1.r. la’ MedDRA Version for Medical History #2 -->
A== Do 7.

1.r.tb: Medical History (disease / surgical procedure/ etc.) (MedDRA code) #2 -

<affectiveTime xsiitype="IVL TS™>
Clow value="200001017/>
¢t~ [0.10.7.1.1.2: Start Date §2 —>
Chigh value="20090101"/>
¢+~ D.10, 7. 1.r.4: End Date #2 -
<feffectiveTime>
<puthoundRelationship? tvpeCode="COMP™>
{ghservation classCode="0RS” moodCode="EVN">
Ceode code="10" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="comment” /> .
yalue xsiitype="ED">D, 1007, 1.7 5</value>
¢i-- D, 10.7.L.r.5: Comments #2 -—>
{/observation®
</outboundRelationship2>
<inboundRelationship typeCode="REFR">
{observation classCode="0BS" moodCode="EVN">



{code cede="13" codeSystem="2, 16. 840, 1. 113883. 3, ORG. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="continuing”/>
{value xsiitype="BL” value="true”/>
- BU1007.Lr. 3 Continuing #2 —>

{/observation>
{/componenty
<component typeCode="COMP™>

<observation classCode="0BS” moodCode="FEVN">

{code codem”18” codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="historvAndConcurrentConditionText”/>

<value xsiitype="ED">D, 10, 7, 2</value>

== D.10.7.2: Text for Relevant Medical History and Concurrent Conditions of Pavent =

{/eheservation>

<Aoomponent
</organizer>
</subjectOf2>
(subject0f2 typeCode="SB]">
<organizer classCode="CATEGORY" moodCode="EYN">
{eode code="2" codeSystem="2. 16. 840. 1, 113883, 3,983, 2. 1. 1. 28" codeSystemVersion="1, 6"
displayName="drugHistory”/> B
<{component typeCode="COMP™>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<effectiveTime xsi:type="TVL_TS >
<low value="200%0101"/>
<I—— D.10. 8. 1. 4: Start Date #1 ——>
Chigh value="20090101"/>
<!=- D.10.8.r. 57 End Date #1 —>
Seffectivelimer
<ronsumable typeCode="CSM™>
<instapce(fKind classCode="INST">
<kindOfProduct classCode="MMAT" determinerCode="KIND">
<code code="D. 1. 8. r. 2b” codeSystem="TBD-MPID" codeSystemVersion="0. 10. B.r. 25" />
<1==D.10,8 1, 22 MPID Version Date / Number #1 -—>
<1=- D.10.8.1.2b: Medicinal Product Identifier (MPID) #1 ~>
<name>D, 10. 8. v, 1{/name>
<i== D.10.8.r. 11 Name of Drug as Reported #1 -
AhindGiProduct
</instance0fKind>
</eonsumabler
<autboundRelationship? typeCode="RSON">
<observation classCode="0BY" moodCode="EVN">
{code code="19" codeSystem="2. 16.840. 1. 113883, 3, 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="indication”/>
<value xsiitypes”CE” code="D. 10. 8. r. 86" codeSystem="2. 16, 840. 1. 113883. 6. 163"
codeSystemVersion="D. 10. 8. r. 6a"/>
<I=- D.10.8 1. 6a: MedDRA Version for Indication #1 -->
1= D.10.8.r.6b: Indication (MedDRA code) #I —->
</observation>
/outboundRelaticnship2:
<{outboundRelationship? typeCode="CALS™>
<observation classCode="0BS” mocdCode="EVN">
<code code="28" codeSysten="2. 16. 840. 1. 113883, 3,989. 2. 1. 1. 197 codeSystenVersion="1. 1"
displayName="reaction”/»
<valug xsi!tvpe="CE” code="D. 0.8 r.7b" todeSystem="2. 16. 840. 1. 113883, 6. 183"
codeSystemVersion="D. 10.8.r. 7a”/>
<{— D.10.8.r. Ta: MedDRA Versiocn for Reaction #1 --»
== D.10.8. r. Th: Reactions (MedDRA code) #1 —-»
/observation>
<outboundRelationship2»

</substanceAdministration
</component>
{component typeCode="COMP”>

{substanceldministration classCode="SBADM™ moodCode="E¥YN">

{effectiveTime xsi:type="IVL TS">
low value="20080101"/>
<fw~ D 16.8.r. 47 Start Date 2 —->
<high value="20090101"/>



<D 10,8 1. 50 End Date 82 —>
feffectiveTime?
<consumable typeCode="CSM">
alfKind classCode="INST">
fFrod ;

{instanc

83

femiarsion="0. 10, & v 38"/

PhPID Version Date / Number #2
(lem D_10.8. r. 3h: Pharmaceutical Product Identifier (FhPID) #2 -->
Cname>D. 10, 8. r. 1</ name>
CEe- I 1008 1. 1 Name of Drug as Reported #2 —

</kind0fProduct?
{finstancebfKind>
</eonsumabler
<outboundRelationship? typeCode="RSON">
<observation classCode="0B8" moodCode="EVN">
Ceods code="10" codeSystem="2, 16. 840. 1. 112883, 3, 980, 2. 1. 1. 19" codeSystemVersion="]. 17
digplayName="indication” />
(yalue xeiitype="CE” code="D. 10.8. r. 65" codeSystem="2. 16. 840, 1. [13883. 6, 163”7
codeSystenVersion="0. 10. 8. r. 6a”/>
{— D10, 8, r. 6a7 MedDRA Version for Indication #2 —3
<l-- D.10.8 r. 6b: Indication (MedDRA code) #2 —>
<fobservation?
</outboundRelationship2>
<outhoundRelatinnship? typeCode="CAUS:
Zobservation classCode="0BS" moodCode="EVN">
Ceode code="29" codeSystem="2. 16, 840. 1. 113883, 3. 989, 2. 1. 1, 18" codeSystemVersion="1.1"
displayName="reaction” />
¢value xsiitvpe="CE” code="1. 10.8.r.7b" codeSystem="2. 16, 840. 1. 113883, 6, 163"
codeSystemVersion="IL 10, 8. v. 7a” />
{l— D160, 8. 1. Ta: MedDRA Version for Reaction #2 —>
¢l-— D.10.8.r. Tb: Reactions (MedDRA code} #2 —->
</nbservation?
</outboundRelationshipl?
</substanceAdministration>
{/component.
{/organizer>
/subjectOf2>
froled
<Splayerls
Csubject0f] typeCode="SBI">
¢researchStudy classCode= CLNIRL” meodCode="EVN">
<id extension=C. 5 37 root="2.16.840,1.113883.3.989. 2. 1.3, 87>
1= £.6.3: Spenser Study Number -->
Zcode code="C. 5, 47 codeSystem="2. 16. 840, 1. 113883, 3, 988, 2. 1. 1. 8" codeSystemVersion="1. 0"/
<= .5 4 Study Type Where Reaction(s) / Event{s) Were Observed ——>
<titledC, 524/ titler
<o €. 5. 21 Study Name —>
<asuthorization typeCade="AUTH">
¢studyRegistration classCode="ACT" moodCodes"EVN™>
¢id extension="C.5. 1.r. 1" root="2. 16.840. 1. 113883.3.988.2. 1. 3. 6"/
Cle~ € 5. 1.1.1! Study Regisiration Number #1 —>
Cauthor typeCode="AUT" > .
territorialAuthority classCode="TERR™> .
¢governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
{eode code="C.5. L. r. 2" codeSystem="1.0.3166.1.2.2"/>
¢b—— C.B.1.7.2: Study Registration Country H1 —>
{/governingPlace?
</territerialAuthority>
{/author>
</studyRegistration?
{/authorization
Zauthorization typeCode="AUTH">
¢studyRegistration classCode="ACT” moodCode="EVN">
<id extension="C.5.1.r. 1" root="2 16.840.1. 113883.3.989.2.1.3.6"/>
<l—= (.8 1.r.1 Stody Registration Number #2 ——>
Zauthor typeCode="AUT">
<territorialAuthority elassCode="TERR">
{gaverningPlace classCode="CONNTRY” determinerCode=" JNSTANCE™»
Ceode code="C.5. 1.r. 2" codeSystem="1. 0. 3166, 1. 2.27/%



(I~ CB 1.y, 20 Study Registration Country #2 -
</governingPlace>
{/territorialAuthorityy
</author>

author i
</researchStudy>
</subject0f1>
{subject0f? typeCode="SB]">
{observation classCode="08%" moodCode="EYN">
{code code="3" codeSystem="2. 16. 840. 1. [138R3, 3, 080, 2. 1. 1. 19" codeSvstemVersion="1, 1*
displayName="age” />
<value xsiitype="PQ" value="10" unit="D. 2. 2b"/>
== D.2.2a1 Age at Time of Onset of Reaction / Event (number) -——»
- D.2.2b: Age at Time of Onset of Reaction / Event (unit) ——»
{/chservation>
</subject0fe>
{(subject0f2 typeCode="SBI™>
Zobservation classCode="0BS" moodCode="EVN">
<code codes"16” codeSvstem="2. 16,840, 1, 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="gestationPeriod” />
(value xsiitype="PQ” value="10" unit="D.2. 2. 1" />
<1-—D. 2.2, 1a: Gestation Pericd When Reaction / Event Was Observed in the Foetus (number) ——
<I-—D. 2.2 ib: Gestation Period When Resction / Fvent Was Observed in the Foetus (unit) -—3
</observation>
<AsubjectOf2y
{subject0f2 typeCode="SE]">
<wbservation classCode="08S" moodCode="FVN">
{code code="4" codeSystem="2. 16. 840. 1. 113883, 3, 989, 2, 1. 1. 19" codeSystamVersion="1, 1"
displayName="ageGroup” />
<value xs1:type="CE” code="D. 2. 3" codeSystem="2, 16, 840. 1. 113883, 3,984.2.1. 1. 9"
codeSystemVersion="1, 6"/>
== D.2.3: Patient Age Group (as per reporter) —-»
</ohservation>
</subjectOf2>
{subject0f2 typeCode="SBI >
{chservation classCode="0B5" moodCode="EVN">
{code code="T" vodeSystem="2. 16. 840. 1. 113883. 3, 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="bodyWeight”/>
‘ <value xsiitype="PQ” value="48 2" unit="kg"/>
<i-—D.3: Body Weight (kg) —> .
</chservation?
</subject0f2>
CsubjectOf? typeCode=“SRI>
{observation classCode="0BS” moodCode="EVN">
. {code code="17" codeSystem="2, 16, 840. 1, 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1, 1"
displayName="height” />
<value xsiitype="PQ” value="152" unit="cn” />
<= D.4: Hejght {cm} ——>
</abservation>
<Ssubiect(fe
{subject0f2 typeCode="SR]">
<{observation classCode="0BS" moodCode="EVN">
{code code="22" codeSystem="2. 16, 840, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayNamez"lastMenstrualPericdDate”/>
<value xsi:type= TS" value="20000101"/>
<l D& Last Menstrual Period Date —»
{/observation>
{/subjectOf2>
<subjectOf2 typelode="SR}">
(organizer classCode="CATEGORY” moodCodez"EVN"S -
{code code="1" codeSystem="2. 16. 840: 1. 113883, 3. 989. 2. 1. 1. 20" codeSystemVersion="1. 0"
displayName="relevantMedicallistoryAndConcurrentConditions” />
<component typeCode="COMP™>
<{observation classCode="0BS" moodCode="EVN">
<code code="D.7.1.r.1b" codeSystem="2. 16. 840. 1. 113883, 6. 163" codeSystenVersion="D. 7. 1. r. la"/>
== D.7. 1L r.la’ MedDRA Version for Medical History #1 -
= D7 Lr. 1b: Medical History {disease / surgical procedure / ete,) (MedDRA code) #1 —>
{effectiveTime xsiitvpe="1VL TS">



<low value="20080101"/>
Clee D710, 20 Start Date #1 ——>
<high value="20080101"/>

¢ohservation classCode="0BS” mocdCode="EVN™>
Ceode code="107 codeSvstem="2. 16,840, 1. 113883, 3.989. 2. 1. 1, 19" codeSystemVersion="1.1"
displayName="comment” />
Cyalue xsiitypes"ED">DL 7.1 r. B</valuer
e D tor 80 Comments #] -
</observation>
<JoutboundRelationship2>
<outhoundRelationship? typeCode="EXPL™>
{observation classCode="0BS" moodCode="EVN">
Ceode code="38" codeSystem="2, 16,840, 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="familyHistory”/>
<value xsiitype="HL” value="true”/>
<= D.7.1.r.6: Fapily History $#1 —=>
{fobservationy
</outboundRelaticnship2>
<inboundRelationship typeCode="REFR™>
<observation classCode="0BS" moodCode="EVN">
Ceode code="13" codeSystem="2. 16, 840. 1. 113883. 3, 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="continuing”/>
<value xsiitype="BL” value="true”/>
d— D7 Loy 3 Continuing 81 -
<fobservation>
</inboundRelationship>
{/observationy
</component >
Ccomponent typeCode="COMP™>
<observation classCode="0BS” moodCode="EVN">
{code code="I. 7.1.1.1b" codeSystem="2. 16, 840.1. 113883, 6. 183" codeSystemVersion="D. 7. L r. 12"/
<t D.7. 1.1 la: MedDRA Version for Medical History #2 ——
Hee B.7.1.r. 1b: Medical history (disease / surgical procedure / etc.) (MedDRA code) #2 -3
CeffectiveTime xsiitype=" IVL_TS™>
Clow value="200001017/>
<l==D.7. 1.1 20 Start Date #2 -->
<high values"200301017/> -
Sl L7, 51,40 End Date #2 -—>
{JeffectiveTime>
<outhoundRelationship2 typeCode="COMP™>
<ohbservation classCode="083" moodCode="EVN™>
Ceode code="10" codeSystem="2. 16. B40. 1. 113883, 3, 989. 2. 1, 1. 19” codeSystenVersion="1.1"
displayName="comment” />
Cyalue xsiitype="ED73D. 7. 1. r. 6<{/value>
<=~ D.7.1. 7.5 Compents #2 —>
</observation>
/outboundRelationship2>
<outhoundRelationship? typeCode="EXPL">
Cobservation classCode="0B5" moodCode="EVN™>
{code code="38" codeSvstem="2. 16 840, 1, 113883.3.98%. 2. 1. 1. 197 codeSystemVersion="1.1"
displayName="familvHistory”/>
<yalue xsiltype="BL” value="true”/»
Sl-= D 7. 1. r. 6 Family History 82 -
{/ebservation>
¢/outboundRelationship2>
<inboundRelationship typeCode="REFR">
<observation classCode="(0BS” moodCode="EVN™>
Ccode code="13" codeSvstem="2, 16, 840, 1, 113883, 3. 980. 2. 1. 1. 197 codeSystemVersion="1.1"
displayName="continuing”/>
<value xsiitype="BLY value="true”/>
4=~ D, 7.1. 1.3 Continuing #2 -->
</observation>
¢/inboundRelat ionship>
</observation?
</eomponent >
<component typeCode="COMP™>



{ebservation classCode="0BS" moodCode="E¥N">
{eode code="1B" codeSystem="2. 16. 84C. 1. 113883. 3. 983. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="historyAndConcurrentConditionText™ />
<{value xsi:type="ED":D. 7. 2¢/valued
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</observation?
</component>
{component typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN">
<eode code="11" codeSystem="2. 16. 840. 1. 113883, 3, 989. 2, 1. 1. 19" codeSystenVersion="1.1"
displayName="concomnitantTherapy” />
{yalue 1sitype="BL” value="true”/>
Ad—D.7.37 Concomitant Therapies ~—»
{/chservation?
{/component
<Sorganizery
</subjectOfe>
Csubjectdf2 typeCode="SB]">
{organizer classCode="CATEGORY” moodCode="FVN">
{code code="2" codeSystem="2, 16. 840. 1. 113883, 3. 989. 2. 1. 1. 207 codeSystemVersion="1. 0"
displayName="drugHistory”/>
{compenent typeCode="COMP”>
<{substanceAdministration classCode="SBADM" moodCode="EVN">
{effectiveTime wsiitype="IVL_TS">
Jow value="200001017/>
b D8y 4! Start Date #] ~
<high value="20000101" />
{d=- D8 r.5: End Date #1 -->
<effectivelimed
<consumable typeCode="CSM">
{instanceQfKingd classCode="INST">
<kindOfProduct classCode="MMAT" determinerCode="KIND">
{gode code="D. 8. r. 26" codeSysten="TBO-MPID” codeSystemVersion="D. 8. r. 2a7/>
== D8 r. 2a: MPID Version Date / Number ¥ —>
-~ D8 r. 260 Medicinal Product Identifier (MPID) #1 -
{namerD. B, r. 1{/name>
<=~ 0,8 1.1 Name of Drug as Reported §1 --»
/hind0fProduct>
</instanceOfKind>
{/consumable>
{outboundRelaticaship? typeCode="RSON">
Cobservation classCode="0BS” moodCode="FYN">
Ceode code="19" codeSystem="2. 16. 840. 1, 113883. 3. 989. 2. 1, 1. 18" codeSystemVersion="1.1""
displayName="{ndication”/>
<value xsi type="CE” code="D, 8 1. 6b" codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="0. 8. r. 63"/
- D.B.1.6a: MedDRA Version for Indication H} -->
-~ D.B.r.6b: Indication (MedDRA code) #1 —>
</obgervationy
</vutboundRelationship2>
<outhoundRelationship? typeCode="CAUS™>
<observation classCode="0BS" moodCode="EVN">
<code code="29" codeSystem="2, 16, 840, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1,1"
digplayName="reaction”/>
“{value xsiltype="CE” code="DL 8. r. 7b” codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="D, 8. r. 72" />
' Cl-- D.8.1.7a: MedDRA Version for Reaction #1 -—»
(1-= D.8& r.7h: Reaction (MedDRA code) H#I —>
</observation>
</outboundRelationship2>
</substanceAdministration>
</component’
{component typeCode="COMP™>
<substanceAdministration classCode="SBADM” moodCode="EVN">
<effectiveTime xsi:type="[VL_TS"»
<low value="200901017/>
- D8 1. 4: Start Date #2 --»
<high value="2008901017/>



{I— D 8. r. 5 End Date #2 —>
CfeffectiveTime>
{eonsumable typeCode="CSM™>
(instanceOfRind classCode="INST >

¢ cefe 3k té TBh-EEPIDY
<t—— D.8.r.3a: PhPID Version Date / Number —>
fe- DB r. 3b: Pharmaceutical Produet Identifier (PHPID) B2 —>
<pame>D. 8. r. 1</ name>
— BB r.1: Name of Drug as Reported #2 —>
SRindfProduct
</instance0fKind>
</consumabley
CouthoundRelationship? typeCode="RSON>
Cabservation classCode="0BS” moodCode="EVN">
Ceode code="19” codeSystem="2. 16. 840, 1. 113883, 3,989, 2, 1. 1. 19" codeSystemVersion="1. 1"
displayName="indication”/>
Cvalue xsiitype="CE” code="D.8. r.6b" codeSysten="2. 16, 840. 1, 113883. 6. 163”7
codeSystenVersion="D. 8. r. 8a"/>
I [L8.r.6a: MedDRA Version for Indication E2 -
<1-- I8 1. 6b: Indication MedDRA code) 42 —>
</ohservation>
/gutboundRelationship2>
LoutboundRelationship? typeCode="CAUS™Y
<observation c¢lassCode="0BS" moodCode="EVN"Y
(eode code="29" codeSystem="2. 16. 840, 1. 113883, 3. 689. 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="reaction”/>
<value xsiitype="CE” code="0. 8. r 7b” codeSysten="2. 16. 840, 1. 113883, 6. 163"
codeSystemVersion="D. 8. r. 72" />
<t—- D.B.r. 7a: MedDRA Version for Reaction H2 —>
<le- D, 8 r.Th. Reaction MedDRA code} §2 ——>
</observation»
<outhoundRelationship2)
{/substanceAdministration>
</companent. >
{Jorganizer’
</sub jectdf2>
{subjectOf? typeCode="SBEI">
(ohservation classCode="08BS" moodCode="EVN"> )
Ccode code="32" codeSystem="2, 16, 840. L. 113883, 3. 989, 2.1.1. 18" codeSystenVersion="1.1"
displayName="reportedCausedfDeath”/>
<value xsitype="CE” code="D. 9. 2.r. 1b” codeSystem="2. 16.840, 1, 113883. 6. 163"
codeSystenVersion="D.9.2.r. 1a">
<1-=D.9.2.r. la: MedDRA Version for Keported Cause(s) of Death #1 -
Cl== B0, 9,2 1. th: Reported Causels) of Death (MedDEA code) £1 —->
CoriginalTextrD 8. 2. r 2 orfginalTexts
4--D.9.2.r.2: Reported Cause(s} of Death (free text} #1 -->
</value?
{/observation>
</subjectOf2>
Csubject0f? typeCode="SB1">
Cobservation classCode="0BS” moodCode="EVN™>
<eode code="32" codeSystem="2. 16,840, 1. 113883, 3, 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reportedCausefDeath” />
<value xsiitype="CE” code="D, 9, 2.1, 1b” codeSystem="2. 16, 840. 1. 112883, 6. 1637
codeSystemVersion="D, 9, 2, r. 1a”>
1= 0.9.2 1. la: MedDRA Version for Reported Cause({s} of Death #2 —>
<f— D.9.2.r. 1b: Reported Cause(s} of Death (MedDRA code) #2Z -->
<originalText>D. & 2.r. 2</original Text>
(fw= 13,9.2.r. 2! Reported Cause(s) of Death (free text} #2 —>
<Svalded
</observation?
¢/sub jectOf22:
<subjectOf? typeCodes"SB]™>
<observation classCode="0BS" moodCode="EVN">
<code code="5" codeSystem="2. 16. B40. 1. 113883, 3, 989, 2. 1. 1. 19” codeSystemVersion="1.1"
dizplayName="autopsy”/>
: <yalue xsiitype="BL” value="tyrue”/>
¢t— 11.9.3 Was Autopsy Done? -——>



{outboundRelationship? typeCode="DRIV">
<vhservation classCode="0BS" moodCode="EVN">

<code code="8” codeSystem="2. 16 840. 1. 113883, 3,989, 2. 1. 1. 197 codeSystemVersion="1. 1"
displayName="cause0fDeath” />

codafvste

{d-=D.9. 4. r. 1a’ KedDRA VYersion for Autopsy—determined_Cause{s) of Death #I ——
1= D.9. 4.1, Ib Autopsy—determined Cause{s) of Desth (MedDRA code) #1 ——>
<originalfext>D. 9. 4. r. 2</originalText)

<l D,9.4.1. 20 Autopsy-determined Cause(s) of Death (free text) Bl ——3
<Svalued

{/ohservation>
{/nutboundRelationship2>
<outboundRelationship? typeCode="DRIV">
<observation classCode="0BS" moodCode="E¥N">

dcode code="8" codeSystem="2. 16. 840. 1. 113883, 3, 989. 2. 1. 1. 19" codeSystenVersion="1 1"
displayName="causelfDeath”/>

<value x=iitype="CE" code="D, 9. 4. r. 1b” codeSysten="2. 16, 840, 1. 113883, &. 163"
codeSystemVersion="0. 9. 4. r. la">
1= D8 4. r. la’ MedDRA Version for Autopsy-determined Canse(s) of Death #2 ——>
<d--D.8. 4. 1. 1b Autopsy—determined Causels) of Death (MedDRA code) #2 —>
CoriginalText>D. 9. 4, r. 2</originalText>

<b== D940 r. 20 Autopsy—determined Cause(s) of Death (free text) #2 —3
{Svalued

</observation
</enitboundRelationship2y
</ohservationy
</subjectOfey
(subjectOf2 typeCode="SBI">
<observation classCode="0B5" moodCode="FYN">
4d root="154eb889-958b-4512-a021-4244d6F 46577 />

<eode code="29" codeSystem="2, 16. 840. 1. 113883, 3, 080.2. 1. 1. 18"
displayNeme="reaction” />

codeSystenVersion="1. 1"
(effectiveTinme xsi:type="IVL_TS">

<low value="20080101"/>

“¢l— E 1. 4. Date of Start of Reaction / Bvent #1 —»

<high value="20000102"/>

<t—— E.i.5! Date of End of Reaction / Event #} ——>
SeffectiveTime?

<value xsiitype="CE” code="E.i.2.1b" codeSvstem="2. 16. 840. 1. 113883, 6, 1637
codeSystemVersion="E. i. 2. 1a”>

(e E 1.2 ta! MedDRA Version for Reaction / Event #1 -->

(-~ E. 1.2 1b: Reaction / Event (MedDRA code} #I ~->

CoriginalText languages"%. i.1.1h™E. 1.1, la</originalText>

<te- E_i.1.1a! Reaction / Event as Reported by the Primary Source in Native Language $1 -—->
<4-- E. i, L. 1b! Reaction / Event as Reported by the Primary Source Language #1 —>
{fualued

{location typeCode="LDC">
{JocatedEntity classCode="LOCE™>
{ocatedPlace classCode="COUNTRY™ determinerCode="INSTANCE”>
<code code="E. 1.9" codeSystem="1.0. 3166, 1, 2. 2%/>

= E. 1.9 Tdentification of the Country Where the Reaction / Event Occurred #1 —>
</locatedPlacey

</locatedEntity>

</location>

{outboundRelat ionship? typeCode="PERT" >
{chservation classCode="0BS” moodCodes="EYN">

<code code="20" codeSysten="2. 16.840. 1. 113883. 3,989, 2. 1. L. 19" codeSystenVersion="1 1"
displayName="reactionForTranslation”/>

<value xsi type= ED">E. 1. 1.2</value>

<d=- E.i. 1. 2! Reaction / Bvent as Reported by the Primary Souwrce for Translation §1 —-)
{/ohservation? ‘

</outboundRelationship2y

{outboundRelstionship? tvpeCode="PERT>
{observation classCode="0BS” moodCode="EVN">

Ccode code="37" codeSystem="2. 16. 840, §, 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="termlighlightedByReporter” />

(value xsiitype= CE” code="E.1.3.1" codeSysten="2. 16.840. 1. 113883, 3. 98¢. 2. 1. 1. 10"
codeSystemVersion="1.0"/>



displayName="resultsInDeath”/>

== E.i.3.1: Term Highlighted hy the Reporter #1 -—>
</observation>
{/outhoundRelationship2>
CputhoundRelationship? typeCode="PERT™>

<value xsiitype="BL” value="true”/>
<f— E.i.3.2a7 Besults in Death #1 -—
</observation>
</outboundRelationship2>
<outhoundRelationship? typeCode="PERT">
{abservation ¢lassCode="0BS" moodCode="EVN">
<eode code="21" codeSvysten="72, 16, 840, 1. 113883, 2,889, 2. 1. 1. 19"

displayName="isLifeThreatening”/>

<value xsiitype="BL” nullFlavor="NI"/>
<— E. i3 2bt Life Threatening #1 —>
{/observation>
</outboundRelationship2y
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EWN"™>
<code code="33" codeSystem="2. 16. 8B40, 1. 113883. 3. 988, 2. 1. 1. 19"

displayName="requiresInpatientHospitalization”/>

dvalue xsiitype="BL” value="true”/>
<4 E.i.3.2¢c: Caused / Prolonged Hospitalisation #1 —->
{/chservation>
CSoutboundRelationshipdy
<outboundRelationship? typeCode="PERT">
<chservation classCode="0B5" moodCode="EVN">
{code code="35" codeSysten="2. 16. 840, 1. 113882, 3,989, 2. 1. 1. 197

displayName="resultsInPersistentOrSignificantDisability”/>

<yalue xsiitype="BL” mullFlaver="NI"/>
Ct=— E.i.3.2d: Disabling / Incapacitating Bl1-—>
</observation>
</outbeundRelationshipZ>
<outboundRelaticnship? typeCode="FERT">
{ohservation classCode="0BS" moodCode="EVN">
{code code="127 codeSystem= 2. 16. 840, 1, 113882, 3. 989. 2. 1. 1. 18”7

displayName="congenitalAnomalyBirthDefect”/>

<value xsiltype= BL” nuilFlaver="NI"/>
(1w E. 1.3, 2e: Congenital Anomaly / Birth Defect 8] —>
</ohservations
{/outboundRelationship2r
<outhoundRelationship? typeCode="PERT">
Cobservation classCode="0BS" moodCode="EVN™>
<code code="26" codeSystem="2. 16. 840, 1. 113883.3,980.2. 1, 1,197

dizplayName="ctherMedicallyImportentCondition” />

Cvalue xsiitype="BL” value="true”/>
Lo Eo10302F0 Other Medically Important Condition #1 -—>
</observation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT">»
<observation classCode="0BS" moodCode="EVN">
<code code="27" codeSystem="2. 16,840, 1. 113883. 3. 989. 2. 1. 1. 18"

displayName="outcome” />

codeSystemVeraion="1.

codeSystemVersion="1

codeSystemVersion="1.

codeSystemVersion="1,

codeSystemVersion="1.

codeSystemVersion="1.

Cralue xsiitype= CE” code="E.1.7" codeSystem="2, 16, 840, 1. 113B883. 3,989, 2. 1. £. 117

codeSystemVersion="1.0"/>

— B i, 71 Outcome of Reaction / Event at the Time of Last Observation #1 -2

</observation>
/outboundRelationshipi>
<outboundRelationship2 typeCode="PERT">
{chservation classCode="0BS” moodCode="EYN">

1

1"

v

L”

1"

<code code="24" codeSystem="2, 16, 840. 1. 113883. 3. 889, 2. 1. 1. 19" codeSystemVersion="1.1"

displayName="pedicalConfirmationByvHealthProfessional”/>

<value xsiitype="BL” value="true”/>

<I-- E.i.8! Medical Confirmation by Healthcare Professional #1 —>

{/observation>
/outboundRelationship2»
<puthboundRelationship? typeCode="PERT”>



<observation classCode="0BS" moodCode="F¥N">
{code code="]1" codeSysten="2. 16. 840, 1. 113883, 3.989. 5. 1.3, 2. 1. 10" codeSystenVersion="1.0"
displayName="545 « B8~ />
<value zsiltype= CE" code="J2.14. 1" codeSysten="2, 16. 840, 1. 113883, 3.980. 5, 1. 2. 2. 1. 8"

Sl @BEJI 144 Sk - B

</observation>
{/outboundRelationshipi>
{/observation
{/subject(f2>
<{sub jectOf? typeCode="5B]">
<observation classCode="0BS” moodCode="FVN">
<id roet="2Zbaal2Bd6-cBe8~4e6e-03e0-5b8ACH3142207 />
<ode code="29" codeSystem="2. 16. 840, 1. 113883, 3. 989, 2,1, 1. 19" codeSvstenVersion="1, 1"
displayName="reaction” />
Ceffectivelime xsiitype="IVL_TS™>
{low value="200901017/>
¢l-— E.i. 4! Date of Start of Reaction / Event #2 ——>
fwidth value="24" unit="E.i.6b"/>
<l=- E { 6a: Duration of Reaction / Event (number) 82 —>
<I-— E.i.6b: Duration of Reaction / Event (unit) #2 —>
{feffectivelime
<value xsi:type="CE” code="F. i.2.1h" codeSystem="2.16. 840, . 113883, 6. 163"
codeSyatemVersion="E 1. 2. la">
<I-- E.i. 2 la: MedDRA Version for Reaction / Fvent #2 -—-»
== B i.2.1b: Reaction / Event (MedDRA code) #2 ——>
CoriginalText language="E. i. 1. 1b">E.i. 1. 1a</originalText>
<I-= E.i. 1 la’ Reaction / Event as Reported by the Primary Scurce in Native Language #2 —>
<i== E.i.1. 1b: Reaction / Event as Reported by the Primary Source Language B2 ——>
valued
{location typeCode="LOC">
<JocatedEntity classCode="10CE">
locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
{code eode="E. i.87 codeSystem="1.G. 3166, 1. 2.27/>
<l=w E 1,90 Identification of the Country Where the Reaction / Event Occurred #2 >
{/locatedPlace>
{/locatedEntity>
{/location?
{outheundRelationship? typeCode="PERT">
Zobservation elassCode="0BS" mocdCode="EVN">
<code code="30" codeSvsten="2. 16, §40. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reactionForTranslation”/?
<value xsi:type="ED">E. i. 1. 2</value>
J-- E.i.1.2: Reaction / Event as Reported by the Primary Source for Transiation #2 -->
{/observation>
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT">
<observation classCode="0BS” moodCade="EYN">
<code code="37" codeSystem="2. 16. 840. 1. 113883. 3, 989, 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="termHighlightedByReporter” />
<value xsi:type="CE” code="F, i.3. 1" codeSystem="2. 16. 840, 1. 113883, 3. 985. 2. 1. L. 10"
codeSystemVerstion="1.07/>
=~ E.i.3.1:Term Highlighted by the Reporter #2 —-)
</observationy ‘
{/euthoundRelaticnship2>
CoutboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EYN">
{cade code="34" codeSystem="2, 16, 540. 1. 113883. 3, 980, 2. 1. 1. 19” codeSystemVersions"1. 1"
displayName="resultsInDeath” />
{value xsiitype="BL” value="true”/>
{I-— E.i.3.2a Results in Death #2 -
</ohservationy ’
{/outboundRelationship2>
<putboundRelationship? tvpeCode="PERT">
{observation classCode="0BS" moodlode="EVN">
(code code="21" codeSystem="2. 16. 840. 1. 113883. 3, 985. 2. 1. 1. 19” codeSystemVersion="1, 1"
displayName="isLifeThreatening”/>
<value xsi:type="BL” nullFlavor="NI"/>
<3— E.i.3.2b: Life Threatening #2 -—>



{/observation?
fouthoundRelationship2>
<outboundRelationship? typeCode="PERT">

<ohservation classCode="08S" moodCode="FVN">

=" TARR3. 2,988, 2. 1. L 187 ond

Cvalte xsiitype="BL" value="true”/>
Cl— B 1.3 2¢: Caused / Prolonged Hospitalisation #2 -2
</observation>
</outhoundRelationship2>
<puthaundRelationship? typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">
Cende codes"35" codeSvstems"7. 16, 840. 1. 113883. 3,089, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsTnPersistentOrSignificantDisability”/>
<value nsiitypes"BL” nuliFlavor="NI"/>
(- £.1.3.2d: Disabling / Incapacitating 82 ——
</observation>
{fouthoundRelationship2>
‘outboundRelationship? typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
¢ende code="12" codeSystem="2. 16. 840, 1. 113883, 3. 988, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="congenitalAnomalyBirthDefect” />
<value xsiitype="BL” nullFlavor="NI"/
<t-— E. i, 3.2e: Congenital Apomaly / Birth Defect B2 --)
fohgervation?
</outboundBelationshipZ?
<outboundRelationship? typeCode="PERT">
<observation c¢lassCode="08S" moodCode="EVN">
Coode code=” 26 codeSystem="2. 16, 840, 1, 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="otherMedieal Ly lmportantCondition”/>
<value xsiitype="BL" value="true”/>
{f—— E.i.3.2f: Other Medically Important Condition #2 —>
{/observation>
{/outhoundRelaticnship2?
CouthoundRelatienship? typeCode="FERT">
<observation classCode="OBS" moodCode="EVN">
<eode code="27" codeSystew="2. 16, 840. 1. 113883, 3, 988, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="cutcome” />
<yalue xsiitype="CE” code="E. 1. 7" codeSystem="2. 16.840.1, 113883.3.989. 2. 1. 1. 117
codeSystemVersion="1.0"/>
V== E.i.7: Outcome of Reaction / Event at the Time of Last Observation ¥2 ——>
{fobgervation?
</foutboundRelationshipi>
{outboundRelationship? typeCode="FERT”>
Cobservation classCode="0BS” mocdCode="EVN">
<eode code="24" codeSystew="2.16.840.1. 113883. 3, 986. 2. 1. 1. 19”7 codeSystenVersion="1.1"
displayName="medicalConfirmationByHeal thProfessional”/>
Cyalue xsittype="BL" value="true”/>
<be— B i, 81 Medical Confirmation by Healthcare Professicnal £2 -->
</observation?
</outhoundRelationship2s
{outhoundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
‘cade code="11" codeSysten="2. 16, 840, 1, 113883, 3. 989. 5. 1. 3. 2. 1. 10" codeSystenVersion="1,0"
displayName="350 - &7/
Cvalue zsitype="CE” code="J2, 14,17 codeSysten="2. 16.840. 1, 113883, 3.989,5.1.3.2. 1. 87
codeSystemVersion="1.0"/>
e @RBI2.14.1 AN - BEED #2 —
</observation>
</outboundRelationship>
{/ohservation?
</subjectOf2>
{subject0f2 typeCode="SBI"»
(observation classCode="0BS" moodCode="EVN™>
Gid root="3s8626ch-011-4eal-8a0f-e0fF34430ads” />
¢code code="28" codeSystem="2.16. 840, 1. 113883, 3. 989, 2, 1. 1. 19" codeSystenmVersion="1. 1"
displayName="reaction”/>
CeffectiveTime xsi type="IVL_TS">
<width value="24" unit="E.1.60"/>



1— E.i.Ba: Duration of Reactian / Event (numher) #3 ——>
{fe- B i.6h! Duration of Reaction / Event (umit) #3 -->
<high value="20101201"/> -

{I— E. i, 5: Date of End of Reaction / Event £3 —->

Feior

L

codeSystemVersion="E. 1.2, 1a™
4=~ E.i. 2. 1la’ MedDRA Version for Reaction / Event #3 -—-»
¢l== E. i 2. 1b: Reaction / Event (MedDRA code) #3 —>
CoriginalText language="RE. i.1.1h"2E. i. 1. lal/originalText>
A== E.i. 1. ta: Reaction / Event as Reported by the Primary Source in Native Language B3 -2
<{~— E.i. 1. 1b! Reaction / Event as Reported by the Primary Source Language £3 -7
<valued
<location typeCode="L0C">
{locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY” determinerCode=” INSTANCE” >
(eode code="E.i.9” codeSystem="1,0, 3186, 1.2. 2%/
-- £.1.9: Identification of the Country Where the Reaction / Event Occurred #3 ——
{locatedPlace>
</locatedEntity>
/location>
{outboundRelationship? typeCode="PERT™>
<observation classCode="0BS" moodCode="E¥N">
{code code="30" codeSystem="2, 16. 840, 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reactionForTranslation”/>
Cvalue xsiltype="ED"E. 1. 1. 2¢/valued
<f-- E.i.1.2: Reaction / Event as Reported by the Primary Scurce for Translation B3 —>
{/ahservation>
</outboundRelationship2>
{outboundRalationship2 typeCode="FLRT™>
<observation classCode="0BS” moodCode="EVN™>
<code code="37" codeSystew="2. 16.840. 1. 113883, 3. 989. 2. 1. 1. 19” codeSystemVersions"1. 1"
displayName="termilighlightedByReporter” />
<value wsiitype="CE" code="E.i.3.1" codeSyster="2. 16, 840.1. 113883 3.989.2.1.1.10"
codeSystenmVersion="1.0"/>
1 E.1.3.1:Term Highlighted by the Reporter #1 ——»
</ohservation?
{/outboundRelationshipZ> .
<outhoundRelationship2 typeCode="PERT”>
{observation classCode="0BS" moodCode="EVN">
{code code="34" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayNape="resultsInDeath”/>
{value zsi:type="BL" value="true”/>
<d-=E i.3 2a: Results in Death #3 ->
{fobservation?
</outhoundRelationship2>
{outboundRelationship? typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
{code code="21" codeSystem="2, 16, 840. 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="isLifeThreatening”/>
<vaive xsi:type="BL” nullFlaver="NI"/>
<=~ E.i.3,2b: Life Threatening #3 ~->
{/ohservation>
</outboundRelationship2>
CouthoundRelationship2 typeCode="FERT™>
<observation classCode="0BS” moodCode="EVN"> :
<eode vode="33" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="requiresInpatientHospitalization”/>
<value xsiitype="BL” value="true”/»
¢l . i.3.2c0 Caused / Prolonged Hospitalisation #3 -
¢/observation
</outboundRelationship?>
{outhoundRelationship? typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
{code code="35" codeSystew="2. 16. 840, 1. 113883, 3,985, 2. 1. 1. 18" codeSystemVersion="1, 1"
displayName="resultsinPersistentOrSignificantDisability”/>
<value xsi:type="BL" nullFlavor="N1"/»
le- B 1.3.2d: Disabling / Incapacitating #3 -
</ohservation?



{/ontboundRelationship2>
<putboundRelationship? typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
Ccode code="12" codeSystem="2. 16. 840. 1. 113883, 3. 980, 2. 1. 1. 18" codeSystemVersion="1.1"

k ] ex B nul E lavar="H)" S
<I— E. 1.3 2e: Congemital Anomaly / Birth Defect #3 ——
{Sobservationy
</outboundRelationship2?
<outboundRelationship? typeCodes"PERT™>
<observation classCode="0B3" moodCode="EVN">
(code code="28" codeSystem="2. 16. 846, 1. 113883, 3. 989, 2. 1. 1. 19" codeSystenVersion="1. 1"
displavName="otherMedicallyImportantCondition” />
Cyalue xsirtype="8L" valuve="true”/>
¢i—— E.i.3.2f: Other Medically Important Conditionm ¥3 -3
{Sobservation?
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0B5" moodCode="EVN">
Ceode ende="277 codeSystem="D. 16.840. 1. 113883, 3, 983.2. 1. 1. 197 codeSystemVersion="1, 1"
displayName="outcome” /> )
<yalue xsiltype="CE” code="E.i.7" codeSysten="2. 16, 840, 1, 113883, 3. 980. 2. 1. 1. 117
codeSystenVersion="1. 0"/
<l— E. 1. 7! Outcome of Reaction / Event at the Time of Last Observation #3 —>
{/observation’
{/outboundRelationship2>»
<{outhoundRelationship? typeCode="PERT">
<observation classCode="0BS” moodlode="EVN">
‘eode code="24" codeSystew="2. 16. 840, 1. 113883, 3. 989, 2.1, 1. 19" codeSystemVersion="1.1"
displayName="nedicalConfirmationByHealthProfessional™/ >
<value xsiitype="BL” value="true”/>
¢te= E. i, 8! Medical Confirmation by Heslthcare Professional £3 --»
</observation>»
</outboundRelationship2y
ZoutboundRelationship2 typeCode="PERT™>
{ohservation classCode="08S” moodCode="EVN™>
Jcode code="11" codeSystem="2, 16.840.1. 113883, 3, 989.58, 1. 3. 2. 1. 107 codeSystemVersion="1. 0"
displayNeme="F5 « BLE"/>
Cvalue xsiitype="CE” code="]2. 141" codeSystem="2, 16.840. 1, 113883.53.989.5.£.3.2, 1. 8"
codeSystemVersion="1.0"/> ’
Cl-— BRETZ. 143 RE - BEE # —
</phservation?
< /outboundRelationship?>
</ohservation?
</subjectOf2>
<subjectOf2 typeCode="SB]">
<observation classCode="0BS" moodCode="EVN">
<id root="2e99840f-08b4~499¢-80F f-dd841554F8a5"/>
<code codex"29" codeSvstem="72.16.840. 1. 113883, 3, 980.2. 1. 1. 19" codeSvstemVersion="1.1"
displayName="reaction”/> : :
<effectiveTime xsi:type="SXPR TS™>
<{comp xsiitypes"IVL_TS™>
low value="2008901017/5
(1=~ B, i. 4! Date of Start of Reaction / Event #4 —>
<high value="201012017/>
(t—— E.i.8: Date of End of Reaction / Event #4 -——>»
<eomp> )
Ceomp xsiitype="IVL_TS" operator="A">
<{width value="24" unit="E.i.6b"/>
<1-— £ i.8a: Duration of Reaction / Event (number) #4 —>
<1-— E£.i.6b: Duration of Reaction / Event (unit} #4 ——
S eomp?
/effectiveTime?
<value xsi:type="CE” code="E. i.2.1b" codeSystem="2.16. 840, 1. 113883, 6, 163"
codeSystemVersion="E. i.2.1a">
{I— E. i.2. la! MedDRA Version for Reaction / Event #4 -—
<1~ E.i.2.1b: Reaction / Event (MedDRA code) #4 —>
<originaiText language="E. i.1.1bh"»E. 1.1 la</originalText>
(I-— E.i. 1. 1la! Reaction / Event as Reported by the Primary Source in Native Language #4 ~->



{I=- E.i.1. 1h: Reaction / Event as Reported by the Primary Source Language #4 —>
</valued
{location typeCodes"LOC™>
C(locatedEntity classCode="LOCE™>

</locatedPlace>
{flocatedEntity?
</locations
<outboundRelationship? typeCode="PERT">
<observation classCode="(BS” mocdCode="EVN™>
Ceode code="30" codeSystem="2. 16. 840, 1. 113883. 3,989, 2. 1, 1. 19" codeSystemVersion="1, 1"
displayName="reactionForTranslation”/>
<value xsiitype="ED"E. i, 1, 2</value>
2i=— E. i, 1.2! Reaction / Event as Reported by the Primary Source for Translation fd -5
{/observationd
</outboundRelationship2y
<outboundRelationship? tvpeCode="PERT”>
<observation classCode="0BS" moodCode="EVN">
Ccode code="37" codeSystem="2. 16. 840. 1. 113883, 2, 989. 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="termHighlightedByReporter”/>
<value xsiitype="CE” code="E, 1. 3. 1" codeSysten="2. 16. 840. 1. 113883, 3.989. 2. 1. 1. 10"
codeSystemVersion="1, 0"/>
¢t-- E.i.3 1:Term Highlighted by the Reporter #4 -->
{fobservation?
{JoutboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="FVN">
{code cade="34" codeSystem="Z, 16. 840. 1. 113883. 2. 989, 2. 1. 1. 18" codeSystemYersion="1 1"
displavName="resultsInDeath”/>
<value xsiitype="BL” value="tirue”/>
<1-— E.i.3.2a: Results in Death #4 -3
</observationy
/outboundRelaticnship2>
{outboundRelationship? typeCode="PERT”>
{observation classCode="0BS" moodCode="EVN">
{ecode code="21" codeSystem="2. 16. 840.1. 113885, 3. 989, 2,1, 1. 19" codeSystemVersion="1. 1"
displayName="isLifeThreatening”/>
<value xsiztype="BL” nullFlavor="NI"/>
<!=— E.i.3 2b: Life Threatening #4 ——»
{/ohservation?
{/outboundRelationshipZ>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="FVN">
<code code="33" codeSystew="2, 16.840.1, 113883. 3, 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="requiresInpatientHospitalization”/>
<value xsi'type="BL” value="true” />
<t~ E.i.3.2¢: Caused / Prelonged Hospitalisation #4 ——
</observation?
</outboundRelationship2y
<outhoundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
<code code="35" codeSysten="2, 16.840. 1. 113883, 3. 989. 2. 1. 1. 19" rodeSystemVersion="1.1"
displayName="resultsInPersistentOrSignificantDisability”/>
<value zsiitype="BL” nuliFlavor="NI"/>
<!— E.1.3.2d: Disabling / Incepacitating #4 ——>
{/observation>
<{/outboundRelationship2>
<outhoundRelationshipZ typeCode="PERT">
tobservation classCode="0RS” moodCode="F¥N">
<code code="12" codeSystem="2. 16. 840. 1. 113883. 3.989, 2. 1, 1. 19" codeSvstemVersion="1.1"
displayNeme="congenitalAnomal yBirthDefect™/>
<value xsi:type="BL” nullFlaver="NI"/>
<I-- E.i.3 2e: Congenital Anemaly / Birth Defect #4 —»
{Sobservation?
</outhoundRelationshipZy
{outboundRelationship? typeCode="PERT">
<abservation classCode="0BS” moodCode="EVN">



<code code="26" codeSystem="2. 16, 840. 1. 113883, 3. 989, 2. 1. 1. 187 codeSystemVersion="1.1"
displavName="atherMedicallvImportantCondition” />

<yalue xsiitype="BL" value="true”/»

<d—— F.i.3.2F Other Medically Important Condition %4 -->

el »
<outboundRelationship2 typeCode="PERT >
Cohservation classCode="0BS" moodCode="EVN">
Ceode code="27" codeSystem="2. 16. B40. 1. 113883, 3. 982. 2. 1. 1, 19" codeSystemVersion="1. 17
displayName="cutcome” />
<value xsi:type="CE” code="E.i.7" codeSystem="2, 16, 840. {. 113883.3.989. 2. 1. 1. 11”7
codeSystemVersion="1. 0"/
¢<l—— E.i.7: Outcome of Resction / Event at the Time of Last Observation #4 ——
{/observationy
<{/eutboundRelationship2’
<outhoundRelationship2 typeCode="PERT">
<phservation ciassCode="0BS” moodCode="EVN™>
<eode code="24" codeSystem="2, 16, 840. 1. 113883, 3. 989, 2. 1. L. 19" codeSystemVersion="1,1"
displayName="medicalConfirmationByHealthProfessional " />
<value xsiitype="BL” value="true”/>
{ie— E.1.8: Medical Confirmation by Healthcare Professional #4 ——>
{/observations
</outboundRelationship?>
<outboundRelationship? typeCode="FERT>
<observation classCode="0BS”™ moodCode="EVN">
{code codes"11" codeSysten="2. 16. 840, 1. 113883, 3.989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="5¢4 « BES¥0" />
<value xsi:type="CE" code="J2 14, 1" codeSystem="2. 16, 840.1. 113883.3.986.6.1.3.2.1. 8"
codeSystemVersion="1.0"/>
i BEAT2. 14,1 EE - BEE g4 2
</observation>
<fouthoundRelationshipZ>
</observationr
{/subjectDF2>
{eubjeetOf2 typefode="SB] >
Cobservation classCode="0BS" moodCode="EVN™>
<id root="1071064c-cf10-4a3b-83c1-34f9ddbTeald”/>
Ceode code="29" codeSystem="2. 16, 840. 1. 113883. 3. 980.2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="reaction”/>
<effectivetime xsiitype= IVL_TS™>
<low value="20020101"/>
¢1—— E.i.4: Date of Start of Reaction / Event 56 ——
JeffectiveTime>
¢value xsiitype= CE” code="E. 1. 2. 1b” codeSystem="2. 18, 840, 1. 113883, 6, 163"
codeSystemVersion="E, 1. 2. 1a">
¢~ B, 1.2 la: MedDRA Version for Remction / Event #5 >
d=— E.1.2.1b: Reaction / Event (MedDRA code) #5 ——
<originalText langusge="E.i.1.1b">E. i, 1. la</eriginalTest>
!~ B, i, 1. la: Reaction / Event as Reported by the Primary Scurce in Native Language #5 -—->
(b= B i 1.1b: Reaction / Event as Reported by the Primary Source Langnage #5 -—>
<Svaluer
<location tvpeCode="L0C">
<locatedEntity classCodex"LOCE™>
{locatedPlace classCode="COMNTRY” determinerCode="INSTANCE™>
<code code="E. 1.9" codeSystem="1.0.3166.1,2.2"/>
¢l B 1.9: Identification of the Country Where the Reaction / Event Occurred £5 —>
<flocatedPlace>
{/tocatedEntity>
</location>
<outboundRelationship? typeCode="FERT">
<observation classCode="0BS” moodCode="EYN">
‘eode code="30" codeSystem="2. 16. 840, 1, 113883, 3,989, 2.1, 1. 19" codeSystemVersion="1.1"
displayName="reactionForTranslation”/>
{yalue xsiitypez"ED™E. 1. 1. 2</valuey
<=~ £ 1. 1.2 Reaction / Event as Reported by the Primary Source for Translation 5 ——>
{/cbservation>
{/outboundRelationship2>
<outhboundRelationship? typeCode="PERT™>
{ghservation classCode="0BS" moodCode="EVN">



<cede code="37" codeSystem="2. 16. B40. 1. 113883, 3, 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="termfighlightedByReporter”/>

<value xsiitype="CE" code="E.1.3.17 codeSysten="2. 16, 840, 1. 113884, 3.98%. 2. 1. 1. 10"
codeSystemVersion="], 0%/>
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{/outboundRelationship2>
CouthoundRelationship? typeCode="FERT">
<observation classCode="0B3" moodCode="F¥N">
{code code="34" codeSystew="2. 16, 840. 1. 113883, 3,989, 2. 1. 1, 19" codeSystemVersion="1.1"
displayName="resultsInDeath”/> )
{value xsi'type="BL" value="true”/>
<d-- E.1.3.2a: Results in Death #5 —>
(fobgervationd
<fouthoundRelationship2>
{outboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
{oode code="21" codeSystem="1, 16. 840, 1. 113883, 3. 989, 2. 1. £. 19" codeSystenVersion="1, 1"
displayName="islifeThreatening” />
{value xs1ltype="BL” nullFlavor="NI"/»
!— E.i.3.2b: Life Threatening #5 -—>
</observation?
<foutboundRelationship2?
{putboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code rode="33" codeSystem="2. 16.840.1. 113883, 3, 98%. 2. 1. 1. 19” codeSystemVersion="1. 1"
displayMame="requiresInpatientHospitalization”/>
<value xsi:type="BL” value="true” />
<t—-E i. 3 2¢: Caused / Prolonged Hospital{sation #5 -
<{/ebservation>
</outboundRelationship2>
CoutboundRelationship2 typeCode="PERT">
<{ohservation classCode="0BS” moodCode="EVN">
<code code="35" codeSystem="2. 16. 840, 1. 113883, 3. 689, 2. 1. 1, 153" codeSystenVersion="1. 1"
displayName="resultsInPersistentOrSipgnificantDisability™/>
<value xsiltype="BL” nullFlavor="NI"/>
I E.i.3.28: Disabling / Incapacitating #5 -3
</observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
<obsgervation classCode="0BS" moodCode="EVN">
<code code="12" codeSystem="f. 16. 840. 1. 113883. 3, 889, 2, 1. 1. 19" codeSvstemVersion="1, 1"
displavName="congenitalAnomalyBirthDefect”/>
value xsiltype="BL” nullFlavor="NI"/>
<t-- E. i 3 22! Congenital Anomaly / Birth Defect #5 —»
{/ohservation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="FERT”>
{observation classCode="0BS" moodCode="EVN">
{code code="26" codeSysten="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="otherMedical JvImportantCondition™ />
<value xsiitype="BL" value="true” />
<I=- E i, 3.2f: Other Medically Important Conditien #5 -—>
</chservation>
{fouthoundRelationship2>
{puthoundRelationship? typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">
o <eode code="27" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="outcome” />
<value xsiitype="CE" code="FE. 1. 7" codeSystem="2. 16, 840, 1. 113883, 3. 98%. 2. 1. 1. 11”7
codeSystemVersion="1, 07/
: e E 107! Outcome of Reaction / Event at the Time of Last Observation B5 -->
{/observation»
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT">
<obgervation classCode="0BS” mocdCode="EVN">
{code code="24" codeSystem="2. 16.840. 1. 113883. 3, 989, 2. 1. 1. 19" codeSvstemVersion="1, 1"
displayName="medicalConfirmationByHeal thProfessional”/>
<value xsiitype="BL” wvalue="true”/>



e Boi, 80 Medical Confitmation by Hesltheare Professional #5 -->
{/observation?
{SoutboundRelationship>
<putboundRelationship? typeCode="PERT™>

ons

spVarsion="1 0"

displayName="38 - B~/
<yalue gsictype="CE" code="J2.14.1" codeSystem="2. 16.840. 1. 113883, 3,985.5.1.3. 2. 1. 87
codeSystemVersion="1, ¢/
C-- BEEI2. 14,1 R0 - B OS>
{fobservation?
</outboundRelstionship?>
</observatian?
</subjectlf2>
CsubjectOf? typeCode="SBI™>
Zohservation classCode="0BS" moodCode="EVN">
<id root="1{927283-10b6-4334-0d43-<025640Tb1817 />
Ceode code="20" codeSystem="2. 16, 840. 1. 113883, 3, 989, 2. 1. 1. 19" codeSystenVersion="1. 1"
displayName="reaction”/>
<effectiveTime xsi:type= IVL _TS">
<high value="260901017/>
<{—— E.i.4: Date of Start of Reaction / Event #6 --»
effectivelime>
Cyalue xsiitype="CE” code="E. 1.2.1b" codeSystem="2. 16, 840, 1, 113883, 6. 163"
codeSystemVersion="E. i.2. 1a™>
<4~ E.i.2. la: MedDRA Version for Reaction / Event #6 —-»
<!— [E.1,2 1b' Reaction / Event (MedDRA code} #6 ~->
CoriginaiText language="E.i.1.1b"»E. i.1. 1a</originalTexts
<1-- E.i. 1. 1a: Reaction / Event as Reported by the Primary Source in Native Language $6 -—>
¢t E.i.1.1b: Reaction / Event as Reported by the Primary Seurce Language #6 —
</values
<location typeCode="LOC™>
locatedEntity classCode="LOCE™>
<locatedPlace classCode="COUNTRY" determinerCode="INSTANCE™>
<eode code="E 1.9” codeSysten="1.0.3166.1.2.2"/>
<l—— E. 1.9 Identification of the Country Where the Reaction / Event Occurred #6 ——2
</locatedPlace>
</locatedEntity>
{/lacation>
(outboundRelationship? typeCode="PERT">
Cobservation classCode="0BS" moodCode="EYN">
(eode code="30" codeSystem="2. 16,840, 1. 113883, 7. 989. 2, 1. 1. 18" codeSystemVersion="1,1"
displayName="reactionForTranstation™/>
<valus xsiitype="ED">E, i. ). 2{/value>
<i—— B 1. 1.2 Reaction / Event as Reported by the Primary Source for Translation #6 —-2
{/observation>
</outboundRelationship2>
<outhboundRelationship? typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">
(eode code="37" codeSystem="2. 16. 840, 1. 113883, 3. 983. 2. 1. 1. 19" codeSystemVersions"1.17
disployName="termMighlightedByReporter” />
Cvalue xsiitype="CE” code="E.i.3.17 codeSystem="2. 16.840.1. 113883. 3. 989. 2. 1. 1. 107
codeSystemVersion="1.0"/>
<f—— E.i. 3. 1:Term Highlighted by the Reporter #6 -->
{/ohservation>
{/outhoundRelationship2>
<outboundRelationship2 typelode="PERT™>
<observation classCode="0BS” moodCodes"EVN">
{code code="34" codeSysten="2. 16, 840. 1. 113883, 3.989. 2. 1. 1. 19”7 codeSystemVersion="1. 1"
displayName="resultsInDeath”/>
<value xsi:type="BL” value="true” />
{I—- E. i, 3. 2a: Results in Death £6 ~->
</observation>
</outhoundRelationship2?
<outboundRelationship? typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN™>
‘eode code="21" codeSystem="2. 16. 840. 1. L13883, 3,989.2, 1. 1. 19" codeSystemVersion="1.1"
displayName="isl.ifeThreatening” />
<valtte xsiitype="BL" nulliflaver="NI"/>



{I-— E.i.3.%b: Life Threatening #6 ——>
/chservation>
{/outhboundRelationship2>
{outhoundRelationship? typelode="PERT">

i1 bl

codeSyatenVersion="1. 1
displavName="requiresInpatientHospitalization”/>
{value xsiitype="BL" value="true”/>
¢1-- E.i.3.2c: Caused / Prolonged Hospitalisation £6 —-»
observation)
</outboundRelationship?y
{outhoundRelationship? typeCode="PERT">
<observation classCode="08S" moodCude="EVN">
<code code="35" codeSystem="2 16.840. 1. 113883, 3.98G. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInPersistentOrSignificantDisability”™/>
{value xsiltype="BL” nullFlavor="NI"/>
Y-~ E.i.3.2d: Disabling / Incapacitating #6 —-»
</observation>
<foutboundRelationship2>
<outboundRelationship? typeCode="PERT">
<observation classCode="0BS" moodCode="FEV¥N">
Ceode code="12" codeSystew="2. 16. 840. 1. 113883, 3,989, 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="congenitalAnomalyBirthDefect” />
<value xsi‘type="BL” nullFlaver="NI"/>
<}-— E.i. 3. 2e: Congenital Anomaly / Birth Defect H6 ~->
</observationd
¢/outboundRelationship2»
<outboundRelationship?. typeCode="PERT™>
<observation classCode="0BS" moodCade="FVN">
<eode code="26" codeSystem="2. 16.840. 1. 113883, 3, 980. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="otherledicallylmportantCondition™/>
<value xsiitype="BL” value="true”/>
b B1L3.02F0 Other Medically Important Condition #6 --
</obgservation>
SouthoundRelationship?>
<eutboundRelationship? typefode="PERT">
Cabservation classCode="0BS" moodCode="EVN">
{code code="27" vodeSystem="2. 16. 840. }. 113883, 3.989, 2. 1. 1. 19” codeSystemVersion="1.1"
dispiayName="outcome” />
Cvalue xsi‘type="CE” code="E. 1. 7" codeSystem="2. 16. 840.1. 113883, 3,989, 2. 1. 1. 11"
codeSystemVersion="1, 07/
¢!=- E.i.7: Outcome of Reaction / Event at the Time of Last Observation #6 ——
{/observation>
outhoundRelationship2r
{outboundRelationshipZ typeCode="PERT”>
<{ubgervation classCode="0BS" moodCode="EVN">
Ccode code="24" codeSystem="2. 16. 840, 1. 113883. 3. G89. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="medicalConfirmationBvHeal thProfessional”/>
Cvalue xsitype="BL” value="true”/>
(i~ B 1.8 Medical Confirmation by Healthcare Professional #6 -
</observation>
</outhoundRelaticnshipZ>
<outboundRelationship2 typeCode="PERT">
<{cbservation classCode="0BS" moodCode="EVYN">
{code code="11" codeSystem="2. 16.840.1. 113883. 3. 989, 5. 1, 3. 2. 1. 10" codeSystenVersion="1, 0"
displayName="3c41 - &£/
) <value xsiitype="CE” code="J2. 14.1"7 codeSystew="2. 16. 840. }, 113883, 3. 986.5.1. 3.2. 1. 8"
codeSystemVersion="1.0"/>
- BOQI2. 14,1 FE - Bidn 86 >
</ocbservation>
</outboundRelationship2y
{/observation>
</subject0f2>
<subject0f2 typeCode="SB]">
{observation classCode="0BS” moodCode="FVN">
<id root="e0342969-38be~423f~hbhb—celdbc270dRe” />
<code code="29" codeSystem="2. 16.840. 1. 113883, 3, 989, 2. 1. 1. 19" codeSystenVersion="1. 1"
displayName="reaction” />
“effectivelime xsi:type="IVL_TS">



Cwidth value="24" unit="E i.6b"/>

¢l—— E.i.6a’ Duration of Reaction / Event {number} &7 —>

<!-— E. i.6b: Duration of Reacticn / Event {unit) 47 --»
SeffectiveTime?

codedystenVersion="E 1, & la™>
i E. 1.2 1a MedDRA Version for Reaction / Event #7 -5
<i—— E.i.2.1b: Reaction / Event {(MedDRA code) E7 -->
CoriginalText languages"E. i. 1. 1b™E 1. 1. lad/originalText>
¢tee E,i.1.1a! Reaction / Event as Reported by the Primary Source in Native Language #7 >
¢i— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language ¥7 —
</valuer
<Ctocation typeCode="10C">
(locatedEntity classCode="LOCE™>
<locatedPlace elassCode="COUNTRY” determinerCode="INSTANCE">
Ceode codes"E. 1,97 godeSysten="1.0,3168.1.2.2"/>
¢t E.i.9: Identification of the Country Where the Resetion / Event Occurved 7 —
{/locatedPlace>
{/locatedEntity>
{/location>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
leode code="30" codeSystem="2. 16, 840. 1. 113883, 2, 989, 2. 1, 1. 19" codeSystemVersion="1.1"
displayName="reactionForTranslation”/>
¢valua xsiitype="ED"JE. i. 1. 2<¢/value>
¢l—— E.1.1.2 Reaction / Fvent as Reported by the Primary Source far Traznslation #7 -->
{/observation?
</outboundRelationships
<authoundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
Zeode code="37" codeSystem="2. 16. 840. 1. 113883. 3. 988. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayNeme="ternighlightedByReporter” />
tvalue xsiitype="CE" code="E.i.3.17 codeSystem="2. 16,840, 1. 113883, 3.989. 2. 1. 1. 10"
codeSystemVersian="1.0"/>
<te— E 1.3 1:Term Highlighted by the Reporter X7 --»
</ohgervation?
</outboundRelationshind>
¢outboundRelationship? typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
<code code="34" codeSvstem="2. 16,540, 1. 113883, 3. 989 2. 1, 1. 187 codeSystemVersion="1. 1"
displayName="resultsInDeath”/>
<value xsi!type="BL” value="true”/>
<l-— E.i. 3. 2a: Results in Death H7 -->
</ohservation
</outboundRelationship?>
{outhoundRelationship? typeCode="PERT">
{observation classCode="0BS” moowdfode="EVN">
<eode code="21" codeSystem="2. 15.840. 1. 113883, 3. 980. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="1sLifeThreatening” />
<valwe xsi'type="BL” nullFlaveor="NI"/>
<1 E. i, 3 2b. Life Threatening #7 —>
</phservation>
</outboundRelationship2>
{oputhoundRelationship? typeCode="PERT™>
<observation classCode="0BS” moodCode="EVN">
Ceode code="31" codeSysten="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemVersion="1, 1"
displayNeme="requiresInpatientdospitalization”/>
<value xsi:type="BLY value="true”/>
&l E.1.3.2c: Caused / Prolonged Hospitalisation ¥7 --»
</ohservation’
/outboundRelationship2>
<outboundRelstionship? typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
Zcode code="35" codeSystem="2. 16.840. 1, 113883. 3, 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="resultsinPersistentOrSignificantDisability”/>
<value xsi type="BL” nullFlavor="NI"/>
<!— E.i.3.2d: Disabling / Incapacitating §7 —>
{/observation>
¢/outboundRelationship?>



{outhoundRelaticnship? typeCode="PERT™>
<ohservation classCode="0BS" moodCode="EVN">
{code code="12" codeSystem="2. 16.840. 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="congenitalAnomalyBirthDefect” />
R ‘ g

LI

{/observationy
¢/outboundRelationship2y
{outboundRelationship2 typeCode="FERT">
{observation classCode="0BS" moodCode="EV¥N">
<code code="26" codeSystem="2. 16.840. 1. 113883, 3, 988, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="otherMedicallyImportantCondition” />
{value xsiitype="BL” value="true”/>
= E. 1.3, 2f: Other Medically Important Condition #7 -3
</observation>
</outhoundRelationship2>
<outhoundRelationship? typeCode="PERT >
<observation classCode="0BS” moodCode="EVN">
<code code="27" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="outcome” />
<value xsiitype="CE" code="E.i.7” rpdeSystem="2 16840 1. 113883 3.985.2. 1.1. 11"
codeSystemVersion="1, 6"/
<I—— E. 1. 70 Qutcome of Reaction / Event at the Time of Last Observation #7 —>
</observation>
{SouthoundRelationship2
<outboundRelationship? typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">
{code code="24" codeSystem="2. 15, 840, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersian="1.1"
displayName="medicalConfirmationByHealthProfessional”/>
Cvalue xsiitype="BL” value="true”/>
te- E. 1,8 Medical Confirmation by Healthcare Professional #7 —-3
{/ohservation>
{/outhoundRelationship2?
{outboundRelationship? typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
Ceode code="11" codeSystem="2. 16.840. 1. 113883. 3. 989.5,1, 3, 2. 1. 10" codeSystenVersion="1.0"
displayName="%#H1 - 808" /> )
<value xsitype="CE” code="]2,14.1" codeSysten="2. 16. 840. 1. 113883.3.989.5.1.3. 2. L. 8"
codeSystemVersion="1.87/>
I-- 0@EJ2. 14,1 sk - BRE BT ——
{/chservation>
</outboundRelationship?2>
{/observation>
</subject(f2>
{subject0f2 typeCode="5B]">
{ohservation classCode="0BS" moodCode="EVN">
Gid root="albhe002-8070-426d-af04-6853263443e0” />
<eode code="29" codeSystem="2.16.840. 1, 113883.3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reaction” />
CeffectiveTime xsi:type="SXPR_TS">
<eomp xsiitypes  IVL_TS™>
Cow value="200001017/>
<o~ E. i.4: Date of Start of Reaction / Event #8 ——>
<width value="24" unit="E.i. 6b"/>
<t~ E.i.6a: Duration of Reaction / Bvent (number) #8 ~3
<t~ E.i.6b: Duration of Reaction / Event {unit) #8 -->
</comp>
<vomp xsiltype="IVL _T8” operator="A">
<high .value="20101201"/>
¢!=- E. i, 5! Date of End of Reaction / Event #8 -3
</eomp
feffectiveTimer
<value xsi:type="CE” code="E. 1. 2.1b" codeSystem="2. 16. 840, 1. 113883, 6. 163"
codeSystemVersion="E. i, 2, 1a™>
<I-— E.i.2 la! MedDRA Version for Reaction / Event #8 —>
{I-- E.i.2.1b! Reaction / Event (MedDRA code) #8 ——>
<originalText langusge="E, i. 1. 1b">E i. 1. 1a</originalText>
<!=— E/{. L la’ Reaction / Event as Reported by the Primary Source in Native Language #8 ~->
<I=- E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #8 —



</valued
¢location typeCode="LOL">
loeatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">

fee B0 Fiden
</locatedPlace?
flocatedEntity?
</locationy
<outboundRelationship? typeCode="PERT™:
{nhservation classCode="(BS" moodCode="EVN">
Ceode code="30" codeSystem="2. 16. 840, 1. 113883, 3. 689, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reactionForTranslation™/>
<valte xsi:@type="ED">E. i.1.2</value>
1=~ E, i, 1.2: Reaction / Fvent as Reported by the Primarv Source for Translation #8 -—>
fobservation
</ontboundRelationship>
<outbeundRelationship? typeCode="PERT">
Cobservation classCade="0BS" moodCode="EVR">
Coode code="37" codeSvstem="2. 16.840. 1. 113883, 3.984. 2,1, 1.19" codeSystemVersion="1.1"
displayName="ternHighlightediyReporter”/>
<yalue xsiitype="CE” code="E.i. 3. 17 codeSvstem="2. 16840, 1. 113883.3.989. 2. L. 1. 1¢”
codeSystenVersion="1.¢"/>
ie- F.i. 3. 1:Term Highlighted by the Reporter #§ ——»
</observation>?
</outboundRelationship?s
<outboundRelationship? typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">
<code code="34" codeSystem="2. 16, B40. 1. 113883, 3,989. 2. 1. 1. 197 codeSystemVersion="1, 1"
displayNames"resultsInDeath”/>
value xsi:type="BL” value="true”/>
<l E. 3,3 2a: Results in Death #8 ——
<fobservations
<foutboundRelationship2>
¢outboundfelationship? tvpeCode="PERYT">
¢ohservation classCode="0BS” moodCode="EVN">
{eode code="21" codeSystem="2. 16. 840. 1. 113883, 3.8%9. 2. 1. 1, 19" codeSvstemVersion="1.1"
displayName="isLifeThreatening”/>
<value xsi'type="BL” nuilFlavor="NI"/>
{!-— E.i.3.2b: Life Threatening #8 -->
</observation>
</outboundRelationship2>
<outhoundRelationship? typeCode="PERT">
(ohservation clazsCode="CBS” moodCode="EVN">
<code code="33" codeSystem="2. 15. 840, 1. 113883, 3, G89. 2. 1. 1. 19" codeSystemVersion="1.1"
displayNameﬁ"requiresinpatientHospitalizatjon”/)
Cyalue xsictype="BL” value="true”/>
¢l— % i 3 2c: Caused / Prolonged Hospitalisation #8 -
{/ohservation>
</outhoundRelationship2>
<outboundielationship? typeCode="PERT">
{observation classCode="0B5S" moodCode="EVN">

¢eode code="35" codeSysten="2. 16, 840, 1. 113883. 3. 089, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInPersistentOrSignificantDisability”/>
<value xsitype="BL” nullFlaver="K1"/>
(b B, 4,3, 2d: Disabling / Incapacitating #8 ——>
</observation> ’
</outboundRelationship2y
CoutboundRelationship? typeCode="PERT™>
<observation classCode="0BS" moodCade="EVN">
Ccode codew"127 eodeSystem="2. 16. 840. 1. 113883. 3. 089. 2. 1. 1. 197 codeSystemVersion="1.1"

displayName="congenitalAnomalyBirthbefect”/>
<value xsiitype="BL” nullFlaver="y1"/3
¢l E.i. 3. 2e: Congenital Anomaly / Birth Defect ¥8 —>
{/observation?
</outboundRelationshipZ>
{outboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
<code code="26" codeSystem="2. 16. 840. 1. 113883, 3, 989, 2. 1. 1. 19" codeSystemVersion="1.1"



displavName="otherMedicallyImpertantCondition” />
<value xsiitype="BL7 value="true”/>
(3= B.i.3.2f! Other Medically Important Condition #8 ——>
</observation>

DAY 15 ; (Codes"TERT >
<ohservation classCode="CBS” moodCode="EVN">
<rode code="27" codeSystem="2. 16. B4C. 1. 113883, 3. 989, 2. 1. 1. 197 codeSvstemVersion="1. 1”7
displayName="cutcome” />
{value %51 type="CE" code="E. i, 7" codeSvstem="2. 18. 840. 1. 113883.3.989.2 1.1. 11"
codeSystenVersion="1. 0"/>
}== E. i.7: Outcome of Reaction / Event at the Time of Last Ohservation #8 ——>
{/vhservation>
</outboundRelationship?>
{outboundRelationship2 typeCode="PERT">
<{observation classCode="0BS” moodCode="EVN">
“code code="24" codeSystem="2. 16, 840, 1. 113883, 3. 989, 2, 1, 1. 19" codeSystemVersion="1.1"
displayName="medicalConfirmationByHealthProfessional”/>
<value xsiitype="BL” value="true”/>
}-— E. 1. 8" Medical Confirmation by Healthcare Professional #8 —3
<{/observation?
<{/outboundRelationship2>
{outboundRe latiohship? typeCode="PERT">
<observation classCode="085" moodCode="EVN™>
<code code="11" codeSysten="2. 16. 840, 1. 113883. 3, 989.5. 1. 3. 2. 1. 10" codeSvstemVersion="1.0"
displayName="351 » L8007/
<value xsiitype= CE” code="J2.14. 1" codeSystem="2. 16.840. 1. 113683, 3.080.5. 1, 3.2, L. 8*
codeSystemVersion="1. ¢"/>
- @B@Y2. 14,1 FE0 - BEED H8 >
<{/observation>
{/outhoundRelaticnship?>
</observation
{/subject0f2>
{subjectDf2 typeCode="SBJ >
“organizer classCode="CATEGORY” moodCode="EVN™>
{ecode code="3" codeSystem="2. 16, 840, 1. 113883, 3. 989. 2. 1. 1. 20" codeSystemVersian="1.0"
displayName="testsAndProceduresRelevantToTheInvestigation”/>
<component typeCode="COMP">
{observation classCode="0BS" moodCode="EVN">
<code code="F.r. 2. 2b” codeSystem="2. 16. 840, 1, 113883. 6. 163" codeSystenVersion="F, r. 2. 2a”>
e For. 2, %a0 MedDRA VYersion for Test Name #l -->
dee For.2.2b: Test Name (MedDRA code) #1 -3
<originelText>F r. 2. 1</originalText>
A== F.r.2.1: Test Name {free text) #1 -—>
<feoder
<effectivelime value="20090101"/>
= FE.r. 1! Test Date #1 -—»
<value xsiitype="IVL_PQ"»
<center value="10" unit="mg/dl"/>
{lwm For.3.27 Test Result fvalue / qualifier) #1 -—»
{d— F.r.3.3: Test Result funit) #1 -->
valuer
<interpretationCode code="F.r.3.1" codeSysten="2. 16.84(. 1, 113883. 3. 989. 2. 1. 1. 12”7
codeSvstemVersion="1. 0" />
= F.r. 3. 1! Test Result (code) #1 ——>
(referenceRange typeCode="REFV™>
{observationRange classCode="0RS” moodCode="EYN. CRT™>
<value xsi:types"PQ” value="40" unit="mg/d1"/>
-~ F.r. 4: Normal Low Value #1 --»
<interpretationCode code="L" codeSystem="2.16. 840. . 113883, 5. 83" />
</observationRange>
{/referenceRange>
<{referenceRange typeCode="REFY™>
{observationRange classCode="0BS" moodCode="EVN. CRT">
<value xsi:type="PQ” valuve="110" unit="mg/d1"/>
A== F.r, 5. Normal High Value #1--»
<interpretationCode code="H" codeSystem="2. 16. 840. 1. 113883, 5. 83“/>
{/observationRange>
{/referenceRange)



Coutboundielationship? typeCode="PERT">
<observation classCode="0B3" moodCode="FVN">
Ccode code="10" codeSystem="2. 15, 840, 1. 113883. 3. 089, 2. 1. 1. 14" codeSystenVersion="1.1"
displayNape="comment” />

o BN
<fobservation?
</outhoundRelationship?>
¢outboundRelationship? typeCode="REFR”>
<observation classCode="0BS" moondCode="EYN">
(code code="35" codeSvstem="2, 16. 840, 1, 113883, 3. 985, 2. 1. 1. 197 codeSystemVersion="1,1"
displayiame="sorelnformationdvailable”/>
<value xsictype="BL" value="true” />
(I--F.r.7: More Information Available §1 —
</observation?
</outhoundRelationship?y
{/vbservation>
{/component >
{component typeCode="COMP™>
<observation classCode="0BS" moodCode="EVN™>
Ccode code="F.r.2.2b" codeSystem="2. 16. B40. 1. 113883, 6. 163" codeSystemVersion="F.r. 2. 2a™>
d-- F.r.2 2a: MedDRA Version for Test Name #2 -->
St By 2 2h Test Name (MedDRA code} #2 —>
<originalTextyF. r. 2, 1</originalText>
e For.2.1: Test Name (free text} H#2 ——>
<feoded
<effectiveTime value="200901017/>
<= F.r.1: Test Date #2 —>
Cvplue xsiitype="IVL_PFQ™
<low nullFlavor="NINF"/>
. <high value="10" unit="mg/d1” inclusive="false”/>
</value>
¢! F.r 3.2 Test Result {value / qualifier) #E -->
¢l—- F.r. 2.3 Test Result (unit) #2 —->
<lem LT 10 mg/dl B2 >
<{/observation”
{/ecomponent
{eomponent typeCode="COMP™ >
<observation classCode="0BS” moodCode="EYN">
<code code="F.r. 2. 70" codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="F.r. 2. 2a">
<t—— F.r.2.%a: MedDRA Version for Test Name £3 -2
Chew By 2200 Test Name (MedDRA code) #3 ——>
<originalText>F. r. 2. [</originalText>
f—— F.r.2.1: Test Name (free text) #3 -->
{feode>
CeffectiveTime value="200901017/>
= F.r.1: Test Date #3' —>
<value xsiltype="1VL _PQ™>
¢<low nullFlavor="NINE"/>
<high value="10" unit="mg/dl” inclusive="true"/>
Svalue?
e Foy. 3020 Test Result (value / gualifier) #3 -—>
<l-- F.r.3.3: Test Result {unit) #3 —>
<l— LE 10 mg/dl #3-->
</chservation?
{/component?
{component typeCode="COMP">
<observation classCode="0BS" moodCode="EYN">
<eode code="F. 1. 2. 2b" codeSystem="2, 16, 840, 1. 113883, 6. 163" codeSystemVersion="F.r, 2, 2a">
e $r. 2,230 MedDRA Version for Test Name #4 -3
Ct—— F.r.2.2b0 Test Name {(MedDRA code) #4 -3
priginalText:F. r. 2. i</ originalText?
== F.r.2.1: Test Name (free text) #4 —>
Seoded
CeffectiveTime value="200901017/>
be— For. 10 Test Date #4 —3
<yalue xsi:type="IVL_PQ"»
<low value="10" unit="mg/d1l” inclusive="false"/>
¢high nullFlavor="PINF"/>



</value>

U= F.r. 3.2 Test Result {(value / gualifier} #4 ——>
{ew For.3.30 Test Result (unit) #4 -3

A= GT 10 mg/dl #4 —>

L compoient 2
{eompotient typelode="COMP” >
{obszervation classCode="0BS” moodCode="EVN™>
<code code="F.r.2.2b" codeSystem="2. 16 540.1. 113883, 6. 163" codeSystemVersion="F.r.2 2a">
== F.or. 2. 23 MedDRA Version for Test Name #5 —»
(= F.r.2.2b! Test Name (MedDRA code) H5 >
CoriginalText>F. r. 2, 1<{/originalText>
=~ For, 2. 17 Tost Name {free text) #5 ——»
</codes
<effectiveTime value="20090101"/>
e Bor b0 Test Date #5 -
{value xsiltype="1VL PQ">
<dow values 107 vnit="mg/di” inclusive="true”/>
<high nullFlavor="PINF"/>
</value>
<t—— F.r.3.2: Test Result (value / qualifier) #5 --3
- F.r. 33 Test Result (unit) #5 —-»
- GE 10 mg/dl #5 ——>
</observation>
{/component >
{component typeCode="COMP™>
<observation classCode="0BS" moodCode="EVN">
<cade code="F, r. 2. 2b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSvstemVersion="F. r. 2. 2a™>
(b= F.r.2 2ar MedDRA Version for Test Name 26 -~
A-- Bor.2.8b: Test Name (MedDRA code) 86 —>
CoriginalText>F r. 2. 1</originalTexty
(1=~ F.r. 2.1 Test Name {free text) #6 —>
{/eode>
<effectiveTime value="200801017/>
== F.r. 1! Test Date 6 ~>
<{value xeiitype="ED">F. r. 3. 4</valus>
<i=~ F.r.3.4: Result Unstructured Data (free text) #6 -->
{/abservation>
</component
{/organizer>
{/subjectBf2>
{subject0f2 typeCode="SBI™
<organizer classCode="CATEGORY” moodCode="EVN™>
Ccode code="4” codeSystem="2. 16. 840. }. 113883. 3. 985. 2. 1. 1. 20" codeSystemVersion="1.0"
displayName="drugInformation”/ >
I~ Gk Drug{s) Information (repeat as necessary} #1 —>
{component typeCode="COMP” >
CsubstanceAdministration classCode="SBADM" moodCode="EVN">
<id root="3c%1b4d5-e039-4aTa~9c30-67671blefBed” />
{consumsble typeCode="CSM™>
<instance(fKind classCode="INST™>
<kindOfProduct classCode="MMAT” determinerCode="KIND">»
<{eode code="G. k. 2. 1. 1b” codeSystem="TBD-MPID” codeSystemVersion="G. k. 2. 1. 1a"/>
=~ G. k. 2.1, 1a: MPID Version Date / Number #1 -
e Gk 2,10 1h: Medicinal Product Identifier (MPID) #1 —
<{name>G. X. 2. 2</name >
{I--= 6. k. 2.2 Medicinal Product Name as Reported by the Primary Source #1 -->
{asManufacturedProduct classCode="MANU">
{subjectDf tvpeCode="SE]">
<approval classCode="CNTRCT” moodCode="EVN">
<id extension="G.k.3.1" root="2.16.840. 1. 113883, 3. 989, 2. 1. 3, 4" />
e~ Gk 3.1 Authorisation / Application Number fl —>
<holder typeCode="HLD™>
<role classCode="HLD">
{playingCrganization classCode="0RG" determinerCode="TNSTANCE">
<nameXG. k. 3. 3</name>
3 G, % 3.3 Name of Holder / Applicant #i —>
</plavingOrganization)
{/role>



</holder>
Cauthor typeCode="AUT">
CterritorialAutherity classCode="TERR™>
E NAT” determinerCode=” INSTANCE
“1.0.

”,

Sterritorialdothority?
</author>
<pertinentlnformation typeCode="FERT™>
¢pelicy elassCode="POLICY" moodCode"EYN™>
{oode code="J2.5.k7 codeSystem="2. 16. 840, 1. 113883, 3. 989, 5, 1. 3. 2. 1. 47
codeSystemVersion="1. 07/
<lo- @pglz. 5k —MRMBEELREOV AIESE #1
pelicyr
(/pertinentInformation>
approvald
</ subject0f> .
<subjectOf typeCode="SBJ™>
<characteristic classCode="0BS” moodCode="EVN">
<eode pode="1" codeSysten="2. 16.840. 1, 113883.3.989.5, 1. 3. 2. L. 10"
codeSystemVersion="1. 0" displayName="FEELSORRE S />
{yalue zsitype="CE” code="J2. 4.%" codeSystem="2.16. 840, 1, 113883,3.989.5.1.3.2. 1. %"
codeSystemVersion="1.0"/>
<l-- G082 4.k HEELSZOHERES #1 —>
<Srharacteristie?
Seub jectOf>
</asManufacturedProduct>
<asSpecializedKing classCode="GEN">
<generalizedMaterialKind classCode="MAT" determinerCode="{IND">
<poder
<originalText> ]2, 12¢/originalText?
- B@j2. 12 BBRESES
<eoder
</generalizeddateriallind>
{Saslpecializediind?
<ingredient classCode="ACTI™

{guantity?
<rnumerator values"107 unit="G. k. 2.3.r. 36" /5>
e Gk 2.3 r. 380 Strength (pumber) #1-1 —>

“ b Gk 2.3 1. 3b7 Strength (unit) §1-1 -
<denominator value="1"/>
{Sguantity?
<ingredientSubstance classCode="MMAT” determinerCode="KIND">
<gcode code="G. k. 2. 3. r. 2b" codeSystem="TBD-Substance”
codeSystemVersion="6. k. 2. 3. r. 2a />
d— 6.k 2.3 r 2a: Suhstance / Specified Substance TermlD Version Date / Number #1-1
-3
<l—— 6.k 2. 3. 1. 2b: Substance / Specified Substance TermlD #1-1 —>
<name>G. k. 2. 3. r. 1</nane>
e Gk, 2.3 r. 10 Substance / Specified Substance Nape #1-1 >
{/ingredientSubstance?
{/ingredient>
<ingredient c¢lassCode="ACTI">
{quantityr
<{pumerator value="16" wnit="G. k. 2.3.r. 3"/
{1-- G.k.2.3. 7. %3a: Strength (number} #1-2 -2
i~ G, k. 2.3.r.3b: Strength (unit) #1-2 —>
{denominator value="1"/>
auantity?
<ingredientSubstance classCode="MMAT" determinerCode="KIND">
<code eode="0. k. 2. 3. 1. 2b” codeSystem="TBD-Substance”
codeSystemVersion="6.k. 2. 3. r.2a" />
e G.k.?.B.r.2ai Substance / Specified Substance Termll Version Date / Number #1-2
-
<1~ G k. 2.3.r.2b: Substance / Specified Substance TermID #1-2 —>
{pamer6. k. 2, 3. r. 1</name>
¢t~ 6.k.2.3.r. 1! Substance / Specified Substance Name #1-2 -->
{/ingredientSubstancex



{/ingredient>
</kindGfProduct>
{subjectOf typeCode="SB]">

<{productEvent classCode="ACT" moodCode="EVN">

P “yovg nen

e codes"| CREBEAGT

LG

{performer typeCode="FRF">
<{assignedEntity classCode="ASSIGNEDR" >
{representedOrganization clussCode="0RG” determinerCode="INSTANCE">
Caddr>
Coountry»G k. 2.4 countrys
b Gk, 2.4 Identification of the Country Where the Drug Was Obtained #f —>
faddr>
{/representedOrganizatlion>
</assignedEntity>
</performer>
{/productEvent)
</stbjectDf>
{subjectDf typeCode="SBI">
CobservationEvent elassCode="0RS" moodCode="EVN">
<eode code="2" codeSystem="2. 16. 840. 1. 113883, 3. 980.5. 1, 3. 2. 1. 107
codeSystemVersion="1. 0" displayName="—f#y HEEL D A FERIE"/>
<value x8i:type="CE” code="J2 6. k" codeSystem="2 16.840.1. 113883, 3.080.5.1.3.2. 1.5"
codeSystemVersion="1. 07 />
- @gR)2. 6k —RHEESOATHEEE $1 >
</observationEvent>
</subjectOf>
</ {nstance0f{ind>
{feonsumnbled
<outboundRelationshipl typeCode="SAS">
<pause@uantity value="10" unit="G.k 9.i.3.1b"/>
b— G k. 8. 1.3 la: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event {number) Drug #1, Reaction #1 ——>
== G6.% 9, i. 3, 1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #!, Reaction #1 -
{actReference classCode="0RS” moodCode="FYN">
{id root="154ebBRY-958b-45F2-n021-42d4d6F 4687 />
</actReference>
{/eutboundRelationshipi>
<outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="6.k. 9.1.3.2b"/>
Ci-— 6. k.9.i.3.2a: Time Interval betweep Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #I -
== G k.9 i.3.2b: Time Interval between Last Dose of Drug snd Start of Reaction / Event
(#nit} Drug #1, Reaction #1 —>
{actReference clagsCode="0BS" moodCode="EVN">
id root="154ebBRO-088L-45F2-a02f-42d4d6T465TF" />
{/actReference>
</outbowndRelationshipl>
{outhoundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G. k. 9 i, 3.1b"/>
. 1-- G.k.9.1.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #2 -->
(e Gk 91,3, 1b: Time Interval between Beginning of Drug Administration and Start of
Resetion / Event {unit} Drug #1, Reaction #2 -
CactReference elassCode="085" moodCode="EVN">
<id root="Zbaal8d6~cYe84ebe-03e5-5b860b3142207 />
{actReference)
</autboundRelationshipl?
{outboundielationshipl typeCode="SaE">
{pauseQuantity vaiue=" 10" unit="(.%. 9.1.3.2b"/>
0= 6.k 9.i.3.257 Time Interval between Last Dose of Drug and Start of Reaction / Event
{number) Drug #I, Reaction #2 —>
<I-- 6.k % 1.3, 2b! Time Intervel between Last Dose of Drug and Start of Reaction / Event
{unit) Drug #1, Reaction #2 —>
<actReference classCode="0BS” mocdCode="EVN">
<id root="2baa2B8d6~clel~4ebc-93eF-5b8R0BIL 42207 />
</actReference>
</outboundRelationshipl>



<putboundRelationshipl typelode="SAS">
<pauseQuantity value="10" wnit="6.k. 0.1.3.1b"/>
(e 6. k. 9.i.3. la: Time Interval between Beginning of
feaction / Event {number) Drug #1, Reaction #3 —>

< s Time Interval between Beginnin

Drug

N

ey
<actReference classCode="OBS” moodCode="EVN">
<id root="3a8626ckb-9{1b—4ea8-Ra0f-e0ff34430adf” />
{/actReferencer
</outhoundRelationshipl>
<outboundRelationshipl typeCode="SAE">
<{pauseQuantity value="10" unit="G. k. & 1. 3.2b"/>
<= Gk 9.i.3.2a0 Time Interval between Last Dose of
flrug #1, Reaction #3 -—
<h GokoB3, 3, 200 Time Interval hetwesn Last Dose of
Drug #1, Reaction #3 -->
CactReference classCode="0BS" moodCode="EYN">
<id root="3a8626cb-9f 1b-4eal-8a0f-e0f F34430adf" />
/actReference>
</outboundRelationshipl>
<outhoundRelationshipl typeCode="SA5">
{panseQuantity value="10" unit="6.% 9 i.3.1b"/>
(== G.k.8.i.3.1a: Time Interval between Beginning of
Resction / Event {number) Drug #I, Reaction #4 -3
<i-- 6. k.9.1.3.1b: Time Interval hetween Beginning of
Drug #1, Reaction #4 ——>
<actReference claszCode="0BS” moodCode="EVN">
<id root="2e99840f~08b4-490c-80Ff f-dd8415F4FBab" />
{/actReferencer
</outboundRelationshipl>
CouthoundRelationshipl typelode="SAR">
<pauseQuantity value="10" unit="G. % 9.i. 3. Zb"/>
{t=- 6. k. 9.1.3.2a: Time Interval between Last Dose of
Drug #i, Reaction #4 -->
- G. k. 9.1.3. 2 Time Interval between Last Dose of
Drug 1, Reaction #4 —>
<actReference classCode="08S" moodCode="EVN">
d root="2e99840f-08hb4—499c-R0F F~dd8416f4f8ab" />
</actReference
</outboundRelationshipl>
<outboundRelationshipl typeCode="SA3">
<pauseQuantity value="10" unit="G. k. 9.1.3.1b"/>

brug

{numbir)

Drug
funit)

brug

Drug
Reaction / Event (unit)

Drﬁg
(number)
Prog
{unit)

1=~ & k. 9.i. 3. 1at Tine Interval between Beginning of Drug
Reaction / Event {(number) Drug 21, Reaction &5 —>
A— 6.k 9. 1.3, 1 Time Interval between Beginning of Drug

Reaction / Bvent {unit} Drug #1, Reazction #5 -
<actReference classCode="0BS" moodCode="EYN">
<id root="1071064c-cfi0-4a3b-83c1-34F9ddbTeabd” />
{/actReference’
</outboundRelationshipl>
<outhoundRelationshipl typeCode="SAE”>
Cpausefuantity value="1¢" unit="6. k. 9.1.3.2b"/>
Clew Gk, 9, 1.3, 2a: Time Interval between Last Dose of
Drug #1, Reaction #5 ——>
<I— 6.k 9 1.3 2b: Time Interval between Last Dose of
Drug #1, Reaction #5 —>
{actReference classCode="0BS” woodCode="EVN">
<id root="1071064c~cf10-4adb-83¢1-34F0ddbTeabd” />
{/actReference>
</outhboundRelationshipl>
<outboundRelationship! typeCode="SAS">
<pause@uantity value="10" uwnit="G.k. 8.1 3. 1b"/>
<= 6. k.9, 1.3 1a! Time Interval between Begioning of Drug
Reaction / Event {number) Drug #1, Reaction #6 -->
= G.k.9.1.3.1b: Time Interval between Beginning of Drug
Drug #1, Reaction #6 -->
CactReference classCode="0BS" moodCode="EVN™>
id root="11927283-10b6-4334-0d43-e025640Fh1B" />
</actReference>

Drug
{number)
Drug
{unit)

Reaction / Event {unit}

Adminisgiration and Start of

and Start of Reaction / Event

and Start of Reaction / Event

Adminigstration and Start of

Administration and Start of

and Start of Reaction / Event

and Start of Reaction / Event

Administration and Start of

Administration and Start of

and Start of Reaction / Event

and Start of Reaction / Event

Administration and Start of

Administration and Start of



{unit) Drug #1, Reaction 6 ——>

/outboundRelationshipl>

CoutboundRelationshipl typefode="SAE">

{pauseQuantity value="10" unit="G.k 9, 1. 3. 2b"/>

{1-- 6. k.9.1.3 2a: Time Interval between Last Dose of hrug and Start of Reaction / Event

Gol 90703 8k Time Interval batwes

{actReference classCode="0BS” moodCode="EYN">
<id root="11927283~10b6-4334-9d43-0926640Fb18F" />
{/actReference>
{/outboundRelationshiply
<outhoundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.% 9. i. 3. 1b"/>
G- 6.k 9.1.3. 1a: Time Interval between Beginning of Drug Administration and Start of

Reaction / Event (number} Drug #i, Reaction #7 —>

Reaction / Event (unit)

=~ G. k. 9.1.3. Ib: Time Interval between Beginning of Drug Administration and Start of
Drug #1, Reaction #7 —>»
<actReference classCode="0BS” moodCode="FVN">
<id roct="e0342069-38be~423f-bbbb—cel4be2794Be” />
</actReference> *
</outhoundRelationshipls
<{outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G. k. 9.1.3.2b"/>
<I-- G. k.8.1.3.2a: Time Interval between Last Dose of Drug snd Start of Reaction / Event

{number} DPrug £1, Reaction #7 —»

¢t 6.k 9.1.3.2b° Time Interval between Last Dose of Drug and Start of Reaction / Event

{unpit} Drug #1, Reactien #7 —-»

{actReference classCode="0BS” moodCode="EVN">
<id root="e0342060~38be—423f-bBbb-reldhe279d8e” />
{/actReference>
</outboundRelationshipl>
<outboundRelatiohshipl typeCode="SAS">
<pauseQuantity value="10" wpit="G. k. 9. 1. 3. 1b"/>
<= G k. 9.1.3. 1a: Time Interval between Beginning of Drug Administration and Start of

Reaction / Event {number) Drug #1, Reaction #8 >

Reaction / Event {unit}

I~ k.91, 3. 1h: Time Interval between Beginning of Drug Administration and Start of
Drug #1, Reaction #8 .—>
{actReference classCode="0BS” moodCode="EVN">
<id root="albbel92-B070-426d~af 0468326344307/
</actReferencel
{/outboundRelationshipl?
<outboundRelationshipl typeCode="SAE™>
<{pauseQuantity value="10" wnit="6.k. 9.i.3. 2b"/>
o G,k 9.1.3.2a0 Time Interval between Last Dose of Drug and Start of Reaction / Event

{pumber} Drug #1, Reaction #8 ——>

== G.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event

{unit) Drug #1, Resction #8 —>

displayName="blinded”/>

CactReference classCode="0RS” moodCode="EVN">
{id root=" albbel92-8070-426d-af04-68A3263443e0”7 /2
{/actReference>
{/outboundRelationshipl>
CoutboundRelationship? typeCode="FPERT”>
{observation classCode="0BS” moodCode="EVN">
<code code="6" codeSystem="2.16. 840, 1. 113883, 3, 989. 2. 1. 1. 19" codeSystemVersion="1. 1"

<value xsi'type="BL” value="t{rue”/>
<= G.k. 2,5 Investigational Product Blinded #1 -->
{/ohssrvation?
</outboundRelationship2y
CoutboundRelutionship? typeCode="COMP”>
<1~ G.k.4.v: Dosage and Relevant Information (repeat as necessary) #1-1 ——
<substanceAdministration classCode="SBADW” moodCode="EYN">
{text Gk 4.1, 8¢/ texty
<I=~ G. k. 4.1 8 Dosage Text #1-1 ~—»
{effectiveTime xsi:type="SXPR_TS">
<comp xsiltype="PIVL_TS">
{period value="10" unit="G. k. 4. r.3"/>
<=~ G. k.4, 7.2 Number of Units in the Interval #1-1 ——
<l 6.k 4.r. 30 Definition of the Time Interval Unit #1-1 —>



</comp>
Ceomp zsi types”IVL_TS” operator="A">
law value="200901017/>
{4 G.k 4.r. 4 Date and Time of Start of Drug #1-1 —>

LN

and Time of Last Administration §1-1 -2

<feompy
Ceomp xsiitype="1VL_TS” operator="a">
Cwidth value="4" wnit="G. k. 4, v, 607/
<J—~ G.k. 4. r. 8a: Duration of Drug Administration (number} #1-1 -->
¢l-— G k. 4. r.6b: Buration of Drug Administration (unit) #1-1 —>
feomps
</effectivelime”
¢routeCode code="G. k. 4. r. 10. 2h” codeSysten="2. 16. 840. 1. 113883, 3, 980. 2. 1. 1. 14"
codeSystemVersion="6. k 4. 1. 10, 2a”>
¢1-= G.k 4.r.10.2a: Route of Administration TermID Version Date / Number #1-1 -—5
<I-- 6,k 4.1. 101 2b: Route of Administration TermiD #i-1 -->
<originalText»G. ko 4. r. 10, 1</originalText>
(T G k.4, 1.10. 1! Route of Administration {free text) #1-1 —>
<routeCode’
¢doseQuantity value="107 unit="G. k. 4.1 1b7/>
¢lew G k. 4. r. la Dose (number) Bi-1 —>
(lom 5% 4. v 1b0 Dose {unit} #1-1 ——
{consupable typeCode="CSM">
<instance0tKind classCode="INST">
Cproduct [nstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
<lotNumberText>G. k. 4.1, 7</lotNumberText>
1= G & 4.r. 7: Batch / Lot Number #i-1 -->»
{/yproductinstancelnstance?
¢kind0fProduct elassCodes"MMAT™ determinerCode="KIND™>
formCode code="6. k. 4. r. 9. 2b" codeSystep="TB0DoseForm”
codeSystenVersion="6.k 4.1, 9.2a">
¢l— G. k. 4. r. 9 2a. Pharmaceutical Dose Form TermlD Version Date / Number ®#1-1 ——
i— G. k. 4.r. 9. 2b: Pharmacentical Dose Form TermlD #1-1 -—>
CoriginalText>G. k. 4.1, 9. 1</originalText>
¢l=- G. k. 4.r. 9 1! Pharmaceutical Dose Form {free text) #1-1 -3
</ formCoda’
</kindOfProduct
</instanceOfKind>
/constmabler
<inboundRelationship typeCodes"REFR™>
<observation classCode="0BS" moodCode="EVN">
Ceode code="28" codeSvstem="2. 16. 840, 1. 113843, 3, 989, 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="parentRoute0fAdsinistration”/>
<yalue xsitype= CE” code="G.k.4.r. 1L 2b" codeSystem="2. 16, 840. 1. 113883, 3,985. 2. 1. 1. 147
codeSystenVersion="G. k 4.r. 11, 2a”>
¢l— G.k. 4.r. 11, 2a: Parent Route of Administration TermID Version Date / Number #1-1
—>
¢l G,k 4. 1. 11.2b: Parent Route of Administration TermiD #1-1 —>
{originalTextdG. k. 4. v. 11 1</ original Text?
¢te= Gk 4.r.11.1: Parent Route of Administration {free text} #l-1 -—>
Svalues
</observation
</inboundRelationship>
</substanceAdministration’
</outboundlelationship?s
{outboundRelationship? typeCode="COMP™>
¢i-~ G.k 4.1’ Dozage and Relevant Information (repeat as necessary) #1-2 —->
¢substanceAdministration classCode="SBADM” moodCode="EVN">
CtextyG. k. 4. v 8</text>
I~ G k. 4. r.8: Dosage Text HI-Z2 —>
CeffectiveTime xs1:type="SXPR_TS">
<comp xsiitype="PIVL_TS"»
<period value="10" unit="G. k. 4.r.3"/>
== 6.k 4.r. 20 Number of Units in the Interval #1-2 —>
St Gk, 4. 7. 3: Definition of the Time Interval Unit #1-2 ——>
</ comp?
Ceomp xsictypes"IVL_TS” operator="A">
<low value="200801017/>



A== G k. 4. v, 4: Date and Time of Start of Drug #1-2 -->

<high value="200801017/>

d— G.k. 4. r. 5 Date and Time of Last Administration #1-2 -
<feompy

Goko4or 100287 o

oy
codeSystemVersion="G. k. 4. r. 10. 2a”>
o= Gk 4.1, 10. 230 Route of Adwinistration TermID Version Date / Number #1-2 -~
== Gk 4.7, 10,2k Route of Administration TermID #1-2 -—>
{originallext>G. k. 4.r. 16, I</ariginalText)
- Goko4or 10010 Route of Administration (free text) #1-2 ——>
</routeCode>
{dosefuantity value="10" unit="G.k 4.r. 1b"/>
I~ G k. 4.r. la Dose (pumber) E1-2 -—>
== G. k. 4.1 ib! Dose (unit} #1-2 ——>
{consumable typeCade="CSH">
{instanceOfKind classCode="INST”>
{productinstancelnstance classCode="MMAT” determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7</lotNumberText>
- G k. 4. r. 7 Batch / Lot Numher #1-2 ——»
{/productInstanceInstancer
“kindOfProduct classCode="MMAT” determinerCode="KIND">
<FormCode code="G. k. 4, r. 9. 2b" codeSystea="TBD-DoseForm”
codeSystemVersion="0G. k. 4. r. 9. 2a">
¢l-- 6.k 4.r. 9. 2a Pharmaceutical Dose Form TermID Version Date / Numher #]-3 —->
<I-- 6.k 4. r. 9. 2b: Pharmaceutical Bose Form TermID #1-2 —>
CoriginalText>G. k. 4. r. 8. 1</originalText>
- G.k. 4. 1.8 1° Pharmaceutical Dose Form {free text) #1-2 -
{/FormCode
</kindOfProduct?
</instance0fkind>
</consumable>
{inboundRelationship typeCode="REFR">
<observation classCode="0BS" moodCode="EVN">
(code code="28" cadeSystem="2.16. 840. 1. 113883, 3, 989. 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="parentRoute0fAdrinistration” />
<value xsitype="CE” code="G.k 4. 1. 11.2b" codeSvstem="2, 16. 840. 1. 113883, 3.989. 2. 1. 1. 14"
codeSystemVersion="6.k 4.r, 11. 2a">
<P-= G k. 4 r.11. 2a° Parent Route of Administration TermlD Version Date / Number #1-2
-—>
= G k. 4.7.11. 2b: Parent Route of Administration TermID #1-2 ——>
CoriginalText>G. k. 4. r. 11 1</originalText >
A= G,k 4. 1. 11, 17 Parent Route of Administration {free text) #1-2 ——»
{/valuer
{/observation>
</inhoundRelationship>
{/substanceAdministration>
</outhoundRelationship2»
<outboundRelationship? typeCode="COMP">
<= G.k. 4.7 Dosage and Relevant Information (repeat as necessary) #i-3 =
{substanceAdministration classCode="SBADM” mocdCode="EYN">
Ctent Gk 4. r. B text>
= Gk 4. 1.8 Dosage Text #1-3 —»
CeffectiveTime xsi type="SXPR_T8"
{comp xsiltype="PIVL TS">
<period value="10" unit="G. k. 4.r.3"/>
= Gk 4.r. 20 Number of Units in the Interval #1-3 -3
(I~— 6.k 4.r.3: Definition of the Time Interval Unit #1-3 ~->
< JSeomp
<vomp xsitype="IVL_TS” operator="A">
low value="200901017/>
I G k. 4. r. 4! Date and Time of Start of Drug #1-3 -
<width value="4" unit="G, k & r.6b"/>
I G,k 4.r.6a: Duration of Drug Administratien {(number} ®1-3 ——
<l G k. 4.r.6b: Duration of Drug Administration {unit) H1-3 ——
</eompy
JeffectiveTime>
{reuteCode code="G.k 4. r. 10.2b" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 14”7
codeSystemVersion="G, k. 4. 1. 10, 2a™>



e Gk 4.1 10. 227 Route of Administration TermID Version Date / Number #1-3 -5
<h-— Gk 4.r. 10.2b7 Route of Administration Termi) #1-3 -2
<{originalTextsG k. 4. r. 10, 1</original Text>

¢t G,k 4. 7r.10.1: Eoute of Administration (free text} #1-3 —-¥

dessfuant ity valne="10" unit
== G k. 4. r. 1a Dose (mumber) #1
-— G k. 4.r. ib: Dose {unit) £1-3 —>
{eonsumable typeCode="CSH">
<instancedfKind clessCode=" INST”>
{productInstancelnstance classCode="MMAT™ determinerCode="TNSTANCE">
<lotNumberText>G. k. 4. r. 7</1otNumberText>
Cie~ Gk 4.1.7: Batch / Lot Number #1~3 -7
C/prodnctInstancelnstance?
¢kind0fProduct classCode="MMAT™ determinerCode="KIND">
FormCode code="6. k. 4. r. 8. 78" codeSystem="TBD-DoseForm”

codeSystemVersion="6.k 4.r. 9. 2a">
Gk 4.r.9 2a Pharmaceutical Dose Form TermID Version Date / Number §1-3 -
<i-- G.k.4.r. 9. 2h: Pharmaceutical Dose Form TermlD $1-3 —>
originalTextrG. k. 4.r. 9. 1</originalText>
J— G k. 41,9 1! Pharmacentical Dose Form (free text) #1-3 -
</foruCoder
/kind0fProduct>?
instancelfKind>
Jeonsumabled
<inboundRelationship typeCode="REFR">
(chservation classCode="0BS" moodCode="EVN">
Ccode code="28" codeSystem="2.16. 840, 1. 113883. 3,880, 2.1, 1. 19" codeSystemVersion="1.1"
displayName="parentRoutedfAdministration”/>
¢value xsiitype="CE” code="G. k. 4.r. 11, 20" codeSystem="2. 16, #40. 1. 113883, 3. 989, 2. 1, 1. 147
codeSystemVersion="G. k. 4. v. 11, 2a™>
<J-- (. k. 4.r. 11. 2a: Parent Route of Administration TermlD Version Date / Number #i-3
-
1= G.k.4 r. 11.2b: Parent Route of Administration TermID #1-3 -->
CoriginalText>G k. 4. r. 11 1</originalText>
<1-- G.k.4.1.11.1: Parent Route of Administration (free text} #$1-3 —>
<Svaluer
{/observationd
</inboundRelationship>
{/substanceAdministration?
</outboundRelationship??
{outboundRelationship2 typeCode="COMP”™>
<]~ G k. 4. r' Dosage and Relevant Information (repeat as necessary) #1-4 —>
(substanceAdministration classCode="SBADM™ moodCode="EVN">
Ctext>G ko 4.1 B text)
Cfem Goko4 1. 80 Dosage Text #1-4 -->
¢effectivefime xsiitype="SAPR_TS">
Ccomp xsiitype= PIVL_TS™>
<period value="10" unit="G. k. 4. r 3°/>
< G.k.4.r. 2 Number of Units in the Interval #i-4 -->
<lem Gk 4. 1.3 Definition of the Time Interval Unit #1-4 —>
feomp>
<comp xsi:type="TVL_TS” operator="A">
<width value="4" unit="G. k. 4. r. 6b7/>
low Gk, 4, . 68 Duration of Drug Administration (number} #1-4 -~
! G. k.4 r.6b: Duration of Drug Administration (unit) #1-4 -->
<high value="20000161"/>
Clew 6k 4. 1. 5 Date and Time of Last Administration #1-4 ——>
<Seomp> )
effectiveTimer
<yeuteCode code="G,k 4.1, 10. 25" codeSystem="2. 16. 840, 1. 113883, 3,989, 2.1, 1. 147
codeSystenVersion="6. k. 4.r. 10, 2a™> :
= G,k 4.1, 10.2a: Route of Administration TermlD Versicm Date / Number #1-4 -—>
<l== G.k.4.r. 10.2h: Route of Administration TermiD ¥1-4 —>
CoriginalText>G i 4.7, 10, 1</originalText>
e Gk 4.17.10.1! Route of Administration {(free text) #1-4 -3
routeCoder
<doseQuantity value="10" unit="6.k 4.7 1b"/>
¢le— G k. 4. r.la Dose {(number) H1-4 -7



- Gok.dor. lb: Dose f(unit) H1-4 -3
<constumable typeCode="CSM™>
CinstancelfKind classCode="INST">
<productInstancelnstance classCode="MMAT” determinerCode="TNSTANCE”>
i v E T “” é g T e T:\'
L. 7 Haz ¢ 4o
UproductInstance Instance?
<kindOfProduct classCode="MMAT" determinerCode="KIND">
formCode code="G. k. 4. r. 9. 2b” codeSystes="TRD-DoseForn”

< 4 Lot

codeSystenVersion="G. k. 4. 1. 9. 2a”>
<l Gk 4.7, 9. 220 Pharmaceatical Dose Form TermID Version Date / Number #1-4 -~
-Gk 4. 1. 9 2b: Pharmaceutical Dose Form TermiD #1-4 -->
{originalText G k. 4. r. 8. 1</ originalText)
-Gk 4. 1.9 1> Pharmaceutical Dose Form (free text) #1-4 -—>
</formCode>
</kind0fProduct>
</instanceGfKind>
Aeonsumsble?
<inboundRelationship typeCode="REFR">
{ebservation classCode="0RS" moodCode="EVN">
<eode code="28" codeSystem="2. 16. 840, 1. 113883. 2.989.2. 1. 1, 19" codeSvstemVersion="1. 1"
displayName="parentRouteOfAdministration”/>
value wsiitypes”CE” code="G.k 4.r.11.2b" codeSystem="2. 16. 840. 1. 113883, 3, 689, 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 1. 227>
<l— G.k. 4. v 11.2a: Parent Route of Administration TermlD Version Date / Number #i-4
-
== Gk 4.1 11, b7 Parent Route of Administration TermID #1-4 -->
<originalText>G. k. 4. r. 11, 1</ /original Text>
<=~ G k.4 r.11.1: Parent Route of Administration (free text) fii-4 —-—>
</value>
(/ohservation>
{/inboundRelationship>
</substanceAdministrationy
{outhoundRelstionship2y
{outboundRelationship2 tvpeCode="COMP">
{I~- G.k.4.r: Dosage and Relevant Information {repeat as necessary) #1-5 -->
{substanceAdministration classCode="SBADM” moodCode="EVN">
<text?G. k. 4. r. 8</text>
de Gk 4.r. 8 Dosage Text #1-5 -
<effectiveTime xsi'type="SXPR_TS"»
{ecomp xsiitype="IVL T8>
<low value="20090101"/>
<= Gk 4.r. 47 Date and Time of Start of Drug #1-5 ——>
¢high value="200901017 />
- G.h.4.r.5: Date and Time of Last Administration #i-5 ~-»
S comp>
Ceomp xsiitype="TVL_TS” cperator="A">
<width value="4" unit="G k. 4. r. 60"/
<}== G, k.4, r.8a Duration of Drug Administration (number) #1-5 --»
i G k. 4. r.6b: Duration of Drug Administration {unit) #1-§ -
<Soomp>
{feffectiveTime?
<routeCode code="G. k. 4.v. 10, 2b" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 147
codeSystemVersion="6. k. 4. r. 10. 2a”>
1=~ Gk 4.1 10. 22 Route of Administration TermiD Version Date / Number #1-5 —>
== 6.k 4.r.10.2b: Route of Administration TermiD #i-5 -—-»
originalfext>G. k. 4.r. 10. 1</originalText>
¢le— Gk 4.r. 10. 1! Route of Administration (free text) #1-5 -
<ArouteCode>
<doseQuantity value="10" unit="6.k. 4. r. 16"/
== 6. % 4 r. la Dose (number) #i-5 -->
Cl-= 6. k. 4.r. 1b: Dose {unit) #1-5F —=>
<consumable typeCode="CSM™>
{instancell¥ind classCode="INST">
{productinstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNunberText>G. k. 4. r. 7¢/lotNumberText >
{le= G k. 4.r.7: Batch / Lot Number #1-5 —3
{/productInstancelnstance?
<kindCfProduct classCode="MMAT” determinerCode="KIND">



FormCode code="G. k. 4.1.9.2b” codeSysten="TBD-DoseForm”
codeSystemVersion="C. k. 4.r. 8. 2a”>
b Gok.o 4. r. 9. 2a7 Pharmaceutical Dose Form Termid Version Date / Number #1-5 ——>
<= G. k. 4. r. % 2b: Pharmaceutical Dose Form Term!D #1-5 -->

6k i

i ol vig (fyeae textd Zi-h
</fTormCode>
CkindDfProduct >
{finstancedfKind»
{/consumable>
<inboundRelationship typeCode="REFR™>
<ohservation classCode="0BS” moodCode="EYN">
{ecode code="28" codeSystem="2. 16. 840. . 1138K3. 3. 089, 2. 1. 1. 197 codeSystemVersion="1.1"
displayName="parentRoute0fAdeinistration” />
(yalue xsiltype=”CE” code="G.k. 4. 1. 11. 2b” codeSysten="2. 16. 840. 1. 113883, 3, 989, 2. 1, 1. 147
codeSystepVersion="G. k. 4. r. 11, 2a™
b= Gk, 4.r, 1. 24 Parent Route of Administration TermID Version Date / Number #1-5
-=>
CFer Gk 4.1, 11 2b: Parent Route of Administration TermiD #1-5 -->
originalText>G. k. 4. 1. 11, 1/ originalText>
¢l—- .k 4.r. 11, 1: Parent Route of Administration {free text} #1-§ —>
</value>
{/obsgervation>
</irboundRelationship?
{/substanceAdministrationd
</outheundRelationshipZ>
CoutboundRelationship? typeCode="COMP™>
<1— G. k. 4. r! Dosage and Relevant Information (repeat as hecessary) #1-G ——
<substanceAdministration classCode="SBAPM” mocdCode="EVN">
{text 6.k 4.t 8</text>
(1-— 6.k 4. r. 8 Dosage Text E1-6 ——>
CeffectiveTime xsi:type="SXPR_TS">
<eomp xslitypes"PIVI_TS">
<period value="10" unit="G.k 4.1.3"/>
4= G.k.4.r.2; Number of Units in the Interval #1-6 —>
<1-- G.k.4.r.3: Definition of the Time Interval Unit #1-6 -—>
</compr
Cpomp xsiitype="IVL_TS” operator="A">
Clow value="20090101"/>
<= G. k. 4.r. 4 Date and Time of Start of Drug #1-6 ~=>
<Cwidth value="4" unit="G. k. 4.r. 6b"/>
¢l G.k 4.r. 6a: Duration of Drug Administration (number} #1-6 -->
<l-- 6.k 4.r.6b: Duration of Drug Administration f{unit) #1-8 -—>
Soomp?
<comp xsiitype= IVL_TS” operator="A">
<high value="200901017/>
te- Gk 4. r.5: Date and Time of Last Administration #1-6 ——
</Soomp
/effectiveTime>
<routefode code="G. k. 4. r. 10, 2b” codeSystem="2, 16, 840. 1. 113883. 3. 985. 2. 1. 1. 147
codeSystemVersion="6. k. 4. 1. 10.2a">
: <t=— G k. 4.r. 10.2a: Route of Administration TermID Version Date / Number #1-6 -->
== G k% 4.7, 16, 2b: Route of Administration TermlD #1-6 —>
<originalText>G. k. 4.1, 10. 1<{/originalText>
<1-- G, k.4.r.10. 1: Route of Administration (free text) #1-6 -->
</routeCode>
{doseQuantity value="10" unit="G.k. 4. r. 1b"/>
e G,k 4.1, 1a Dose [(number) #i-1 -->
J-- G k. 4.1, Ib: Doze (unit} #I-1 ~->
{constmable typeCode="CSM">
{instance0fKind classCode="INST">
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
{lotNumberTextG. k. 4. r. 7¢/LothumberText>
{le— Gk, 4.1, 70 Batch / Lot Number #{-1 --»
</productinstanceInstancer
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<formbode code="G. k. 4. r. 9. 2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4. r. 9. 2a">
¢<!'— G.k.4. 1.9 2a: Pharmaceutical Dose Form TermlD Version Date / Number #1-6 —->



== 6.k 4.1.9.2b! Pharmaceutical Dose Form TermID #1-6 -~

{originalText>G. k. 4. r. 9. 1</originalText>

i-~ §.%.4.1.9.1: Pharmaceutical Dose Form (free text) #1-6 >
TormCode>

feonsumabler
<inboundRelationship typeCode="REFR">
<observation classCode="0BS" moodCode="EVN">
{code code="28" codeSystem="2. 16. 840, 1, 113883, 3, 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="parentRonteOfAdministration”/>
Cvalue xsiitype="CE” code="G. k 4.r. 11.2b" codeSystemn="2. 16. 840. 1. 1138973, 3. O8O, 2. 1. 1, 14"
codeSystemVersion="6.% 4. 7. 11, 2a">
{I-= 6.k 4.r.11. 2a: Parent Route of Administration TermlD Version Date / Number H1-6
-
<= G k.4.7.11.2b: Parent Route of Administration TermID #1-6 —»
{originalText>G k. 4. r. 11, 1<¢/original Text>
(o Gok.4.r. 15010 Parent Route of Administration (free text) #i1-6 -—>
</valuer
{/ohservation?
</inboundRelationship>
{/substanceAdministration?
<{/outboundRelationship2>
<outboundRelationship? (ypeCode="COMP™>
<f-- G k. 4.r: Dosage and Relevant Information (repeat as necessary) #1-7 -
<substanceAdministration classCode="SBADM” mocdCode="EVN">
textrGo k. 4, v, 8¢/ text>
- G k.4 1.8 Dosage Text #1-7 ——
<effectiveTime xsi:type="SYFR_TS">
<{comp xsiltype="IVL_TS">
<low value="20090101"/>
<=~ G.k. 4. r.4: Date and Time of Start of Drug #1-7 -—>
width value="4" unit="G. k. 4. r.6b"/>
- Gk 4, r. 6a) Duration of Drug Administration (number) #1-7 -3
- G k.4.7r.6b: Duraticn of Drug Administration (unit) #1-7 ——»
CSeompy
Coomp xsictype=" IVL_TS” aperator="A">
<high value="206080101"/>
{I-- G.k. 4.r. 5! Date and Time of Last Administration $#1-7 -->
</rompy
JeffectiveTime>
<routeCode code="G.k. 4, r. 19, 2b” codeSysten="2. 16. 840. 1. 113883. 3,989, 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 10. 2a”>
<f-- 6.% 4.r.10. 2a: Route of Administration TermlD Version Date / Number £I-7 ——%
-~ G k. 4.r. 10, 2b: Reute of Administration TermID £1-7 —->
<originalText>G. k. 4.r. 10, I</originalText>
o= Gk 41,1001 Route of Administration {free text) #1-7 -
<ArouteCode?
<doseQuantity value="10" unit="G.k. 4.r. 1b"/>
<= 6.k 4.r.1as Dose (number) Hi-7 -~
<l Gk 4. v.1b: Dose (unit) #1-7 —>
<consumable typeCode="CSM™>
“instance0fKind classCode="INST"> _
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
<{lotNumberText>G. k. 4. r. 7</lotNumberText>
<=~ G.k 4. r. 7 Batch / Lot Number §I1-7 -3
</productIngtance Instance>
<kindO0fProduct classCode="MMAT” determinerCode="KIND">
SformCode code="G. k. 4. 1. 9. 2b” codeSysten="TBD-DoseForn”
codeSystemVersion="G. k. 4. r. 8. 2a”>
-- Gk 4. r. 9. 2a: Pharmaceutical Dose Form TermID Version. Date / Number #]-7 —->
¢l G. k. 4.r. 9. 2b: Pharmaceutical Dose Form TermiD #1-7 -->
CoriginalText>6. k. 4. r. 9. 1/ originalTexty )
A G.k.4.r.9.1: Pharmaceutical Dose Form {free text) #1-7 -->
<AformCoder
kindOfProduct>
</instancetfKind>
</consumable>
{inboundRelationship typeCode="REFR™>



<observation classCode="0BS” moodCode="EVN™>
Coode code="28" codeSystem="2. 16, 840, 1, 113883, 3. 980. 2, 1, 1. 18" codeSystemVersion="1. 1"

displayName="parentRouteOfAdninistration” />
<yalue xsiitype="CE” code="G.k 4. r, 11.2h" codeSysten="2. 16. 840, 1. 113883, 3.989. 2. 1. 1. 147
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¢I-— .k 4.r.11.2b Parent Route of Administration TermiD #1-7 -
ZoriginalText>G k. 4. r. 11 1</originaltText>
¢le— G.% 4 1 11.1: Parent Route of Administration {free text) #1-7 -—>
Svaluer
{fobservationd
</inboundRelationship>
{/substancefAdministration>
</outboundRelationshipZ>
<outhoundRelationship? typeCode="SUMM" >
<observation classCode="0BS” moodCode="EVN™>
‘code code="14" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. {. 1. 19" codeSystenVersion="1.1"
displayName="cumutativeDoseToReaction” /s
Cyalue xsiitvpe="PQ” value="10" unit="G.k.5b"/>
e Gk Ba: Cumulative Dese to First Reaction (number) #1 —>
V= G. k. Sb: Cumulative Dose to First Reaction (unit) #1 ——
<{/observationy
</outboundRelationship?»
<outboundRelationship? typeCode="PERT">
{observation ¢lassCode="0BS” moodCode="EVN™>
<code code="16" codeSystem="2. 16, 840. 1. 113883, 3, 989. 2. 1. 1. 18" codeSystenVersion="1.1"
displayName="gestationPeriod”/>
<yalue xsitype= P@" value="10" unit="G. k. 6b"/>
¢lew G Y%, Ba: Gestation Period at Time of Exposure {number) # -
¢]—— G.% Bb: Gestation Period at Time of Exposure f(unit) #1 —>
</observation?
outbomdRelationship2y :
{putboundRelationship? typeCode="PERT">
<ohservation classCode="0BS" mocdCode="EVN">
<code code="31" codeSystem="2, 16. 840. 1. 112883, 3. 989, 2. 1. 1. 18" codeSystemVersion="1,1"
displayName="recurranceQfReaction”/>
cyalue asiltype="CE” eode="G. k. 9. i.4" codeSystem="2. 16. 840. 1, 113883. 3.988.2. 1. 1. 16"
codeSystemVersion="1. 0" />
¢le= (4. 0. i.4: Did Reaction Recur on Re-administration? Drug #1, Reaction #1 —
ZoutboundRelationship! typeCode="REFR™>
CactReference classCode="08S8” moodCode="EVN">
<id root="154eh880-058h—452-al2f-4244d6T4BETE" />
<factReference>
</outboundRelationshipi>
fobservation
(foutboundRelationshipZy
<outboundRelat {onshipZ2 typeCode="FPERT">
<obgervation classCode="08S" moodCode="EVN">
¢code code="31" codeSystem="2. 16.840. 1. 113883. 3.989.2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="recurrance0fReaction”/>
<yalue xsitype="E” code="6.k. . i. 4" codeSystem="2. 16.840. 1. 113883, 3. 989. 2. 1. L. 16"
codeSystemVersion="1 07/>
l— G.k.9.i.4: Did Reaction Recur on Re-administration? Drug #1, Reaction 82 -->
{outhotundRelationshipl typeCode="REFR">
<actReference classCode="0BS” moodCode="EVN™>
{id root="Zbaa28d6-¢Yeb-4ehie—03e0-5b860DI 142207 />
factReference’
</outboundRelationshipl>
{/observation>
</outhoundRelationshipZ>
ZouthoundRelationship? typeCode="REFR”>
<absetvation classCode="0BS" moodCode="EVN">
Ceode code="9" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 18" codeSystemVersion="} 17
displayName="codedbrugInformation” /> )
<yalue xsiltype="CE” code="G.k. 10.r" codeSystem="2. 16. 84(. 1. 113883.3.980. 2. 1. 1. }77
codeSystenVersion="1. 0"/
<l G k. 10.1: Additional Information on Drug (coded} (repeat as necessary)l #1-1 ——
{/observation>



</outboundRelationship2>
<oputhoundRelationshipZ typeCode="REFR™>
{observation classCode="0BS” moodCode="EVN">
<eode code="9" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1, 19" codeSystemVersion="1. 1"
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codeSystemVersion="1. 0"/
U Gk 10.r7 Additional Information on Drug (coded) (repeat as necessary) §1-2 —-»
</ohsarvation?
</outboundRelationship2>
{outboundRelationship2 typeCode="REFR™>
<observation classCode="0BS” moodCode="EVN">
“rode code="2" codeSystem="2. 16. 846. L. 113883, 3. 980, 2. L. 1. 19" codeSystenVersion="1.1"
displayName="additional Information”/>
<value zsi:type="ST7>6, k. 11</value>
A== G k. 11: Additional Information on Drug {free text) #i ——
</wbservation>
</outhoundRetationship?)
UinboundRelationship typeCode="RSON">
<obgervation classCode="0BS" moodCode="EVN">
<eode code="19" codeSystem="2, 16,840, 1, 113883, 3, 989, 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="indication”/>
{value xsi:!type="CE" code="G.k. 7.7.2b"7 codeSystem="2. 16. 840, 1. 113883, 6. 163"
codeSystemVersion="G. k. 7. r. 2a™>
L= 60k 7or 2ar MedDRA Version for Indication #i-1 —>
A= G k. 7.7r.2b: Indication (MedDRA code} #1-1 —-»
CoriginalText>G. k. 7. 1. I</originaiText> )
<t-- Gk 7.r.1: Indication as Reported by the Primary Source #1-1 ~»
{Avalue>
{performer typeCode="PRF™>
cassignedEntity classCode="ASSIGNED”>
{code code="3" codeSvstem="2. 16 840. 1. 113883, 3. 489, 2. 1. 1. 21”7 cndeSystemVersion="1. 0"
displaviName="sourceReporter” />
<fassignedEntityd
</performery
</observation>
{/inboundRelationship>
{inboundRelationship typeCode="RSON">
<{observation classCode="0BS” moodCode="EVN">
‘code code="19" codeSystem="2. 16, 840. 1, 113883, 3, 989, 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="indication”/>
<yalue xsiitype="CE" code="G. k. 7.r. 2b" codeSystew="2. 16. 840. 1. 113R83. 6. 183"
codeSystemVersion="G. k. 7. 1. 2a”>
e 6K 7. r. 2as MedDRA Version for Indication #1-2 —>
U G k. 7.r.2b: Indication (MedDRA code) #1-2 ——
<originalText>G k. 7.r. 1</ originaiText>
<I-- G k. 7.r.1' Indication as Reported by the Primary Source #1-2 —>
<Svalue>
{performer typeCode="PRF">
<assignedBntity classCode="ASSIGNED™>
{code code="3" codeSystem="2. 16.840. 1. 113883.3.985.2. 1.1, 21" codeSystemVersion="1. 0"
displayName="sourceReporter” />
JassignedEntityy
</performer>
{/observationy
</inboundRelationship>
{inboundRelationship typeCade="CAUS">
Cact classCode="ACT” mocdCode="EVN™>
<eode code="G, k. 87 codeSystem="2, 16, 840. 1, 113883, 3. 98%. 2. 1. 1. 15" codeSystemVersion="10"/>
{4~— G. k.87 Acticn(s) Taken with Drug #1 -
{Sacty
</inboundRelationship?
</substanceAdministration’
</component >
= 6.k Drugls) Information (repeat as necessary) H2 ~--»
“component typeCode="COMP™>
{substanceAdministration classCode="SBADM” meoodCode="EYN">
{d voot="68dBT5ce-3b3b—46cT-924d-60206730c3:9" />
<consumable typeCode="CSM™>



Uinstance0fRind ¢lassCode="INST">
Ckind0fProduct classCode="MMAT” determinerCode="KIND">

¢eode code="G. k. 2. 1. 2b" codeSystem="TBD-PhPID” codeSystemVersion="G. k. 2.1, 2a”/>

¢l-— G.k.2.1.2a: PhPID Version Date

L . . )

{5

/ Number #2 ——
it ) fie

srival

4y
e Gk, 2.2 Medicinal Product Name as Reporied by the Primary Scurce $2 -2
<asManufacturedProduct classCodes MANU™>
subjectOf tvpeCode="SBI™>
<approval classCode="CNTRCT" moodCodes"EVN™>
<id extension="G.k.3. 17 root="2.16.840. 1. 113883.3.989.2.1. 3.4" />
<=~ G. k. 3.1: Authorisation / Application Number #2 -—
<holder typeCode="HLD" >
<role classCode="HLD™>
<playingOrganization classCode="0RG” determinerCode="INSTANCE”>
<name>G. k. 3. 3</name>
<I-- 6.k 3.3 Neme of Holder / Applicant #2 ——>
</playingOrganizations
<frale>
</holder>
<author typeCode="AUT™>
{territorialAuthority classCode="TERR™>
Sterritory classCode="NAT” determinerCode=" INSTANCE™>
{eode code="G. k. 3.27 codeSysten="1,0.3186.1.2.27/>
{tew Gk 320 Country of Authorisation / Application #2 -
Srerritory?
{/territorialAuthority?
{/author?
<pertinentInformation typeCode="PERT">
<poliecy classCode="POLICY” moodCode="EVN">
<code code="72.5. k" codeSystem="2. 16, 840. 1. 113883.3.989.5. 1. 3. 2. 1. 47
codeSystemVersion="1, 0"/>
A @012, 5k —RAEESEOY ARG 2 —
/policy>
pertinentInformation>
{/approval>
{/subjectOf>
<subjectOf tvpeCode="SBI">
¢characteristic classCode="0BS” moodCode="EVN">
<eode code="1" codeSystem="2, 16, 840. 1. 113883, 3. 989. 5.1, 2. 2.1, 107
codeSystemVersion="1. 0" displavName="HIZEFELEOWRES"/>
<value xsi'type="CE” code="12 4. k" codeSystem="2. 16.840. 1. 113883.3,989,5.1.3.2. 1. 3"
codeSystemVersion="1.07/>
O @ERJ2. 4. % PEERGEOHIRE S #2 -5
{/eharacterigtic>
{/aubject(f>
</asManufacturedProduct>
<ingredient classCode="ACT1">
{guantitys
Cnumerator value="10" unit="G.k 2.3. 1. 3b"/>
¢l G. k. 2.3 1. % Strength (number) #2-1 —
<l—- 6. k. 2.3 r. 3b: Strength (unit} #2-1 ——
<denominator value="1"/>
</quantity>
{ingredientSubstance classCode="MMAT" determinerCode="KIND">
<code code="G. k. 2. 3. 1. 2b” codeSysten="TBD-Suhstance”
codeSystenVersion="6. k. 2. 3. 1. 2a”/>
— G.k.2.3. 1. 237 Substance / Specified Substance TermID Version Date / Number H2-1
—
b=~ G. k. 2.3 r. 2b Substance / Specified Suhstance TermiD #2-1 —>
<name>rG, k. 2. 3. r, 1</name>
' <l G k.2.3.r.1: Substance / Specified Substance Name #2-1 —>
{/ingredientSubstance>
</ingredient?
{ingredient c¢lassCode="ACTI™)
{quantity>
<numerator value="107 unit="G. k. 2. 3. 1. 3b"/>
o Gk, 2,3 1. 84 Strength (number) #2-2 —>
Iem Gk 2.3, 1. 3k Strength (unit} #2-2 —3>



{denominator value="1"/>

</quantity>

<ingredientSubstance rlassCode="MMAT” determinerCode="KIND">
<code code="G, k. 2, 3. 1. 28" codeSystem="TBD-Substance”

Ao

" fpe

< 6.k 2.3. 1. 2b Substance / Specified Substance TermID #2-2 —>
<name>G, k. 2.3, v, 1/ /name>
U= 6.k 2.3.r. 1. Substance / Specified Substance Name #2-2 -
</ingredientSubstance)
</ingredients
Ahind0fProduct>
<subjectOf typeCode="SB}">
{productEvent classCode="ACT" moodCode="EVN">
<eode code="1" codeSystem="2. 16. 840. 1. 113883, 3, 989. 2, 1, 1. 18" codeSystemVersion="1.¢"
displayName="retaiiSupply”/>
' {performer typeCode="PRE">
<assignedintity classCode="ASSIGNED”>
<{representedOrganization classCode="0RG" determinerCode="INSTANCE™ >
<addr>
{country>G. k. 2. 4</country>
<I-— 6.k 2. 4% Identification of the Country Where the Drug Was Obtained #2 -
</addr>
{/representeddrganization>
</assignedEntity>
{/performer>
</productEvent?
</sub jectOf>
<subjectlf typeCode="SRI"Y
{obgservationEvent classCodes"0BS” moodCode="EVN">
<eode code="2" codeSystem="2, 16, 840, 1. 113883, 3, 989.5.1. 3. 2. 1. 10"
codeSystenVersion="1. 0" displayName="—#FFHE SR o) A FERE"/>
{value xsi:type="CE" code="J2. 6. k" codeSvstem="2. 16.840. 1, 113883, 3. 989.5. 1. 3. 2. 15"
codeSystemVersion="1, 07/>
- @eeje 6.k —HEHEELOANFEE 2 —
{/observationEvent?
{/subjectf)
{/instancelfKind>
</consumabler
{putboundRelationship! typeCode="S8AS8">
{pauseQuantity value="10" unit="6.%k % 1.3, 1b"/>
d— 6. k.9, 3. 1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event {pumber} Drug #2, Reaction #l1—> :
I 6. k. 9.i.3.1b: Time Interval between Beginming of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction §1 -—>
{actReference classCode="0BS" moodCode="FUN">
<id root="154eh889-058b-45F2-a02f-42d446F465TF" />
{/actReference)
{/outboundRelationshipl>
<{outhoundRelationshipl typeCode="SAE">
(pauseQuantity value="10" unit="G.%. 9. i.3. 20"/
I— G.k.9.1.3 2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
{number} Drug #2, Reaction #1 —>
- 6k, 8.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
{unit) Drug #2, Reaction #1 —>
{actReference classCode="0BS” moodCode="EYN">
{id root="154ehB880-058b~45F2-a02F-42d4d6T465TT" />
{/actReference>
{/outhoundRelationshipl>
<outhoundRelationshipl typeCode="SAS">
{pausefuantity value="10" unit="G. k. 9.i.3.1b"/>
4 6.k.9.1.53.1a: Time Interval between Beginning of Drug Administration and Stari of
Reaction / Event (number) Drug #2, Reaction §2 —>
A= 6.k.9.i.3. 1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #2 -——>
<actReference classCode="0BS" moodCode="EVN">
<id rout="2baaZfdb-cBe8-4eHc-03e9-5h860b3 142207 />
{/actReference’



</nutboundRelatienshipl>
CouthoundRelationshipl typeCode="SAE">
{pauseluantity value="10" unit="G.% 9.1.3.2b"/>

3, Resotion

<1

SE Trvta hatw
funit) Drug #2, Reaction #2 —>
<actReference classCode="0BS" moodCode="EVN">
<id root="2haslRd6~cHel-4ebo-33e9-5b86003142207 />
{/actReferences
</outhoundRelationshipls
CoutboundRelationshipl typeCode="SAS">
{pauseQuantity value="107 unit="G. k. 9.1.3. 16"/
e Gk, 8103, 1a) Time Interval between Beginning of
/ BEvent (number) Drug #2, Reaction #3 ——2>
{f—= 6.k, 9.4, 3. 1b: Time Interval between Beginning of
Drug #2, Reaction #3 -
<actReference classCode="08%" moodCode="EVN">
<id root="3aBB26ch-9f 1h-deal-Ba0f—o0f £34430ad8" />
/actBeference:
</outhoundRelationshipl>
ZouthoundRelationshipt typeCode="SAE™»
{pauseQuantity value="10" unit="G.k 8. 1.3.20"/>
Gk 3 1.3 2a0 Time Interval between Last Dose of
Drug #2, Resction #3 ——>
¢l—— 6,k 9 i.3.2ht Time Interval between Last Dose of
Drug #2, Reaetion #3 >
CactReference classCode="0BS" moodCode="EVN">
¢id root="3aB626chb-0f 1h-4eal-Bali-e0f f34430adf” />
<JactRBeference>
SoutboundRelationshipld
CouthoundRelationshipl typeCode="SAS™>
<pausefuantity value="10" unit="6.k. 9.1.3.1b"/>
Q== G kB i.3.1a: Time Interval between Beginning of
Reaction / Event (number) Drug #2, Reasction #4 —2>
<Pee Gk 91,3 1h: Time Interval between Beginning of
Drug #2, Reaction f4 —->
ZactReference classCode="0BS" moodCode="EVN">
id root="2e99840f-08bA-409c-B0F F-ddB415F4f8ab” />
{factReference>
</outhoundRelationshipl>
{outhotndRelationshipl typeCode="SAE">
<pauzeQuantity value="10" unit="0.% 9.1.3.2b"/>
= 6.k 9.1.3. 2a: Time Interval between Last Dose of
(number) Brug #2, Reaction #4 -2
l-— 6.k 9.1.3.2b! Time Interval between Last Dose of
Drug #2, Reaction #4 —->
CactReference classCode="0BS” mocdCode="EVN">
<id root="2¢008401-08b4-499c-80Ff~dd8415F418a5" />
{/actReference’
</outboundRelationshipl>
{outboundRelationshipl typeCode="SAS">
<pauseQuantity value="10" unit="G, k. 9.1.3. 1b"/>
(b 6, k91,3, 1a: Time Interval between Beginning of
Remctien / Event {number)} Drug #2, Reaction £5 -—>
<I-- 6. %913 1b: Time Interval betwsen Beginning of
Brug #2, Reaction #5 —->
<actRefersnce classCode="0BS” moodCode="EVN">
{id root="1071064c-cf 10-4a3b-83c1~34f9ddb7eabd” />
¢/actReference’
<SoutboundRelationshipls
ZoutbeundRelationshipl tvpeCode="SAE">
<pauseQuantity value="10" unit="G. k. 9. 1.3.2b"/>
e G.k.9.1i.3. 23! Time Interval between Last Doge of
Drug #2, Reaction #5 —>
— 6. k.9.i.3.2b: Time Interval between Last Dose of
Drug #2, Reaction #5 -->
¢actReference classCode="0BS” moodCode="EVN">
<id root="1071064c-cf 10~4a3b-83c1-34F0ddbTeabd” />

Reaction
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(mumber)

{unit)

Reaction / Event (unit)
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funit}
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{/actReference>
{/outboundRelationshipl?
CoutboundRelationshipl typeCode="SA8")

<pauseQuantity value="10" unit="G. k. 8. 1.3 1b*/>

e Gl %048 dsl Time Intevval bet inni

By

SE

g . b >
¢t~ 6. k.G i.3.1b: Time Interval between Beginning of
Drug #2, Reaction ¥6 —»
{actReference classCode="0BS” moodCode="EYN">
<id root="|f927283-10h6-4334-0d43~e025640Fb18E" />
</actReference)
</outhoundRelationshipl>
<{outhoundRelationshipl typeCode="SAE">
{pauzseQuantity value="10" unit="6. k. 9.1.3.2h"/>
= 6.k 9.i.3.2a: Time Interval between Last Dose of
Drug #2, Reaction #6 ——»
<=~ G.% 9.i.3.2b: Time Interval between Last Dose of
Reaction #6 ——>
CactReference classCode="0BS” woodCode="EVN">
{id root=" 1f927283~10b6-4334-9d43-e925640fb18E" />
</actReferencer
</outboundRelationshipl»
{outhoundRelztionship! typeCode="SAS">
{pauseQuantity value="10" unit="6. % 8. 1.3 1b"/>
<I— G.k. 9,3, 3 la: Time Interval between Beginning of
Reaction / Event (number) Drug #2, Reaction ®7 -->
1= G. k.9 i.3.1b: Time Interval between Beginning of
Drug H2, Reaction 87 —-»
<actReference classCode="0BS” moodCode="EVN">
<id root="e(342969-38be-423fbbhb-celdbe279dBe” />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAR">
“pauseQuantity value="10" unit="G.k 6.1.3.2b"/>
<b-- G, k.9.i.3.2a: Time Interval betwsen Last Dose of
Drug 42, Reaction #7 —>
<l Gk 9.1.3.2b: Time Interval between lLast Dose of
bDrug #2, Reaction #7 -->
<actReference classCode="0BS" moodCode="EYN">
<id root="e0342960-38be~423f~bbbb-celdbo270d8e” />
{/actReferenced
</outboundRelationshipl>
<otthoundRelatianship! typeCode="SAS">
{pavseQuantity value="10" unit="0 k. 9.1i.3.1b"/>
1= (k. 9.1.3.1a: Time Interval between Beginning of
Reaction / Event (number) Drug #2, Reaction #8 —>
== 6. k.9, i 3. 1b’ Time Interval between Beginning of
Drug #2, Reaction #8 -
{actReference classCode="0BS” moodCode="EVN">
d root="albbedd2-B0T0-426d-af04-6863263443e0” />
{/actReference’
</outhoundRelationshipl>
{outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="0.k. 9. i. 3. 2"/
t-- 6.%9,1.3 2a7 Time Interval between Last Dose of
Drug #2, Reaction #8 ——>
- G.%.9.1.3.2b" Time Interval between Last Dose of Drug
Drug #2, Reaction #R —>
CactReference classCode="0BS” moodCode="EVN">
<id reot="al5be092-8070~426d-af04-6863263443e07 />
{/actReference’
</outboundRelationshipl?
{outboundRelationship2 typeCode="PERT">»
{observation classCode="0BS” moodCode="EVN">
{eode code="8" codeSystem="2. 16. 840. 1. 113883, 3, 689, 2. L. 1.

R CT LGN

Drug

Reaction / Event (unit)

Drug
{number}

Drug

{unit) Drug #2,

Drug

Drug
Reaction / Event {unit)

Urug
{number)
Drug
{unit)

Prug

Prug
Reaction / Event {unit)}

brug
{number)

{unit)

displayName="blinded”/>
{yalue xsi'type="8L" value="true"/>
== 6.k 2.5 Investigational Product Blinded £2 -~}
</chservation>

Administration and Start of

and Start of Reaction / Bvent

and Start of Reaction / Event

Administration and Start of

Administration and Start of

and Start of Reaction / Event

and Start of Reaction / Event

Administration and Start of

Administration and Start of

and Start of Reactien / Event

and Start of Reaction / Event

197 codeSystemVersion="1.1"



{outboundRelationship2y

<outhoundRelationship? typeCode="COMP™>
¢lem G k. 4.r : Dosage and Relevant Information (repeat as necessary) H#2-1 >
{substanceAdministration classCode="SBADM” moodCode="EVN">

N

L

T3

L Bl 4 r ¥ il LT
deffectiveTime xsiitype="IVI_
<low value="200001017/>
A 6, % 4, 1.4: Date and Time of Start of Drug #2-1 -—>
<high value="20080101"/>
- 6.k 4.v. 5 Pate and Time of Last Administration #2-1 -5
feffectiveTime>
<routeCade code="G. k. 4. 1. 10, 2b" codeSystem="2. 16. 840, 1, 113885, 3.980. 2. 1. 1. 147
codeSystemVersion="6. k. 4. r. 10, 227>
<l— G.k 4.r. 10, 2a: Route of Administration TermID Version Date / Number #2-1 -2
l=- G.k.4.r.10.2b: Route of Administration Termih #2-1 —>
CoriginalText>G ko 4. r. 10, 1</originalText?
¢lem G k. 4.r.10.1: Route of Administration {free text} #2-1 -
<ronteCode?
¢doseQuantity value="10" unit="G. k. 4. 71.1b"/>
- Gk 41, 12 Dose (pumber} #2-1 -
<-- G.k. 4.r. 1b: Dose {funit) #2-1 ——2
<eonsumable typeCode="CSM™>
<instance0fKind classCode="INST">
‘productInstancelnstance classCode="MMAT” determinerCade="INSTANCE™>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
Zle— G k. 4.r. 7. Bateh / Lot Nupber #2-1 —->
</productinstancelnstancer
indOfProduct classCode="MMAT determinerCode="KIND”>
¢fornCode code="G. k. 4. r. B 20" codeSysten="TBD-DoseForm”
codeSystemVersion="C. k. 4.r. 9.2a">
(l== G,k 4. r. 9 Z2a’ Pharmaceutical Dose Form TermID Version Date / Number #2-1 -->
cl— G k. 4.r.9.2b: Pharmaceutical Dose Form TermlD #2-1 —>
<originalText>G. k. 4. 1.9, 1</originalText>
<l 6.k 4.r. 9.1 Pharmaceutical Dose Form (free text) #2-1 >
</ FormCode>
{kindOfProduct?
</instance0fKind>
/consumzble>
<inboundRelationship typeCode="REFR™>
<ohservation classCode=CBS” moodCode="EVN™>
¢code code="28" codeSystem="2. 16.840. 1. 113883, 3,989, 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName:”parentRouteOfAdministratiDn"/>
<yalue xsiitype="CE” code="6.k. 4.r. 11. 2b" codeSysten="2. 16. 840, 1, 113883, 3,980, 2. 1. 1. 14”7
codeSystemVersion="G. k. 4. 1. 11. 2a"% .
{ie— Gk 4.7 11.2a° Parent Route of Administration TermID Version Date / Number #2-1
-2
¢lee G k. 4.v.11.2b: Parent Route of Administration TermID #2-1 -~
CoriginalText>G. k. 4 r. 11, 1</ original Text?
<= G.k 4.1, 11, 1 Parent Route of Administration {free text) #2-1 —>
</value>
{/ohservationy
</inboundRelationship>
{/substanceAdministration?
{/outboundRelationship2?
<outboundRelationship? typeCede="COMP">
¢f=- 6.k 4.1: Dosage and Relevant Information {repeat as necessary) #2-2 ——>
<substanceAdministration classCode="SBADM” moodCode="EVN™>
Ltext>G o k. 4. v, 8/ text?
<= G.k. 4.r. 8 Dosage Text #2-2 -->
CeffectiveTime xsi:type="IVL_TS">
Clow value="200001017/>
i~ G.k. 4. r.4: Date and Time of Start of Drug #2-2 -->
cwidth value="4" unit="G. k 4.r. 667/
<l G, %, 4. 1. 6a: Duration of Drug Administration (number) #2-2 —->
¢lwm 6.% 4. 1.6 Duration of Drug Administration (unit} #2-2 —->
{feffectivelime>
<routeCode code="G.k 4 t. 10. 2b" codeSystem="2. 16. 840. 1. 113883. 3. 089, 2. 1. 1. 14"
codeSystenVersion="G. k. 4. r. 10. 2a">



<l-- Gk 4.r 10, 2a7 Route of Administration TermlID Version Date / Number #2-2 —>
<= Gk 4.r 10,26 Route of Administration TerwID #2-2 —>
{originalText>C. k. 4. r. 16. 1</originalText

U= 6.k 4. 1. 10. 10 Route of Administration (free text) #2-2 -->

T undes "Gk dpL 16T
-Gk 4.1, 13 Dose (number) H2-2 ~—>
e Gk 4or. 1b Dose f{unit) #2-2 -—
<{congumable typeCode="CSM">
(instance(flind classCode="INST™>
<{productinstancelnstance class€ode="MMAT" determinerfode="TNSTANCE">
ClotNumberText>G, k. 4. r. 7¢/1otNumber Text>
o= Gk 4.r. 7 Batch / Lot Number #2-2 -~
</productinstancelnstance’
<kinddfProduct classCode="MMAT™ determinerCode="KIND™>
formCode code="G. k. 4. 1.9, 2b” codeSysten="TBDDogeForn”

Cdogeluantity value

codeSystenVersion="G. k. 4, r. 9, 2a™>
: == G, k. 4. r. 9 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-2 >
<= Gk 4.7.9.2b: Pharmeceutical Dose Form TermID $2-2 ——3
{originalText?G. k. 4. r. 9. 1< originalText>
‘b= 6,% 4.1 9.1 Pharmaceutical Dose Form {free text) #2-2 -—-»
{fformEoder
</kind0fProduct>
</instanceGrEind>
/consumabler
<inboundRelationship typeCode="REFR™>
{observation classCode="085" moodCode="EVN">
<code code="28" codeSystem="2.16. 840, 1, 113883, 3,989. 2. 1. 1. 19" codeSystemVersion="1. 1”
displayName="parentRouteCfAdministration™/>
<value xsi:type="CE" code="G. k. 4.r. 1L 2b" codeSyster="2. 16.840. 1. 113883, 3. 086. 2. [. 1. 14"
codeSystemVersion="G. k. 4. r. {1. 2a">

= G.k.4.7.11.2a% Parent Route of Administration TermID Version Date / Number #2-2
-3
== G, k. 4. 7. 11.2b: Parent Route of Administration TermID #2-2 -3
<originalText>G. k. 4. r. 11. 1</originalTexty
<!-- 6.k 4. r. 11, 1! Parent Route of Administration (free text) H2-2 ——>
{fvalue>
“/observation>
</inboundRelationship>
</substanceddninistration?
</outboundRelationshiply
{outboundRelationship2 typeCode="COMP™> )
<l-= G. k. 4.1r: Dosage and Relevant Information (repeat as necessary) #2-3 —-» ‘
{substanceAdministration classCode="SBADM moodCode="EVN"3: !
{text>G. k. 4. 1. 8/ text>
== G k. 4.1, 8 Dosage Text #2-3 —>
effectiveTime xsi:type="IVL_TS™
<width value="4" unit="G, k. 4.r. 6b"/>
I~ 6.k 4,7, 6a: Duration of Drug Administration (number} H2-3 -—>
<l-— G.k. 4.7, 6b: Duraticn of Drug Administration (unit) #2-3 —>
<high value="20080101"/>
I== G k.4.r. 51 Date and Time of Last Administration 2-3 —>
JeffectiveTime>
<routeCode vode="G k. 4.r.10.2b" codeSysten="2. 16. 840. 1. 113883, 3.989. 2. 1. 1. 14"
codeSystenVersion="G. k. 4. 1. 10, 22>
I G.k.4.v. 10, 2a: Route of Administration TermlD Version Date / Number #2-3 -->
I~ G k. 4.r.10. Zb: Route of Administration TermlID #2-3 —>
SoriginaliText>G. k. 4.1, 10. 1</originalText>
<i== 6.k 4. r. 10,11 Route of Administration (free text) H2-3 —>
{frouteCoder
<deoseQuantity value="10" unit="G. k. 4. r. 1"/>
<t~ G.k.4.1.1a Dose (number) #2-3 -->
< G k. 4. 1. 1b: Dose {upity #2-3 —>
Cconsumable typeCode="CSM">
<instance0fKind classCode="INST”>
<productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
ClotNumberText>G. k. 4. r. T</1otNumberText>
d-— 6.k 4. 1.7 Batch / Lot Number #2-3 -3
<preductinstancelnstanced



<kindOfProduct classCode="MMAT” determinerCode="KIND">
formCode code="G. k. 4. 1.9. 2b" codeSystem="TBD-DoseForn”
codeSystemVersion="G. k. 4. r. 9. 2a">
- G. %k 4. r.9 2a’ Pharmsceutical Dose Form TermID Version Date / Number #$2-3 —>

e G4y iH E2-3

G.k.4.1.9 1! Pharmaceutical Dose Form (free text) #2-3 -3
</formCode>
CidndHProduct >
<finstanceOfKind>
</eonmsumahier
<inboundRelationship typeCode="REFR">
Cobservation classCode="0BS" mocdCode="EVN">
¢eode code="28" codeSystem="2. 16.540. 1. 113883, 3, 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displavName="parentRouteQfAdministration”/>
<value xsi:tlype="CE" code="G.k 4, r. 11, Zb” codeSystem="2. 16. 840. 1. 113883. 3. 989, 2.1, 1. 14”7
codeSystemVersion="G. k 4 r. 11. 2a">
' e Gk 4.1 11, Zat Parent Route of Administration TermID Version Date / Number #2-3
-3
<f== G.k.4.7.11.2b: Parent Route of Administration TermID #2-3 —->
originalText>G. k. 4. v. 1), 1</originalText>
¢t~ G k.4 r. 11.1: Parent Route of Administration (free text) #2-3 ——
<fvalue>
</observation>
</inboundRelationship>
{/substanceddministration?
</outboundRelationship2>
<outboundRelationship? typeCode="COMP™>
¢l=- G. k. 4.r: Dosage and Relevant Information (repeat as necessary) #2-4 ——>
¢substanceAdministration classCode="SBADM” mondCode="EVN">
Ctext>G k4o 8 textd
A Gk 4. 1.8 Dosage Text #2-4 —>
CeffectiveTime xsi:type="SKPR_TS™>
<eomp xsi:type= PIVL TS">
¢period value="10" unit="6. k. 4. r.3"/>
<l=- G k. 4.r.2: Number of Units in the Interval #2-4 ——>
<t-— G k. 4.r.3: Definition of the Time Interval Unit #2-4 —>
<Aoompr
{comp xs5iitype="IVL_TS" operator="4">
Jow value="200901017/>
<l G k. 4. 1. 4! Date and Time of Start of Drug #2-4 —>
</compr
SeffectiveTime?
routelode code="G. k. 4. r. 10. 2b” codeSysten="2. 16. 840. 1. 113883. 3. 984, 2, 1. 1, 14"
codeSystemVersion="G. k. 4. r. 10, 22>
<=— k. 4.r.10. 2a: Route of Administration TermlD Version Date / Number #2-4 ~—>
<lem Gk 4.1, 100200 Route of Administration TermID #2-4 -
CoriginalText»G. k. 4.r. 10, i</originalText>
<!-- G.k.4.r. 10. 1 Route of Administration {free text) #2-4 --»
</routeCoded
{doseQuantity value="10" unit="G.k 4.1r. 1b"/>
I-— 6.k 4. r. ta Dose (number) #2-4 —>
== G k. 4. 7. 1b: Dose {unit) #2-4 ~->
Cconsumable typeCode="CSH">
<instanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
{JotNumberText»G, k. 4. r. 74/ lotNumberText>
== 6.k 4. r. 70 Batch / Lot Number #2-4 —>
</productInstancelnstance>
deind0fProduct classCode="MMAT” determinerCode="KIND™>
FormCode code="6, k. 4.r.9.2b” codeSysten="TBD-DoseForm”
codeSystemVersion="6 k. 4. r. 9. 2a”>
(I~ G. k.4 r.9.2a! Pharmaceutical Dose Form TermID Version Date / Number #2-4 —>
<I— G. k. 4. 1.9 2b Pharmaceutical Dose Form TermiD #2-4 -—>
- CoriginalText>G. k. 4. r. 9. 1¢/originalText>
<t~ G k.4 r, 9 1: Pharmaceutical Dose Form (free text) #2-4 —>
¢ formCode
{/kind0fProduct>
</instance0fKind>



</vonsumahley
<inboundRelationship typeCode="REFR™>
Cehservation classCode="0BS" moodCode="FVN">
{eode code="28" codeSystem="2, 16. §40. 1. 113883, 3. 989. 2. 1. 1. 15" codeSystemVersion="1. 1"

codeSystenVersion="G. k. 4, r. 11, 2a™>
=Gk 4.1 11.2a: Pavent Route of Administration TermID Version Date / Number #2-4
_— .
== G.k 4.7, 11. 2b: Parent Route of Administration TermID #2-4 —>
originalText>G. k. 4. r. 11. 1{/originalText>
== Gk 4.r. 1111 Parent Route of Administration (free text) #2-4 —>
<value>
{/obgervation>
{/inboundRelationship>
{/substanceAdministrationr
</outboundRelationship2>
<otthoundRelationship2 typeCode="COMP™>
I G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-5 -
(substanceAdministration classCode="SBAIM” moodCode="EVN™>
{text»Go k. 4. r. 8/ text>
- Gk 4or B0 Dosage Text H2-5 -3
{effectiveTime xsi:type="SXPR_TS™>
Zcomp xsiitype="PIVL_TS">
<period value="10" unit="G. k. 4.1.3"/>
<= Gk 4.r. 20 Number of Units in the Interval #2-5 ——»
== Gk 4.r.3: Definition of the Time Interval Unit #2-5 ——>
</rompd
<comp xsiitvpe="IVL_TS” operator="A">
<high value="200901061"/>
== G. k4. r.5: Date and Time of Last Administration #2-5 ~>
</compy
SeffectiveTime>
CrouteCode code="G. k, 4. r. 10. 2b” codeSystem="2. 16. 840. 1. 113883, 2,089, 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 10. 2a”>
-= ik 4.1.10. 220 Route of Adpinistration TermID Version Date / Number #2-5 —>
<i— G.k.4.r. 10. 2b: Route of Administration TermID #2-5 —»
{originalText>G. k. 4. r. 10. 1</original Text>
1-- 6.k 4.r. 10.1: Route of Administration (free text) H2-§ —>
{rovtelCoded
{dose@uantity value="10" unit="6 k. 4. r. 16"/
d-- G k. 4. r 1a Dose {(number) H2-5 -->
A Gk 4. 7. 1b: Dose (unit) #2-5 -
<consumable typeCode="CSH">
(instance(f¥ind classCode="INST">
{productinstancelnstance classCode="MMAT" determinerfode="INSTANCE">
<lotNumberText>6. k. 4. r. 7</lotNamber Text}
-~ 6.k 4.r.7: Batch / Lot Number #2-5 -->
</productlnstancelnstance>
<kind0fProduct classCode="MMAT” determinerCode="KIND™>
formCode code="G. k. 4.1.9. 20" codeSvsten="TBD-DoseForn”
codeSystemVersion="G. &, 4. r. 9. 2a”>
<l-- G.k.4.r.9. 23 Pharmaceutical Dose Form TermID Version Date / Numher #2-5 —->»
A 6. k. 4.v. 9. 2b° Pharmaceutical Dose Form Termll #2-5 —>
CoriginalText>6. k. 4. 1. 9. 1</originalText>
l- 6.k 4.r.9. 17 Pharmaceutical Dose Form (free text) #3-5 ——»
<HHormCoder
</ indOfProduct?
</instencelfKind>
</vonsumable>
{inboundRelationship tvpeCode="REFR":
Cobservation classCode="0BS” moodCode="EVN™>
{code codes"Z8” codeSystem="2. 16.840. 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRouteGfAdministration”/>
{value xsiitype="CE" code="G. k. 4. r. 11, 2b" codeSystem="2. 16. 840, 1, 113893.3.980. 2. 1. 1. 14”
codeSystemVersion="G. k. 4. r. 11, 2a™>
<I-- G. k.4 r.11.2a: Parent Route of Administration TermiD Version Date / Number #2-5
3
<i—— G.k. 4. 1. 11.2b: Parent Route of Administration TermID #2-§ —-3



CoriginalText>G k. 4. r. 11 1< original Text>
¢le= G. k. 4.r.11.1: Parent Route of Administration {free text) #2-5 —->
</valuer
{/observationy
t

o/ e %
</outhoundRelationship2>
<outhoundRelationship2 typeCode="COMP">

o Gk 4. r: Dosage and Relevant Information (repeat as necessary) #2-6 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{textrGk 4or 84 texty
(- Gk 4 r. 8 Dosage Text #2-6 -5
CeffectiveTime xsi type="SXPR_TS">
Ccomp xsiltype= PIVL_FS™»
<pericd value= 107 unit="G. k. 4.v.3°/> )
<t Gk 4,1, 20 Number of Units in the Interval #2-6 —7>
= Gl 4.1 30 Definition of the Time Interval Unit #2-6 ——
</ compy
<comp xsiitype= IVL_TS” operator="A">
<width value="4" upit="6.k 4. r.8h"/>
<i-- G.k 4.r. 62 Duration of Drug Administration (number) E2-6 —->
<J-- 6.k 4. 1. 6b: Duration of Drug Administration (unit) #2-6 -->
</oompr
feffectivelime>
SrouteCode code="G. k. 4. 1. 10. 2b” codeSystem="2. 16, 840, 1, 113883, 3.980. 2. 1. 1. 14"
codeSystenVersion="G. k. 4. r. 10.2a™>
-~ Gk 4. r. 10, 23 Route of Administration TermiD Version Date / Number #2-6 ——>
<J-— G k.4.r. 10, 2b: Route of Administration TermlD #2-6 —>
<originalText>G. k. 4. r. 10, 1</originaiText?
- 6. k.4.r. 10, 1: Route of Administration (free text) #2-6 ——>
</routeCode> '
{dnseQuantity value="10" unit="G. k. 4. r.1b"/>
e 6% 4 r, La Dose {number) #2-6 >
e Gk d.r.1h: Dose {unit) #2-6 ~—>
<cansumzble typeCode="CSM">
<instance(fKind classCode="1NST">
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
CletNumberText>G. k. 4. r. 7</TotNumberText>
<I-— G. k. 4.r. 7. Bateh / Lot Number #2-6 —->
</productinstanceInstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND™>
formCode code="0. k. 4. 1. 9. 25" codeSystem="TBD-DoseForm”
codeSystenVersion="G. k. 4. r. 9. 2a”>
Ctow k.4 1. 9. 237 Pharmaceutical Dose Form TermlID Version Date / Number #2-8 —>
{I— G. k. 4.1r.9.2b! Pharmaceutical Dose Form TermID H2-6 —> )
<originalText>G. k. 4. r. 9. 1</originalText>
e Gk 4. r. 9 10 Pharmaceutical Dose Form (free text) #2-6 ~->
</ formCode>
CSkindOfProduct >
</instance0fKind>
</consumable>
{inboundRelationship tvpeCode="REFR">
Cobservation classCode="0BS" meodCode="EYN™>
{code code="28" codeSystem="2. 16.840. 1. 113883, 3, 989. 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”/>
<value xsiitype="CE” code="6. k. 4. r. 11. 2b" codeSysten="2. 16. 840. 1. 113883.3. 489, 2. 1. 1. 14”7
codeSystenVersion="C. k. 4. r. 11. 2a”>
<l— 6.k 4. r. 11 2a! Parent Houte of Administration TermID Version Date / Number #2-6
—>
I— G k. 4.r. 11. 2b: Parent Route of Adminisiration TermID #2-6 —>
<originalText>G. k. 4. r. I1. t</originalText>
¢bee Gk 4.1, 11010 Parent Route of Adwministration (free text) #2-6 -
</value>
</observation?
</inboundRelationship>
{/substanceAdministration”
</outhoundRelationship2>
<outboundRelationship? typeCode="COMP">
<t— G k.4.r! Dosage and Relevant Information (repeat as necessary} #2-7 —>



“substanceddministration classCode="SBADM” moodCode="EVN">
Ctext> k4. r. 8¢/ text>
I~ G. k. 4.71. 8 Dosage Text #2-7 -
<effectiveTime xsi:type="PIVL_TS™>
Speriod it Gk 4
slee Golod v 20 Nomber of Units
e Gk 4. 1. 37 Definition of the
<SeffectiveTime
<routeCode code="G.k. 4. r. 10. 2b" codeSysten="2. 16. 840, 1. {13883, 3,089, 2. 1. 1. 14"
codeSystenVersion="G. k. 4. v, 10, 22"
dem Goko4or. 10,220 Route of Administration Term!D Version Date / Number #2-7 ——3
== G,k 4. 7. 10.2b: Route of Administration TermlD B2-7 -->
{originalText»G. k. 4. r. 10, 1</originalText>
A== Gk 4. r.10.1 Route of Administration (Free text) #2-7 —->
“/routeCode>
{dosefuantity value="10" unit="6.k 4.1, 1b"/>
<I-- 6.k 4.r. 15 Dose (number} #2-7 —>
<he- Gk 4or.ihe Dose {unit) #2-7 —-»
{consumable typeCode="CSM">
<instance0fKind classCode="INST">
{productlnstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
<lotMumberText>G. k. 4. r. 7</lotNumberTex >
== G k. 4.r. 7! Batch / Lot Number #2-7 -
<productinstance Instance)
CkindOfProduct classCode="MMAT™ determinerCode="KIND">
{fermCode eode="G. k. 4.r. 9. 2b" codeSystem="TBD-DoseForm”

sy o
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¢ {otervel -7 -3

Time Interval Unit #2-7 —>

codeSystenVersion="G. k. 4.r. 9. 2a”>
<t— G k. 4.r. 9 2a Pharmaceutical Dose Form TermlD Version Date / Number #2-7 -+»
<b-— 6. k. 4.r.9. 2b: Pharmaceutical Dose Form Termib #2-7 ——>
originalText>G. k. 4. r. 9. 1/originalText>
U— G k.4 r. 8. 1! Pharmaceutical Dose Form (free text) #2-7 -3
</formCode>
<kindOfProduct?
</instanceOfKind>
</consumabler
{inboundRelationship tvpeCode="REFR™>
{obgervation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2. 16. 840, 1, 1138%3. 3.988. 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="parentRouteOfAdministration” />
<value xsiitype="CE" code="G.k 4.r.11.2b" codeSystem="2, 15. 840. 1. 113883. 3. 98%. 2. 1. 1.14"
codeSystemVersion="G. k. 4. r. 11. 2a">
== Gk 4.r, 1122 Parent Route of Administration TermlD Version Date / Number #2-7
—>
b G k. 4. r. 11. 250 Parent Route of Administration TermID #2-7 —-3
<oiigina]Text>G.k.4.r.11.1</originalText>
o= Gk 4. 1. 11, 1: Parent Route of Administration {free text) H#2-F -3
{/value>
{/vhservation»
</inboundRelationship>
</substanceddministration>
</outhoundRelationship2>
{outhoundRelationship? typeCode="COMP">
<~ G. k. 4.r: Dosage and Relevant Information (repeat as necessarv) E2-8 --3»
<{stbstanceAdministration classCode="SBADM" moodCode="EVN">
{text Gk 4or 84/text>
U=~ G k. 4.1, 8 Dosage Text #2-8 -—>
effectivelime xsi:type="IVL_T§8">
<low value="20090101"/>
- 6.k 4.r.4: Date and Time of Start of Drug #2-8 ~-)
<SfeffectiveTimes
<rotteCode code="6. k. 4.r.10. 2b” codeSvstem="2. 16. 840, 1. 113683, 3,989, 2. 1. 1. 14”7
codeSystemVersion="G. k. 4. r. IG. 2a™>
<=~ 6.k 4.7.10. 23 Route of Administration TermlD Version Date / Number #2-8 -
(Fow G k4.1 10, 2b0 Route of Administration TermlD #2-8 ——>
CoriginalText>G. ko4 v, 10, 1</original Text>
{1=- 6.k 4.7.10. 17 Route of Administration (free text) #2-8 —
<SrouteCoder
<doseQuantity value="10" unit="6.k 4.r. 1b"/>
<= G k.4 r. 1a Dose {nupber) #2-8 ~->



¢1—- G. ¥ 4.r.1h: Dose (unit) #2-§ -
<consumable typeCode="CSM" >
<instanceDflind classCode="INST">
ancelnstance classCode="MMAT” determinerCode="INSTANCE™>

P S N

kindOfProduct classCode="MMAT™ determinerCode="KIND™>
<formCede code="G. k. 4. 1. 9. 2b” codeSystem="TBD-BoseForn”
codeSystemVersion="G. k. 4.r. 9. 2a">
¢hew G k. 4. 1.9 2a: Pharmaceutical Dose Form TermlD Version Date / Number #2-8 —-3
o= G,k 4. r. 9. 2b Pharmaceutical Dose Form TermID #2-8 -->
<originalTextsG, k. 4, r. 8. 1</ originalText?
¢l—— 6.k 4.r. 2. 1° Pharmaceutical Dose Form {free text) #Z-8 -—>
/fornCode?
{/kind0fProduct>
</instanceOfKind>
</consumshle>
inboundRelationship typeCode="REFR™>
<observation classCode="0BS” moodCode="EVN">
¢eode code="28" codeSystem="2. 16, 840. 1. 113883.3,680. 2.1. 1. 19" codeSystemVersion="1. 1"
displayName="parentRouteCTAdministration”/>
<value xsi:type="CE” code="G.k. 4. 1. 11, 2b" codeSystem="2.16. 840, 1. 113883.3.984.2, 1. 1. 147
codeSystenVersion="0C.k. 4. r. 11. 2a"™>
= G. k. 4. r. 11, 2a: Parent Route of Administration TermID Version Date / Number #2-8
—2
- G k. 4.v. 11, 2b: Parent Route of Administration TermID #2-8 —->
originalTextrG, k. 4. 1. 11 1</original Text>
¢l G k.4.r.11. 1! Parent Route of Administration (free text) #2-8 -—»
</valuer
{fohservationy
</inboundRelationship>
</substanceAdninistration?
<foutboundRelationship2s
<outboundRelaticnship? typeCode="COMP”>
¢l—— G. k. 4.r: Dosage and Relevant Information (repeat as necessary) #2-4 -
{substanceAdministration classCode="SBADM" moodCode="EVN">
Ctext»G. k. 4. r. 8¢/ text2
(== G k.4 1.8 Dosage Text #2-9 —>
<effectiveTime xsiitype= IVL_TS">
<high value="200901017/>
¢t~ Gok.4.r. 50 Date apd Time of Last Administration #2-9 -
Ceffectivelimer
<reuteCode code="G, k. 4.¥. 10. 2b” codeSystem="2. 16, B840, 1. 113883. 3. 989. 2. 1. 1. 14"
codeSystemVersion="G, k. 4. r. 10. 2a">
<l—— G. k.4 r.10.2a° Route of Administration TermlID Version Date / Number ¥2-9 -~
<l Goko4, 1. 10.2bt Route of Administration TermID §2-3 ——>
{originalText>G. k. 4.1, 10, 1</originalText>
<l=— G.k 4.r.10.1: Route of Administration (free text) #2-9 -—>
</routeCoder
{doseQuantity value="10" upnit="6.k. 4. r. 1b"/>
¢t-— G, k. 4.r. la Dose (number) #2-9 -->
<l G.k 4.1. 1b: Dose {unit) #2-9 -->
Ceonsumable typeCode="CSM">
Zinstance(fKind elassCode="INST"> .
¢productInstancelnstance classCode="MMAT” determinerCode="JNSTANCE™>
<lotNumberTextrG. k. 4. r. 7{/lotNumberText>
-6,k 4. 7. 70 Bateh / Lot Number #2-9 -—>
</productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{FornCode code="6. k. 4.r.0.2b" codeSystem="TRD-DoseForm”
codeSystemVersion="G. k. 4. ¢ %, 22>
{le= Gk, 4.r.9.2a. Pharmaceutical Dose Form TermlD Version Date / Number #2-9 —>
¢l— G.k. 4.1, 9. 2b: Pharmaceutical Dose Form TermID #2-9 —>
<originalText>G k. 4. 1. 9. 1/ originalText>
<t~ 6.k 4.r. 9. 1! Pharmaceutical Dose Form (free text) #2-9% —>
</fornCode>
</kinddfProduct>
</instanceQfKind>



{/ronsumable>
{inboundRelationship typeCode="REFR™>
<observation classCode="0BS" moodCode="EVN">
{code code="28" codeSystem="2. 16.840. 1. 113883, 2. 989, 2. 1. 1, 19" codeSystemVersion="1. 1"

riatrati
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codeSystemVersion="6. k. 4. r. 11. 28"
<f-= G.k. 4.1 11.2a’ Parent Route of Administration TermID Version Date / Number #2-9
-
I Gl 4.r. 112k Parent Route of Administration TermID #2-9 --»
foriginalText>G ko 4 r. 11 I</originalText>
== Gko4.r 11,17 Parent Route of Administration {free text) #2-9 —>
Svainer
</observation?
</inboundRelationship>
{/substanceAdministration?
</outboundRelationship2>
<outboundRelationship? typeCode="COMP™>
== G k 4.1 Dosage und Relevant Information (repeat as necessary) #2-10 -—>
{substanceAdministration classCode="SBADM” moodCode="FYN">
Ctext . k. 4. 1. 84/ text>
A== Gk 4 r. 8 Dosage Text BZ-10 -—>
CeffectiveTime xsiitype="IVL_T5">
<width value="4" unit="G.k 4.r. 6b"/>
A== G ko dr. Ba: Duration of Drug Administration (number) #2-10 —3
<= Gk 4. r. 6b: Duration of Drug Administration {unit) #2-10 -—>
feffectiveTimen
<routeCode code="G. k. 4.r. 10. 20" codeSystem="2. 16. 840, 1, 113883, 3,980, 2. 1. 1. 14"
codeSystemVersion="G. k 4. r. 10, 2a”>
1= G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #2-10 ——>
<I— G k.4, 7. 10. 20 Route of Administration TermlD #2-10 ——»
CoriginalText>6. k. 4.r. 10. 1</originalText>
= Gk 4. v ML LD Route of Administration (free text) #2-10 —>
</routeCode>
{doseQuantity value="10" unit="G. k. 4.r. 1b"/>
I G.k 4.r. 12 Dose (number) H2-10 —-»
=Gk 4. r. 1b: Dose (unit) #2-10 >
<consimable typeCade="CSK™>
{instanceOfKind classCade="INST">
{productInstancelnstance classCode="MMAT™ determinerCode="INSTANCE”>
JotNumberText>G. k. 4. r. 7</lotNumberText)
— G.k.4.r.7: Batch / Lot Number #3~10 —
{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND™>
<{formCode code="G. k. 4.r. 9. 2b” codeSysten="TBD-DoseForm”
codeSystenVersion="G. k. 4. 1. 9. 2a">
< 6 k. 4.1.9. 23 Pharmaceutical Dose Form TermiD Version Date / Number B2-10 ——»
= G k.4 1.9 2b! Pharmaceutical Dose Form TermID #2-10 ——>
{originalText>G. k. 4. r. 9. I</originalText>
<t~ Gk 4.r.9.1: Pharmaceutical Dose Form (Free text) #2-10 ——»
</formCode>
rindOfProduct>
{/instanceOfKind>
</consumable>
<inboundRelationship typeCode="REFR”>
<{chservation classCode="0BS" moodCode="EVN">
<code code="28" codeSystem="2. 16, 840. 1. 113883. 3. 989, 2. 1. 1. 19”7 codeSystemVersion="1. 1"
displayName="parentRoutedfAdninistration”/>
Cvalue xsiitype="(E” code="G. k. 4. 1. 11. 2b” codeSystem="2. 16. 840. 1. 113883, 5. 989, 2. 1, 1. 14"
codeSystemVersion="6. k. 4. r. 11, 2a™>
<I-- G k.4.r.11,2a: Parent Route of Administration TermID Version Date / Number H2-10
—>
1= G.k.4.1.11.2b: Parent Route of Administration Termil #2-10 —>
{originalText>G. k. 4. r. 11. 1</original Text>
- Gk 4.r.15.1: Parent Route of Administration (free text) #2-10 —>
<Avalue?y
{/observation>
</inboundRelationship>
</substanceAdministration?



</outboundRelationshipZ>
{outhoundRelationship? typeCode="SUMM™>
{ohservation classCode="0BS" moodCode="EVN">
Ceode code="14" codeSystem="2. 16. 840. 1. 113883, 3, 989.2.1. 1. 19" codeSystemVersion="1. 17

wnine xalitypes PR v 67 unitE"G
<l=- G. k. Ba: Cumulative Dose to First Reaction {number) #2 —->
<!=- 6.k 5b: Cumulative Dose to First Resction {unit) ®2 -->
</observation
</outboundRelationship2>
<outhoundRelationshipZ tvpeCode="PERT™>
<observation classCode="0BS"” moodCode="EVN">
) {ende code="16" codeSystem="2. 16. 840. 1. 113883.3.98%. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="gestationPeriod”/>
(value xsi:type="PG" value="10" unit="G.k 6b"/>
<i-— G.k.6a: Gestation Period at Time of Exposure (pumber) #2 -->
<b-— G. k. 6b! Gestation Period at Time of Exposure {unit} #2 -3
</observation>
</outhoundRelationshipZ>
<autbeundRelationship? typeCode="PERT">
<ohservation classCode="0BS” moodCode="EVN">
<code code="31" codeSystem="2. 16. 840. 1. 113883, 3, 889. 2, 1, 1, 19" codeSystemYersion="1.1"
displayName="recurranceOfReaction”/>
<value xsiitype="CE" code="G. k. 9.1.4" codeSystem="2.16.840. 1. 113883, 3.989.2. 1. 1. 18"
codeSystemVersion="1. 07/
<I-- G.k.©.1i.4: Did Reaction Recur on Re—administration? Drug &2, Reaction #1 —>
<outhoundRelationshipl typeCode="REFR”>
<actReference classCode="0BS" moodCode="EVN">
{id root="154eb889-058b~4bF2-n02f-4244d6£4657f" /> '
<{/actReference>
</outboundRelationshipl>
<Sobservations
CSonthoundRelationshipd>
(outboundRelationship? typeCodes"PERT”>
Cobgervation classCode="0BS” moodCode="BYN">
<code code="31" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2, 1. 1. 19" codeSystenVersion="1. 1"
displayName="recurrance0fReaction”/>
. <value xsiltype="CE” code="G.k 9 1. 4" codeSystem="2. 16.840. 1. 113883, 3.989. 2. 1. 1. 16"
codeSystenVersion="1. 0" />
<4 6.% 9. 1,4 Did Reaction Recur on Re-administration? Drug #2, Reaction #Z -5
<outhoundRelationshipl typeCode="REFR™>
<actReference classCode="0BS” moodCode="EVN">
<id root="2baalBdf-cOef—4eBe-03ed-5bBA0LIL42207 />
</actReference>
{/outboundRelationshipl>
{fobservation?
/outhoundRelationship2>
{outboundRelationshin? typeCode="REFR">
<ohservation classCode="0BS” moodCode="EVN™>
Ccode code="9" codeSystem="2. 16, 840. 1. 113883, 3. 98%. 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="codedDrugInformation” />
‘ ¢value xsiitype="CE” code="G.k 10.r" codeSystem="2. 16. 840. 1. 113883.3.988. 2. 1. 1. 177
codeSvstemVersion="1.07/>
<l-- 6.k 10.r: Additional Information on Drug fcoded) {repeat as necessary) #2-1 —-»
¢/ehservation>
</outboundRelationship2>
<emthoundRelationship? typeCode="REFR™>
<observation classCode="0BS" moodCode="EVN™>
‘code code="9" codeSystem="2. 16. 840. 1. 113883, 3,989, 2,1, 1. 19" codeSystemVersion="1.1"
displayName="codedDrugInformation”/ >
<value xsiitype="CE” code="G.k 10,1" codeSysten="2.16.840. 1. 113883.3.989. 2. 1. 1. 17”7
codeSystemVersion="1.0"/>
<1-— 6. k. 10. 1! Additional Information on Drug (coded) (repeat as necessary) #2-2 —>
</ohaervationy
</outboundRelat ionship?>
CoutboundRelationship? typeCode="REFR™>
{observation classCode="0B5" moodCode="EVN">
<cade code="2" codeSyster="2. 16. 840, 1, 113883, 3, 889. 2. 1. 1, 18" codeSystemVersion="1.1"
displayName="additional Information”/>



Cvalue xsiitype="ST72G k. 11</value>
-— Gk 110 Additional Information on Drug {free text) #2 ——3
</vbservationy
<fouthoundRelationship?)

{observation classCodes GBS moodCode="EVW
{code code="18" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1 1"
displayName="indication”/>
<value xsiitype="CE” code="G. k. 7.1 2b" codeSystem="2. 16. 840. 1. 113883. 8, 163"
codeSystemVersion="G. k. 7. r. 2a">
- Gk 7.v. 2a MedDRA Version for Indication #2-1 —»
A= Gk T.r. b7 Indication MedDRA coded #2-1 —>
SoriginalText>6. k. 7. r. 1/originalTextD
= Gk 7.r. 1! Indication as Reported by the Primary Seurce #2-1 ——3
Svaluer
<performer typeCode="PRF™>
{gssignedEntity classCode="ASSIGNER >
{code eode="3" codeSystem="2.16.840. 1. 113882, 3,989 2. [, 1. 21" codeSystemVersion="1. 0"
displavName="sourceReporter”/>
{/assignedEntity”
{/performer>
{/observation>
{/inboundRelaticnship>
{inboundRelationship typeCode="RSON™>
<observation classCode="0BS" moodCode="EVN™>
{ende code="19" codeSystem="2. 16.840, 1. 113883, 3, 988.2.1. 1. 19" codeSystemVersion="1.1"
displayName="{ndication”/>
<value xsiitype="CE” code="G.k 7.1.2b" codeSystem="2. 16, 840, 1. 113883. 6. 183"
codeSystemVersion="G. k. 7. . 22> ‘
<I-= G.k 7.1r.2a: MedDRA Version for Indication #2-2 -3
o= Gk 7.r. 2b: Indication (MedDRA code) #2-2 —-3
originalText>G k. 7.r. 1</originalText> )
<= G k. 7.r. 1 Indication as Reported by the Primary Source #2-2 -
<fvaluer
<{performer typsCode="PRF™>
<agsignedEntity classCode="ASSIGNED”>
<code code="3" codeSystem="2. 16, 840. 1. 113883.3.989. 2. 1. . 21" codeSystemVersion="1.0"
displayName="sourceReporter”/>
fassignedEntity>
</performer>
</observationy
{/inboundRelationship>
<inboundRelationship typeCode="CAUS"»
Cact classCode="ACT" moodCode="EVN">
<code codes"G. k. 8" codeSystem="2. 16.840. 1, 113883, 3. 989. 2. 1. 1. 15" codeSystemVersicn="1.0" />
I G 8 Action(s) Taken with Drug #2 -
fact>
</inboundRelationship>
</substanceAdministration?
</component.»
</organizer>
{/subjectOf 2
{suhject0f2 typeCode="SB]">
{organizer classCode="CATEGORY” moodCode="EUN">
{code code="1" codeSystem="2. 16. B40, 1. 113883, 3. 989.5.1.3. 2. 1. 11" codeSystemVersion="1.0"
displayName="18Ek 08" />
<component typelode="COMP”>
<observation classCode="0B5" moodCode="EVN">
<code code="7" codeSystem="2. 16. 840. 1. 113883.3, 980, 5.1, 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="/F HBHE" />
{yalue xsiltype="INT” wvalue="1"/>
<de- BHBT2.13.r. 1 BHES #1
{/observation)
</component >
{component typaCode="COMP™>
<observation classCode="0BS” moodCode="EYN">
<code code="8" codeSystem="2. 16. 840. 1. 113883.3,989. 5, 1. 3. 2. 1. 10" codeSystemVersion="1 0"
displayName=" & R"/>
value xsittype="ED">J2. 13. r. 2</value?



<l— @8BI2. 13, r. 20 WERES H1
</ohservation?
</ eomponent?

Ceomponent typeCode="COMP™>

i

o LR A U LY A
VG da S b ke WU COUGBOYELE

i 40, 1. 113883, 3

{eode code=

code
displayNane="BAEH"/>
<yalue xsiltype="CE” code="J2.13. 1. 3" codeSystem="2. 16.840. 1. 113883.3. 988.5.1.3. 2. .77
codeSystemVersion="1. 0"/>
- GREJ2. 15, r. 30 BRM H1 -
</chzervation?
</component>
Ccamponent typeCode="COMP™ >
{observation classCode="0BS" moodCode="EVN™>
<code code="10" codeSystem="2, 16.840. 1. 113883, 3. 988, 5. 1. 3.2, 1. 107 codeSystemVersion="1. 0"
digplayName="HrE R OEFMOEHE" />
<value asiitype="BL” value="true”/>
<l— @ERJ2. 13.v. 4 FWEPOEFOFE #1
</obgservation>
{/component >
</organizer>
, </ subjectOf2y
<subjectOf2 typeCode="SR]">
<organizer classCode="CATEGORY” moodCode="EYN">
Ceode code="1" codeSystem="2. 16. 840, 1. 113883, 3.986.5. 1. 3. 2. 1. 11" ccdeSystenVersion="1.0"
displayName="1285 08" />
{component typeCode="COMP">
<observation classCode="0BS" moodCode="EVN">
{eode code="7" codeSystem="2. 16. 840, 1, 113883.3,0889.5.1.3. 2

J—

107 codeSystenVersion="1. 0"
displayName="1g D" />
<value xsiitype="INT” value="1"/>
<l-- @ROTZ. 13.v. 1 REEE #2 -
fobservation?
</component >
{component typeCode="COMP">
<observation classCode="0BS" moocdCode="EYN">
{code code="8" codeSystem="2. 16. 840. 1. 113883.3,989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1. 0"
displayName="%8EE" />
<value xsiltype= ED">J2, 13.1r. 2</value>
Cl-— @REI2.13.r. 27 HHREHR H2 >
</observation>
{/component>
' <component. typeCode="COMP”>
<chservation classCode="0BS" moodCode="EYN">
{code code="9" rodeSystem="2. 16. 840. 1, 113883, 3,989. 5. 1. 2. 2. 1. 10" codeSystemVersion="1.0"
displayName="BREEH"/>
<value xsiitype= CE” code="J2.13.1.3” codeSystem="2. 16, 840. 1. 113883, 3,988, 5, 1.3, 2. 1.7
codeSystemVersion="1.0"/>
I-— @E012.13. 1.3 FAR4E #2 -
{/obzervation>
</component>
<component typeCode="COMP™>
<observaticn classCode="0BS” moodCode="EVN">
¢eode code="10" codeSysten="2, 16. 840. 1. 113883, 3, 980. 5. 1. 3, 2. 1, 10" codeSystemVersion="1,0"
displayName="#EROAEFROHE" />
Cyalue xsiitype="BL” value="false”/>
- BOBT2. 13 v. 4 BECPOEHOFE 2
</observation>
</component >
{/organizery
</subjectOfd>
/primaryRoles
</subjectl>
Ceompotent typeCode="COMP™>
<{pansalityAssessment classCode="0BS" moodCode="EVN™>
(code code="20" codeSystem="2, 16. 840, 1, 113883, 3, 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="interventionCharacterization”/?
{value xsi'type="CE" code="G.% 1" codeSystem="2, 16.840. 1. 113883, 3.949. 2. 1. 1. 13"
codeSystenVersion="1, 0"/



A Gk, 10 Characterisation of Drug Role Drug #1 -->
<subject? typeCode="SUR}">
<productlseReference classCode="SBADM” moodCode="EYN">
<id root="3cH1b4d5~e039-4aTa-9c30~6767 tbDef0ed” />

Hat @

</rausalityh
</vomponent >
{eomponent typeCode="COMP”>
{causalitvAssessment classCode="0BS” moodCode="EVN""
{code code="20" codeSystem="2 16. 840. 1. 113883, 3,989, 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="interventionCharacterization”/>
{value xsiltype="CE” code="G.k. 17 codeSystem="2, 16, 840.1. 113883, 3. 689. 2. 1. 1.13”
codeSystemVersion="1.0"/>
== G. % 1! Characterisation of Drug Role Brug £2 ——
<{subject? typeCode="SUBI">
<{productlUseReference classCode="SBADY moodCode="EVN">
<id root="68d6f5ce—3b3b-450T-92dd-69e0673003a8" />
productliseReferencer
<Ssubject2>
{/causalityAssegsment’
S oomponent >
<component typeCode="COMP“>
Ceatisalitvhssessment classCode="0BS” moodCode="BEVN">
<code code="39" codeSystem="2. 16, 840, 1. 1138R3. 3. 980, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="causality”/>
value xsiitvpe="ST"26.k 9.1, 2. r 3</valued
Ce= Gk 901021 3 Result of Assessment Drug #1, Reaction #1, Assessment #1 -->
<{methodCode>
<originalText>G k. 9. i.2.r. 2¢/originalText>
- Gk 8902 1.2 Method of Assessment Drug #1, Reaction #3, Assessment #1 -
</methodCode?
<author typeCode="AUT">
(assignedEntity classCode="ASSIGNED™>
{eoder
{originalfext»G. k. 9. 1. 2. r. 1/originaiTexty
== ¢ %.9.i.2.r. 1! Source of Assessment Prug #1, Reaction #1, Assessment #1 ~—>
{/eode>
/assignedEntity)>
</author>
C(subject] typeCode="SUB]">
CadverseEffectReference classCode="0BS” moodCede="EVN™>
<id root="134eb889-058h—45f2-a02f-4244d6£ 4657 " />
{/adverseEffectReference’
aubjectls
<{subject? typeCode="SEB]">
{productliseReference classCode="SBADM” moodCode="EVN">
{id root="3¢91b4db-e039-4a7a-Ge30-BT7671blef9ed” />
productiseReference>
subjeet2d
{frausalityhssessmentd
</component>
<eomponent typeCode="COMP™>
{causalityAssessment classCode="0BR” mocdCode="EVN">
<code code="39" codeSystem="2, 16, 840. }. 113883. 3. 98%. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="causality”/>
{value xsitype="ST">G. k.9 i.2.r. 3</valued>
1e=G.k.9.1.2.r. 3: Result of Assessment Drug #1, Reaction ¥2. Assessment §1 —
<methodCode>
CoriginalText>G. k0,1, 2 v. 2/ original Texty
<1--G. k9.1 2.1, 2 Method of Assessment Drug #], Reaction #2, Assessment #1 -—>
</methodCode>
Cauthor typeCode="AUT">
{assignedEntity classCode="ASSIGNED >
Ceoder
originalText>G. k. 9.1, 2. r. 1 </originalText>
== 6.k 9. 1. 2. r. 17 Source of Assessment Drug #1, Reaction #2, Assessment #1 --»
{feode
</assignedEntity>

ssessment)



<Sauthors
<subjectl typeCode="SUB]">
{adverseEffectReference classCode="(8S" mocdlode="EVN">
d root="2baaif8dB-cYe8-4ebc—03e0-5bBE0L3142207 />
e

Gha

g £i>
{subiect2 tvpeCode="SEBI">
{productiseReference classCode="SBADM" moodCode="EVN">
<id root="3c91b4d5—e039-4aTa-9c30-6T6T Lb0efled” />
{/producilseReference’
</suhjectdy
</causal ityAssessment>
{/component
<vomponent typeCode="COMP™>
<cansalityAssessment classCode="0BS” moodCade="EVN">
Ceode code="39" codeSysten="2. 16. B40. 1. 113883, 3, 989, 2. 1. 1. 19" codeSystenVersion="1.1"
displayNane="causality”/>
<vajue xsiitype= ST">6. k. 9 1L 2 r, 3/value>
<teG.% 9. 4. 2.7. 3! Result of Assessment Drug #2, Reaction H#2, Assessment #HL -3
<methodCoded
CoriginalText>G. k. 8. 1.2, r, 2{/originalTeyt>
0. k. 2. 1.2.17. 2 Method of Assessment Drug 82, Reaction 82, Assessment #1 -
</methndCode>
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED™>
Zeode?
“CoriginalTextyG. k. 9.1, 2 r. 1¢/original Text>
em 6.%.0.1.2. 1. 1 Source of Assessment Drug §2, Reaction #2, Assessment #1 -2
{Jender
<SassignedEntity?
{Jauthor>
{subjectl typeCode="SUBI">
CadverseEffectReference elassCode="0B8" mocdCode="EVK">
<id root="Zbaa28d6~clef-4eBc-9369-5b86OLE 142207 />
SadverseEffectReference)
subjectll
<{stbjectZ typeCode="SUB]">
{productiizeReference classCode="SBADM” moodCode="EVN">
<id root="68d6f5ce~3b3b-4507-924d-68206730c3a0" />
</productiseReference?
</subject>
(feausalityAssessment)
{/component>
<oomponent typeCode="COMP” >
<capsalityAssessment classCode="085" moodCode="E¥N">
<code code="39" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1, 1. 19" codeSystemVersion="1.1"
displayNape="causality”/>
<yalue xsiitype="ST">G. k. 9.1. 2. r. 3/ value>
Gk, 9.3, 2, .30 Result of Assessment Drug #2, Reaction 82, Assessment #2 —>
<methodCoder
CoriginalText>G. k. 9. 1. 2. r. 2¢/originalText>
A-6.% 9.1, 2. 1.2 Method of Assessment Drug #2, Reaction #2, Assessment #2 —
{/methodCode>
<author typeCode="&UT">
<assignedBntity classCode="ASSIGNED">
<eoda?
<originalText>G. k. 9. 1. 2. r. i</originalTexty
A— G. k.9 1. 2. r. 11 Source of Assessment Drug #2, Reaction #2, Assessment %2 -0
{feoder
</assignedEntityy
</author?
¢subject] typeCode="SUB]">
{adverseEffectReference classCode="0BS" moodCode="EVN™>
<id root="2baa2B8d6-c0e8-4ebe-03eB-5bBE0LIT42207 />
</adverseEffectReference?
</subjectl
<subject? typeCode="SUBJ">
<productlUseReference classCode="SBADM” moodCode="EYN">
<id root="68d6f5ce—3b3b-45c7~92dd-6006730c3a8" />



“/productlseReference)
</subject2>
{/rassalityAssessment?
S eomponent
g [ Lo
{observationbvent classCode="0BS" moodCode="EVN"»
‘eode code="10" codeSystem="2. 16, 840, 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="romment” />
{value xsiitype="ED"OH. 2(/value>
<!=— H. 2: Reporter’ s Comments —>
{author typeCode="AUT">
<assignedEntity classCode="ASSIGNED™>
<rode code="3" codeSystem="2. 16. 840. 1. 113883.3. 989, 2. 1. 1. 217 codeSystemVersion="1. 0"
displayName="sourceReporter” />
<fassignedEntity>
Sauthor>
</observationEvent>
<eomponentl>
{eomponentl typeCode="COMP">
<{observationEvent classCode="0BS" moodCode="EYN">
<pode code="15" codeSystem="2, 16. 840, 1. 113883, 3,989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="diagnosis” />
<value xsitype="CE” code="H.3.r. 1b” codeSystem="2, 18, 840, I, 113RRY. 6. 163"
codeSystemVersion="H. 3. r. la”/>
<= H 3.1 1a; MedDRA Version for Sendér's Diagnosis / Syndrome and / or Reclassification of Reaction /
Event #1 —>
1= H. 3. 1 Ib: Sender s Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA -
coda) 81 —>
{author typelode="AHT">
<assignedEntity classCode="ASSIGNED">
(eode code="1" codeSysten="2, 16. 840. 1. 113883, 3.989. 2. 1. 1. 217 codeSystemVersion="1, 0"
displayName="sender” />
</assignedEntity>
</authary
“/observationEvent>
{/component 1>
Zeomponent! typeCode="COMP" >
{observationBvent classCode="9BS" moodCode="EVN">
“code code="15" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="diagnosis”/>
<value xsiitype="CE” code="H. 3.r. 1b" caodeSystem="2. 18. B40. 1. 113883. 6, 163"
codeSystenVersion="H. 3. r. 1a"/>
<t~ H. 3.r.1a: MedDRA Version for Sender's Diagnosis / Syndrome and / or Reclassification of Reaction /
Event £2 -3 '
== B.3.r.1h: Sender’ s Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA
code} #2 --»
<{author typeCode="aUT">
<agsignedEntity classCode="ASSIGNED"™>
<codg code="1" codeSystep="2, }6. 840, 1. 113883. 3. 989. 2. 1. 1. 217 codeSystemVersion="1.0"
displayName="sender” />
</assignedEntity>
</author?
{/obhservationEvent>
</component 1>
{componentl typeCode="COMP™>
<observationfvent classCode="0BS" moodCode="EVN">
<code code="10" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemVersion="1, 1"
displayName="comment” />
{value xsiitype="ED">H, 4</valus>
<= H. 4 Sender’ s Comments ~—»
{author typeCode="AUT">
{agsignedEntity classCode="ASSIGNED™>
. . {eode code="1" codeSystem="2. 16. 840. 1. 113883.3.989.2, 1. 1. 21" codeSystemVersion="1.0"
displayName="sender” />
{/assignedEntity>
{/author?
/chservationfvent>
{feomponent 1y
<componentl typeCode="COMP">



<ohservationEvent ¢lassCode="0BS" moodCode="EVN">
Ceode code="3" codeSystem="2. 16.840. 1. 113883, 2. 989.5. 1. 3. 2. 1. 10" codeSystemVersion="1. 0”7 displayName="
FRETIHT LI AL
Cvalue xsiltype="ED">]2

7. 2/ valued

O SR N

<SobservationEvents
{/component1?
Ceomponentl typeCode="COMP™ >
<observationEvent classCode="0BS" moodCode="EVN">
<code code="4" codeSystem="2. 16.840. 1. 113883, 3.980. 6, 1.3. 2. 1. 10" codeSystemVersion="1. 0" displayName="
BHSE OB ERE
Cyalue xsiltype= EB70J2. 9</valued
(- 00612, 9 BALEOMRIEE -
</observationEvent?
/component s
“componentl typeCode="COMP™>
{ohservationEvent ¢lassCode="0DBS" moodCode="EVN")
{code code="5" codeSystem="2. 16, 840. 1. 113883, 3, 989. 4. 1. 2. 2. 1. 10”7 codeSystemVersion="1. 07 displayName="
H ORI/
<yalue xsiitype="ED">J2.10¢/value>
dee @BB52. 100 SEOBHL -
{/ubservationEvent>
</component >
<componentl typeCode="COMP”>
<observationEvent classCode="0BS" mocdCade="EVN™>
Ccode code="6" codeSystem="2. 16.840. 1. 113883, 3, 989. 5. 1. 3. 2. 1. 107 codeSystemVersion="1. 0" displayName="
FOABERIEE/
{yalue xsiitype="ED">J2, 11</valuas>
- sgRiz. 11 FOMBEFES
{/observationEvent>
¢/component 1>
<eomponentl typeCode="COMP™>
{cbservationfvent clasaCode="083" moodCode="EVN™>
{eode code="12" codeSystem="2. 16. 840. 1. 113883, 3.989. 5. 1. 3, 2. 1, 10" codeSystemVersion= 1. 0”7 displayName="
BEREOEAR"/>
Cvalue xsiltype="ED7>J2. 16</value>
i B0RJ2. 16 WMERZOHES >
</observaticnEvent?
{/component 1>
<componentl typeCode="COMP™>
<observationEvent classCode="0BS" mondCode="EVN">
(code code="13" codeSystem="2. 16.840. 1, 113883, 3. 988.5. 1. 3. 2. 1. 18”7 codeSystemVersion="1. 0" displayName="
s
<yalue xsiitype="ED">]2.19</value>
- @EeIZ. 19: BEL -
</ohservationBvent>
<{/component 1>
{compenent] typeCode="COMP™>
{observationfvent classCode="0BS” moodCode="EVN">
{code code~"14” codeSystem="2. 16. 840.1. 113882, 3.G89. 8, 1. 3. 2. 1. 10" codeSystemVersion="1.0" displayName="
fwE e/
<yalue xsiitype="ED7">]2. 20<{/value>
G- @@]2 200 {WH2 -
</obzervationEvent’
</component ]
{component! typeCode="COMP™>
<observationBvent classCode="0BS” moodCode="EVN™>
<code code="15” codeSystem="2, 16. 840. 1. 113883, 3.989. 5. 1. 3. 2. L, 10" codeSystemVersion="1. 0" displayName="
HWE />
<value xsiitype="ED7>J2. 21<¢/value>
- GOBJ2. 21 fRE D -
(/observationEvent?
{/component1>
{eomponentl tvpeCode="COMP™ >
{ohservationEvent classCode="0BS” moocdCode="EVN":
(code code="18" codeSystem="2. 16, 840, 1. £13883. 3. 989, 5. 1.3. 2. 1. 10" codeSystemVersion="1. 0" displayName="
BEA
<vajue xsiitype="ED"2]J2. 22¢/value
(e @12, 22 {HE4



</observationEvent»
</componently
¢/adverseEventAssessment?
</ component>

<code code="1" codeSystem="2.18. 840, 1. 1138
displayName="additionalDocumentsivailable” />
<value xsiitype= BL” value="true”/>
{I-- C.1.6.1: Arve Additiona} Decuments Available? —>
{/chservationfvent>
</component)
<component typeCode="COMP™»
{abservationEvent classCode="0BS" moodCode="EVN">
{eode code="23" codeSystem="2. 16. 840. 1, 113883, 3, 989, 2. 1. 1. 19" codeSystamVersion="1.1"
displavName="localCriteriaForExpedited” />
<value xsitype="BL" value="true”/>
<I=— C.1.7: Does This Case Fulfil the Loeal Criteria for an Expedited Report? —-»
{/ohservationEvent> :
</ component>
Cvomponent typefode="COMP™>
<observationEvent elassCode="0BS" moodCode="EYN">
Ccode code="38" codeSystem="2.16.840. 1. 113883.3,989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="summar yAndComment” />
<value wsiitype="ED” language="H.5.r.1b">H. & r. la</value>
<t~ W 5 r. la: Case Summary and Reporter’ s Comments Text #1 —-»
(= H.5.r.1b: Case Summary and Reporter's Comments Language #1 ——>
Cauther tvpalode="AUT">
<assignedEntity classCode~"ASSIGNED™>
<eode code="2" codeSystew="2. 16. 840, 1. 113883.3, 089, 2, 1. 1. 21" codeSystemVersion="1.0"
displayName="reporter”/>
assignedEntity>
Sauthor>
</fohservationFvent>
</component>
{component typeCode="COMP™>
<observationEvent classCode="0BS” moodCode="EYN">
<cade code="36" codeSystem="2. 16 B40. 1. 113883, 3, 982.2.1. 1. 19" codeSystenVersion="1.1"
displayName="summaryAndComment ™ />
<value xsi'type="ED" language="H.5.r. 1b">H 5 r. lad/value?
<t-- H. 5. r.la: Case Summary and Reporter’ s Comments Text #2 -—>
i—~ H# 5.r.1b’ Case Summary and Reporter’ s Comments Language H2 -~
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED™>
{code code="2" codeSystem="2.16.840. 1. 113883.3.989. 2. 1. 1, 21”7 codeSystemVersion="1.0"
displayName="reporter” /> '
</assignedEntity>
¢/ author>
</observationEvent>
</component”
{outhoundRelationship typeCode="SPRT™>
{relatedInvestigation classCode="INVSTG” moodCode="EVN"> .
{code code="1" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 22" codeSystemVersion="1. 0"
displayName="initialReport”/>
{subject0f2 typeCode="SUB]">
<controlActEvent classCode="CACT" moodCode="EVN">
Cauthor typeCode="AUT">
<agsignedEntity classCode="ASSIGNED™>
<code code="C. 1,8, 2" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 3" codeSystemVersion="1.0"/>
{d=~ C.1.8. 2 First Sender of This Case —>
</assignedEntity>
<fauthor>
{/controlActEvent>
</subjectOf2:
<relatedInvestigationD
</outboundRelationghip?
{outboundRelaticnship typeCode="SPRT"»
{relatedlnvestigation classCode="INVSTG” moodCode="EVN">:
<eode nuliFlavor="NA"/>




CeubjectDf2 typeCode="SUB]">
CcontrolictEvent classCode="CACT” mocdCode="EVN™>
<id extension="(. 1.10. 1" root="2, I8. 840. 1. 113883.3.984.2. 1.3, 2"/
<=~ C.1.10.r: Identification Number of the Report Which Is Linked to This Report (repeat as necessary)

Cloontrol A
</ subjectOf2>
{/relatedinvestigation>
{/outhoundRelationghips
CoutboundRelationship typeCodes"SPRT™>
CrelatedInvestigation classCode="1NVSTG” moodCode="EVN">
<eode nullFlaver="NA"/>
<subjectOf? typeCode="SUB]™>
CeontrolactEvent classCode="CACT” moodCode="EVN">
<id extension="C.1.10.v" root="2, 16, 840.1 113883.3.989.2.1.3.27/>
Cle- C.1.10. 70 [dentification Mumber of the Report Which Is Linked to this Report {repeat ss necessary)
#2 -2 :
<SeontrolActEventy
{/subjectB{2>
/relatedlnvestigation>
</outboundRelationship>
<outhonndRelationship typeCode="SPRT™>
<priorityNumber value="1"/>
<l C.2.r. 5% Primary Source for Regulatory Purposes Bl -->
<relatedinvestigation classCode="INVSTE” moodCode="EVN™>
Ccode code="2" codeSystem="2. 16. 84C. 1. 113883. 3. 688. 2. 1. 1, 227 codeSystemVersion"1, ¢”
displayNames " sourceReport”/>
{subject0f2 tvpeCode="SUBJ">
<controlhctEvent classCode="CACT” moodCode="EVN">
<auther typeCode="AUT">
{assignedfntity classCode="ASSIGNED">
{addr>
{streetAddressline>C. 2. 1. 2. 3¢/ streetAddressLine>
I—— C.2.r.2. 37 Reporter’' s Street #1 ——>
<eityrC 2.1, 2.4/ city?
— C.2.r. 2.4 Reporter’' s City #1 —>
{statedC. 2.y, 2. B</state>
I C.2.7. 2.5 Reporter's State or Province #1 —>
<postalCode>C. 2. v, 2, 6</postalCodeX
e 0,2, 7. 2,62 Reporter’ s Postcode #1 -
</addr>
<telecom value="tel:C. 2.1.2.77/>
== C.2.r. 2.7 Reporter’ s Telephone #1 -—>
<agsignedPerson classCode="PSN" determinerCode="INSTANCE™>
{name’
<prefix>C. 2. r. L 1/ prefix®
<{— C.2.r.1.1: Reporter's Title #1 —>
<givendC. 2.x. 1, 2¢/given>
- C.2,r. 1.2 Reporter’' s Given Name H1 —>
<givenrC. Z.x. 1. 3</given>
<i-= C, 2.7.1.3: Reporter’ s Middle Name #1 -—>
Samily>C, 2.1 1 4</ fanily>
i-- C.2.r.1.4: Reporter’' s Family Name #1 —>
{/name?
CasfualifiedEntity classCode="QUAL">
<code code="C. 2. r. 4" codeSystem="2, 16, 840. 1. 113883. 3. 980. 2. 1. 1. 6" codeSystemVersion="1.0"/>
<d--C, 2. r. 4 Gualification HI -
{fasQualifiedEntity>
<asLocatedBntity classCode="LOCE™>
<location classCode="COUNTRY” determinerCode=" INSTANCE™>
<eode code="C 2. r. 3" codeSystem="1, 0, 3186. 1. 2.2"/>
(= (. 2.7.3: Reporter’ s Country Code #1 —>
{/locations
</asLacatedEntity>
</ assignedPersons
<representedOrganization classCode="0RG” determinerCode="INSTANCE™>
name>C, 2. 1. 2. 2</name>
¢le— £.2.r. 2.2 Reporter' s Department 81 —>
{assignedintity classCode="ASSIGNED™>



{representedOrganization classCode="0RG” determinerCode="INSTANCE” >
<namerC. 2. r. 2, 1</pame>
{Pew €207, 210 Reporter’ s Organisation #1 —>
<{/representedlrganization>

{JassignedEntity)
{/author>
{eontrolActEvent?
/subjectOfy
frelatedInvestigation)
</outboundRelationships
“puthoundRelationship typeCode="SPRT">
<relatedInvestigation classCode="INVSTG” moodCode="EVN">
{code code="2" codeSystem="2. 16. 840, 1, 113883, 3. 989. 2. 1. 1. 22" codeSystemVersion="1, ¢”
displayName="gourceReport” />
<{subjectOf2 typeCode="SUR]">
<eontrolActEvent classCode="CACT" moodCode="FVN">
<author typeCode="ALT">
<{assignedEntity classCode="ASSIGNED”>
{addr>
CstreetAddressline»C. 2. r. 2. 3/ streetAddress]ined
3 C.2.1. 2.3 Reporter’s Streety #2 -
CeityrC 2or, 2044/ city>
I £, 2,1. 2.4 Reporter’'s City #2 —->
<staterC. 2.r, 2. B{/stated
- C.2.7.2.8: Reporter’s State or Province #2 —>
<postalCode>C. 2. r. 2. 6</postalCode’
<l £ 2.r.2.6: Reporter s Postcode H? —>
</addr>
<telecom value="tel:(. 2. 1. 2.77/>
the £.2.1.2.7: Reporter’ s Telephone #2 ~-3
CazsignedPerson classCode="PSN” determinerCode="INSTANCE™>
<name?
<prefix»C. 2.r. 1. 1</prefix>

(-~ £,2.r.1.1: Reporter’ s Title #2 —»
teivenrC. 2, 1. 1. 2/ glveny

i~ €, 2.r.1.2: Reporter’ s Given Name #2 -~
cgiven>C. 2. r, 1. 3/given>

<J=- €. 2.r.1.3! Reporter’s Middle Name #2 -->

KFamily»C. 2. r. 1. 4</ family>
(b€ 2 r. 1.4: Reporter’ s Family Name 82 -—>
</name>
<asQualifiedEntity classCode="QUAL">
<code code="C. 2. r. 4" codeSystem="2. 16.840. 1. 113883, 3.989.2. 1. 1. 8" codeSystemVersion="1, 0" />
{I-- €. 2 r. 4! Qualification #2 —
/asQualifiedEntity>
{asloeatedEntity classCode="1OCE">
{location classCode="COUNTRY” determinerCode="INSTANCE”>
{code code="C. 2. r 3" codeSysten="1.0. 3166.1.2.2"/>
4 £.2.r. 3! Reporter’ s Country Code #2 ~->
{/location>
{/asLocatedEntity>
{/assignedPerson>
<represented0rganization classCode="0RG” determinerCode="INSTANCE”>
<namert, 2. 1. 2. 2¢/name>
(1=~ €.2.r.2, 2 Reporter’ s Department #2 ——>
<assignedfntity classCode="ASSIGNED">
<representedOrganization classCode="0RG” determinerCode="TNSTANCE” >
<name>C. 2.r. 2. 1</name>
e C.2.r.2.1: Reporter's Organisation #2 —>
{/representedrganization>
{/assignedEntity>
{/representedOrganization>
{/assignedEntity>
</author>
{SeontrolActEvent)
</subjectOfa>
{/relatedInvestigation)



</outboundRelationshin?
<subjectOf1 tvpeCode="SUBJ">
ScontrolActEvent classCode="CACT™ moodCode="EVN™»

4==-0,3.1: Sender Type -—>
<addr>
{streetAddressLinesC, 3, 4. 1</strectAddressline”
5 3t

<— €. 3,4, 11 Sender’ reet Address -2
CeityrCl 34, 2/ edtyr
fwe C.3.4.2: Sender’ s City —>
<staterl, 3, 4, 3<¢/state>
¢1-— €.3.4.3: Sender’ s State or Province —>
<postalCoderC. 3. 4. 4</postalCode>
e .2, 4. 41 Sender s Posteode ——>
/addry
(telecom value="1el:C, 3.4.8"/>
1=~ £.3.4.67 Sender’ s Telephone —>
“telecom value="fax:(, 3. 4. 77/
1= £.3.4.7: Sender’s Fax —>
(telecom valuezmailto:C. 3. 4, 8%/>
{lw- €,3.4.8 Sender’ s E-mail Address —>
{assignedPerson classCode="PSN” determinerCode="INSTANCE™>
name> )
prefixdC. 3, 3, 2¢/prefix>
t-- (.3.3.2: Sender’s Title —>
<givenrC. 3. 3. 3¢/ giveny -
<I-- £.3.3.3: Sender’ s Given Name ——»
<givenrC. 3. 3. 4</given>
(l-— C.3.3.4: Sender’ s Middle Name -—
<family>C. 3. 3.5/ Family>
£}~ (. 3.3.5: Sender’ s Family Name —>
</name’
<asbLocatedEntity classCode="LOCE™>
{location classCode="COUNTRY” determinerCode="INSTANCE™>
Ceode code="C. 3. 4,57 codeSysten="1.0. 3166, 1. 2.2"/>
4w €. 3.4.5: Sender's Country Code —>
</location>
{/asLocatedEntity>
</assignedPerson>
{representedOrganization classCode="ORG” determinerCode="INSTANCE™>
<pame>C, 3. 3, 1</ name>
lee 3.3 10 Sender’ s Department —->
<assignedEntity classCode="ASSTGNED™ >
<representedOrganization classCode="0RG” determinerCode="INSTANCE™>
<pame>C. 3, 2¢/name>
<l , 5.2 Sender’ s Crganisation ——>
</representedOrganization?
/assignedEntity>
¢/representedOrganization>
(/assignedEntity>
</author?
{primaryInformationRecipient typeCode="FRCP">
<assignedEntity classCode="ASSIGNED”>
<assignedPerson classCode="PSN" determinerCode="INSTANCE">
<name? ’
<prefix>]2. 18, 2/ prefix?
<J— GEBJZ 18.2: ZEE EEE -
<FamilyrJ2. 18. 3¢/ family>
<l-- @8gjz. 18. % FEF & -
CgivendJ2. 18, 4</given>
<I-- @8612.18. 4 HfEL B -
</name>
</assignedPerson?
<representedOrganization classCode="ORG” determinerCode=" INSTANCE™ >
<name> J2. 18. 1</name>
<l-- @RIz, 18. 1 E(EHF BEEE —

</representedOrganization?




(assignedBntity>
primaryinformationRecipient)
<feontroltActEventy
<fsubjectDfL>

i

s 2YCACTY mondCodes BT
{id assigningAuthorityName="C. 1. 9.1.r. 1”7 extension="C. 1.2 1. 7. 2" root="2, 16, 840, 1. 113883. 3, 988, 2. 1. 3. 3" />
A——-C. L9 Lr i Sourcels) of the Case Identifier [(repeat as necessary) 51 -
e €01,9.1.r. 2 Case Identifier{s) #1 —>

{/controlActEvent>
{/subjectOf1>
{subjectOfI typeCode="SUBJ"»

controlActEvent classCode="CACT” moodCode="EYN">

{id assigningAuthorityName="C.1.9.1.r.1” extension="C. 1.9 1. r. 2" root="2. 16.840. 1. 113883. 3. 089. 2. 1.3. 3" />

== €. 1.9.L.r. 1! Seurcels) of the Case Identifier (repeat as necessary) H2 ~->
=€ 1.9.1.7. 2 Case Identifier{s) #2 —>
{/eontrolActEvent)
/eubjectOfi>

{subjectf2 typeCode="SURI">
{investigationCharacteristic classCode="0BS” mocdCode="EVN">
<code code="1" codeSystenr="2, 16. 840, 1, 113883, 3. 989, 2. 1, 1. 23" codeSvstenVersion="1. 0"
displayName="1ichReportType” />
<value 281:type= CE” code="C. 1. 3" codeSystem="Z. 16, 840. 1. 113883, 3. %9. 2. 1. 1. 2” codeSystenVersion="1. 0"/
<=~ C.1.3 Type of Repert -—>
</investigationCharacteristic’
I/ suhjectOf2y
{subject0f2 typeCode="SUB]">
{investigatienCharacteristic classCode="0BS” moodCode="EVN">
(code code="2" codeSystem="2. 16, 840. 1. 113883. 3. 989, 2. 1. 1. 23" codeSystemVersion="1. 0"
displayName="otherCaselds”/>
<value xsiltype="BL"” value="true”/>
<I== C.1.8.1 Other Case Identifiers in Previous Transmissions ——»
{/investigationCharacteristic>
</subjectOf2>
{subjectOf? typeCode="SUR]">
{nvestigationCharacteristic classCode="0BS” moodCode="E¥N">
<code code="3" codeSystem="2. 16, 840, 1. 113883. 3. 989, 2. 1, 1. 23" codeSystemVersion="1.0"
displayName="nullificationAmendmentCode” />
<value xsiitype="CE” code="C. 1. 11 1”7 codeSystem="2, 16, 840, 1. 113883, 3.989. 2. 1. 1. 5" codeSvstemVersion="1, 0" />
¢I— C.1.11.1: Report Nullification / Amendment -—>
JinvestigationCharacteristicy
</subject0f2>
{subjectOf2 typeCode="SURJ]">
dnvestigationCharacteristic classCode="0BS” moodCode="EVN">
“code code="4" codeSystem="2. 16. 840. 1. 113883, 3, 089, 2. 1. 1. 23" codeSystepVersion="1.0"
displayName="nullificationAmendmentReason™/>
{value xsiltype="CE™>
originalText>C. 1.11. 2¢/originalText>
¢le- C 1,11, 2 Reason for Nullification / Amendment —>
<Svalued
finvestigationCharacteristic>
{/subjectOfa>
(subject0f2 typefode="SUBY >
{investigationCharacteristic classCode="0BS" moodCode="EVN">
‘code code="1" codeSystem="2. 16. 840, 1. 113883, 3. 088, 5. 1. 3. 2. 1. 12" codeSystemVersion="1.0" displayName="T%H]
Fa (RESE .
<value x8i’type="CE” code="J2. 12" codeSysten="2. 16, 840. 1. 113883.3.986.5.1,.3.2. 1. 17
codeSystepVersion="1, 0"/>
<I-- BERJ2. la: MERIFES (HESE
</investigationCharacteristic>
{/subjectOf2>
{sub jectOr2 typeCode="SUR]">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="2" codeSysten="2. 16.840.1.113883.3.989.5.1. 3. 2. 1. 12" codeSystemVersion="1. 0" displavName=" 85
wEE"/
{value xsiitype="TS” value="20130107"/>
<I-- @E8J2. 2.1 WERER
{/investigationCharacteristic>
</subjectDf2>



<subjectOf2 typelode="SUBI™>
¢investigationCharacteristic classCode="0BS” moodCode="EVN">
{eode code="8" codeSystem="2. 16.840. 1, 113883, 3,086, 5.1.3. 2. 1. 127 codeSystemVersion="1.0" displayName="$f#
BEAKMETIaALD

<SsubjectHEZy
<gubjectDf2 typeCode="SUBI">
¢investigationCharacteristic classCode="0BS” moodCode="EYN">
Coode code="4" codeSystem="7. 16, 840. 1. 113883, 3. 089, 5, §.3. 2. 1. 127 codeSystenVersion="1.0" displayName=" Bl
=R
¢value xsitype="CE" code="J2.3" codeSystem="2. 16. 840. 1, 113883, 2. 98%.5.1.3.2. 1. 2" codeSystemVersion="1. 0"/>
- @GRRJZ. 3 BIRFRET T Y -
</investigationCharacteristic’
</subject0f2>
{subjectOf2 typeCodes"SUBI"»
{investigationCharacteristic classCode="0BS” moodCode="EVN™>
Ceode code="5" codeSystem="2. 16. 840. 1. 113883, 3, 989, 5. 1. 3. 2. 1. 127 codeSystenVersion="1. 0" displayName="$i%
o109 N ) :
Syalue xsiitype="CE” code="J2.8.1" codeSystem="2.16. 840.1. 113863, 3. 989, 5,1, 3. 2. 1. 67
codeSystemVersion="1, 0°/>
- @BRI2.8. 1 MEHBH T TS —>
</investigationCharacteristic?
/subjectOf 2>
<subjectOf? typeCode="SURT">
{investigationCharacteristic classCode="0BS" moodCodes"EVN">
lende code="6" codeSystem="2. 16.840. 1. 113883, 3. 989.5.1.3. 2. 1. 12" codeSystemVersion="1.0" displayName="$R%&
HERAORE"
(yalue xsi:type="ED"»J2. 8. 2{/value>
C1-- @EAJ2. 8. 2 WENSEAOHESR
{/investigationCharacteristicr
</subjectQf2>
</investigationBventy
</subjecty
{/eontrolActProcess>
</PORR_INOADOL GV
f—— Message #1 ——
(o Message B2 -0
<l— PORR_INO4OO1BUV —>
<l— /PORR_INO4SO16UV —->»
(b Message #2 -3
{receiver typefode="RCV™Y
<device classCode="DEV" determinerCode="INSTANCE">
<id extension="N. .47 root="2.16. 840. 1, 113883, 3. 989. 2. 1,3, 147/>
1= N.1.4: Batch Receiver Identifier ——»
{fdevice?
<freceiver?
¢sender typeCode="SND">
¢device classCode="DEV” determinerCode="INSTANCE">
<id extension= N, 1.3”7 root="2.16.840. 1. 113883, 3. 989, 2, 1. 3. 13°/>
<t-- N.1.3: Batch Sender ldentifier —>
devicer
</sender>
CMCCT INZ0010CHV0L>
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XPath

MCCI_IN200100UVO1[@ITSVersion="XML_1.0'l[@xsi:schemalocation="urn:hl7-

org:v3

MCCI_IN200100UV01.xsd'VVPORR_IN049016UV([rl/controlAct Processi@classCod
e="CACT'[{@moodCode='"EVN'l/subjectl@typeCode="SUBJ[1}/inve stigationEvent
[@classCode="INVSTG'] [@moodCode="EVNsubjectOf2[@typeCode="SUBJ|[inve

stigationCharacteristic/codel@code="11[@codeSystem="2.16.840.1.113883.3.989 5.
1.3.2.1.12'1H{1}/investigationCharacteristicl@classCode="OBS' [@mood Code="EVN'
Iivalue[@xsitype='CE'][@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.1' l/@code

XPath

Version)

{codeSystem | org:v3

MCCI_IN200100UVO0{@ITSVersion="XML_1.0'l[@xsi:schemaLocation="urn:hl7-

MCCI_IN200100UV01.xsd'l/PORR_IN049018UVIrl/controlActProcessl@classCod
e='CACT][@moodCode="EVN'l/subject/@typeCode="SUBJ}[1Vinvesti gationEvent
[@classCode="INVSTG [[@mood Code="EVNl/subjectOf2[@typeCode='"SURJ Hinve
stigationCharacteristic/code[@code='11[@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.121[1)/investigationCharacteristicl@classCode="OBS1[@mood Code='EVN'
Itvaluel@xsitype='CEl[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.1'//@code

SystemVersion
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XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'[@xsi:schemalocation="urn:hl7-
orgv3d

MCCI_IN200100UV01.xsd'l/PORR_IN0490168UV[r)/controlActProcessf@classCod
e='CACT'][@moodCode="EVN'I/subject[@typeCode="SUBJ'1[1)/investigation Event
[@classCode='INVSTG[@mood Code="EVN'l/id[@root='2.16.840.1.113883.3.989. 5.
1.3.2.3. v} 1}/@extension
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org-vd

MCCI_IN2001000V01.xsd' I/PORR_IN043016UV|[r}/controlActProcessl@classCod
e='CACT'H@moodCode="EVN'l/subject|@typeCode="SUBJ ' 1}/investigation Event
[@classCode="INVSTG@mood Code='"EVN'/subjectOf2{@typeCode='SUBJ Hinve
stigationCharacteristic/code[@code="2"l[@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1. 1211V investigationCharacteristicl@class Code="OBS H@moodCode="EVN'
Ivaluel@xsitype="TS'V@value
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XPath MCCI_IN200100UVO1@ITSVersion=XML_1.0')i@xsizschemalocation="urn'hl7-
orgvad

MCCI_IN200100UV01.xsd I/PORR_IN049016UVirl/controlActProcess{@classCod
e="CACT'[@moodCode='"EVN'Vsubjecti@typeCode="SUBJ'|[1}/investigationEvent
[@classCode="INVSTG'l@mood Code="EVN/subjectOf2[@typeCode='SUBJ Hinve
stigationCharacteristic/code[@code='3'@codeSystem='2.16.840.1.113883.3.989.5.

1.3.2.1. 12111 V/investigationCharacteristicl@classCode="OBS'T@mood Code="EVN'
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MOCT IN200100UVOH@I TS Version="% ML 1.0 @xsi schemalocation="arn hi’i-
orgiva

MCCI_IN200100UV01.xsd'VPORR_IN049016UV[r)/controlAct Process[@class Cod
e="CACT'l[@moodCode="EVNV/subject(@typeCode='SUBJ'l{1]/investigation Event
[@classCode="INVSTG H@mood Code="EVN'/subjectOf2 [@typeCode="SUBJ 1linve
stigationCharacteristic/code [@code='1'] l@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.12'1{1}/investigationCharacteristicl@classCode='0BS | {@mood Code="EVN'
Iivaluel@xsitype="CE'}[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.2'//@code

XPath
(codeSystem

Version)

MCCI_IN200100UVO1[@ITSVersion=XML_1.0'@xsi:schemalocation="urn:hl7-

org'v3

MCCI_IN200100UV01.xsd'[/PORR_IN049016UVIrl/controlAct Processi@classCod
e='CACT'H{@moodCode='"EVNsubjecti@typeCode='SUBJ [ 1)/investigationEvent
[@classCode="INVSTG'lf@mood Code='EVN/subjectOf2l@type Code="SUBJ ] linve
stigationCharacteristic/code|@code="4{@codeSystem="'2.16.840.1.113883.3.989.5.
1.3.2.1.12'))[1)/investigation Characteristic[@class Code='0OBS" {@mood Code="EVN'
Iivaluel@xsi'type="CE'l{@codeSystem='2.16.840.1.113883.3.989.5.1.2.2.1.2)/@

codeSystem Version
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XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'@xsi:schemalocation="urn:hl7-
orgiv3

MCCI_IN200100UV01.xsd'l/PORR_IN0490168UVirl/controlAct Processl@classCod
e='CACT'{[@moodCode='EVN'V/subject{@typeCode='SUBJ'[1)investigationEvent
[@classCode="INVSTG [@mood Code="EVN)/component{@type Code="COMP ' {adv
erseEventAssessmentl{1]/adverse EventAssessmentl@classCode="INVSTG'[@mo

odCode="EVN'l/subject1l@typeCode="SBJ1{1)/primaryRole[@classCode=TNVSBJ'
l/subjectOf2[@typeCode="SBJ[organizer/code[@code='41[@codeSystem='2.16.840.
1.113883.3.989.2.1.1.20'[1{1)/organizer@classCode='CATEGORY [@mood Code='F,

VN'l/componenti@typeCode='"COMP'][substanceAdministration/id}[k}/substanceA

3




dministration[@classCode='SBADM [@moodCode="EVN'l/consumable[@typeCode
=CSM'}{1}/instanceOfKindl@class Code="INSTV/kind Of Product[@classCode="MM
ATHddeterminerCode= KIND VasManufacturedProductl@riass Code="MANT Veu
bjectOfl@typeCode="SBJ ' [characteristicl 1l/characteristiclcodel@code='1"l [@code
System='2.16.840.1.113883.3.989.5.1.3.2.1.10'll{1}[@classCode="0BS H[@mood Cod
e="EVN1valuel@xsitype= CEll@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.
3'li@code

XPath
(codeSystem

Version)

3]/@0 deS tem Vi

MCCI_IN2001000V01[@ITSVersion="XML_1.0'{@xsi:schemalocation="urn:hl7-
orgva
MCCI_IN200100UV01.xsd'/PORR_IN048016UV[rl/controlAct Process|@classCod
e='CACT[@moodCode="EVN/subject[@typeCode="SUBJ'H 1}/investigationEvent
[@classCode="INVSTG }[@mood Code='"EVNYcomponent{@type Code='"COMP'}{adv
erseEventAssessment][1)/adverse EventAssessment[@classCode=TNVSTG' [@mo
odCode="EVN'l/subject1[@typeCode="SBJ 1 1)/primaryRole[@classCode="INVSBJ'
)/subjectOf2(@typeCode='SBd | {organizer/code[@code='4'{@codeSystem='2.16.840.
1.113883.3.989.2.1.1.20'11[1V/organizer[@classCode="CATEGORY 'l [@moodCode='E
VN'l/component(@typeCode='COMP}substanceAdministration/idl[kl/substanceA
dministrationl@classCode='SBADM"{@mood Code="EVN'l/consumablel@typeCode
=C8M [ 1VinstanceOfKind[@classCode="INST VkindOfProduct[@classCode="MM
ATH@determinerCode="KIND'I/asManufactured Productl@classCode="MANU V/su
bjectOff@typeCode='SBJ")[characteristicl{ 1}/characteristicleodel@code="1"1l@code
System='2.16.840.1.113883.3.989.5.1.3.2.1.10'[[1/{@classCode="OBS ll@mood Cod
e='EVN'I/valuel@xsi: type*‘CE']{@codeSystem '2.16.840.1.113883.3.989.5.1.3.2.1.
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XPath

MCCI_IN200160UVO1[@ITSVersion="XML_1.0'll@xsi:schemaLocation="urn:h17-
orgiva

MOCT INZOO1I00UVE Lxsd VPORE INGASO 16UV Irconirolict Process|@clazs Cod
e='"CACT']l@mood Code='"EVNY/subjectl@type Code="SUBJ'|[1}/investigation Event
[@classCode="INVSTGH[@mood Code="EVN]/component[@typeCode="COMP'] [adv
ersefiventAssessmenti{1)/adverse EventAssessmenti@classCode="TNVSTG H@mo
od Codex’EVN’]/subjectl[@t‘ype Code="SBJ'{{1}/primaryRole[@classCode=INVSB.J'
l/subjectOf2[@typeCode="SBJ [organizer/code[@code="4'N@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20'}{1)/organizerl@classCode="CATEGORY H@mood Code="E
VN'l/component[@type Code="COMP'HsubstanceAdministration/id] (k}/substanceA
dministration[@classCode="SBADM'] [@moodCode='"EVNY/consumablel@typeCode
='(CSM'H 1V instanceOfKind[@classCode="INSTVkindOfProduct{@classCode="MM
AT]l@determinerCode="KIND/asManufactured Product/@classCode="MANU"V/su
bjectOfi@typeCode='SBJ' {approvall{1l/approvall@classCode='CNTRCT'] [@mood
Code="EVN'l/pertinentInformation[@typeCode="PERT [ 1)/policy[@classCode="PO

4"V@code

XPath
{codeSystem

Version)

| MCCI_IN2001000V01[@ITSVersion=XML_1.0'l[@xsi'schemalocation="urn:hl7-

orgivi

MCCI_IN200100UV01.xsd' }/PORR_IN049016UV [rl/controlAct Processl@classCod
e='CACT'l[@moodCode='"EVN'lI/subject[@typeCode="SUBJ'{{1}/investigationEvent
[@classCode=INVSTG [l@moodCode="EVN'/componenti@typeCode='"COMP'Hadv
erseEventAssessment]{1)/adverse EventAssessmentl@classCode=TNVSTG @mo
odCode="EVN'l/subject1[@typeCode="SBJ'|[1]/primaryRole[@class Code='INVSB.J'
l/subjectOf2[@typeCode="SBJ'l[organizerfcodel@code="4'T@codeSystem='2.16.840.
1.113883.3.989.2.1.1.20'11{1)/organizer[@classCode="CATEGORY'l[@mood Code="E
VN'l/componentl@type Code='"COMP HsubstanceAdministration/id] {k]/substanceA
dministration[@classCode="SBADM'[@mood Code='"EVN1/consumable[@typeCode
='CSM'{1)/instanceOfKind{@classCode="INSTVkindOfProduct[@classCode="MM
AT'|[@determinerCode='KIND//asManufacturedProducti@classCode="MANUV/su
bjectOfi@typeCode="SBJ'l[approvall[1l/approvall@classCode="CNTRCT | [@mood
Code="EVN']/pertinentInformation[@typeCode=PERT'][1}/policyl@classCode="PO

4'Y@codeSystemVersion
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XPeth

(value)

MCCT INZO0100UVOTIBITE Version= XML _1.0Ha@xsi schemaloeation="urn'hl7-
orgv3
MCCI_IN200100UV01.xsd'VPORR_IN049016UVIrl/controlActProcessl@classCod
e='CACT H@moodCode="EVN'l/subject[@typeCode='"SUBJ'l[1l/investigationEvent
[@classCode="INVSTG [@mood Code="EVN/component{@typeCode='"COMP'{[adv
erseEventAssessment}{1)/adverseEventAssessment[@classCode=TNVSTG l@mo
0dCode="EVN'/subjectl@typeCode='SBJ'l{1}/primaryRole[@classCode="INVSBJ'
/subjectOf2@typeCode="SBJHorganizerfcodel@code="4'l{@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20'[1)organizer[@classCode="CATEGORY ' [@mood Code="E
VN'J/component[@type Code="COMP'l[substanceAdministration/id][kl/substance A
dministrationf@classCode='SBADM'l[@mood Code="EVN'Y/ consumable [@typeCode
='CSM'] [1}/instanceOfKind{@classCode='INST‘I]/subjectOf [@typeCode="SBJ'l/obse
rvationEventlcodel@code='21[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
N1l{@classCode='0BS'l[@moodCode="EVN/valuel@xsitype='"CE'l[@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2.1.5'V@code

XPath
(null

flavor)

MCCT_IN200100UV01[@ITSVersion="XML_1.0"l{@xsi'schemalocation="urn:hl7-
org'vd

MCCI_IN200100UV01.xsd'J/PORR _IN049016UVIrl/controlActProcessi@classCod
e='CACT@moodCode="EVN'l/subjectl@typeCode="SUBJ'}{ 1}/investigationEvent
[@classCode="INVSTG ll@mood Code='"EVN'/component[@typeCode="COMP'l{adv
erseliventAssessment][1}/adverseEventAssessment|@classCode="TNVSTG l[@mo
odCode="EVN'Ysubjecti[@typeCode="SBJ'|[1]/primaryRolel@classCode="TNVSBJ'
l/subjectOf2[@type Code="SBd'l{organizer/code[@code="41[@codeSystem='2.16.840.
1.113883.3.989.2.1.1.20'1{1)/organizerl@classCode="CATEGORY l[@moodCode='E
VN'Vecomponenti@typeCode='COMP'}[substanceAdministration/idl{ 1}/substance A
dministration[@classCode="SBADM'[@mood Code="EVN'/consumable[@typeCode
='C8M'|[1}/instanceOfKind[@classCode="INST'\/subject Ofi@typeCode="SBJ'l/obse
rvationEvent[codel@code="2'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
IH1li@classCode='OBSH@moodCode='"EVN'l/valuel@xsi‘type="CEl{@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2.1.5'1@nullFlavor




XPath
{codeSystem

Veraion)

/MCCI_IN200100UVO1[@ITSVersion=XM1,_1.0'l[@xsi'schemal.ocation="urn:hl7-
org:v3
e='CACTH@moodCode='EVN'Vsubject[@typeCode='SUBJ][1]/investigation Event
[@classCode=TNVSTG'[@mood Code="EVNl/component[@typeCode="COMP'] [adv
erseEventAssessmentl{1}/adverseEventAssessment{@clagsCode="TNVSTG[@mo
odCode="EVN'/subject1{@typeCode='SBJ'I[1]/primaryRole[@classCode="INVSBJ'
I/subjectOf2l@type Code="SBJ'Horganizer/codel@code="4 @codeSystem="2.16.840.
1.113883.3.989.2.1.1.20'{1)/organizerl@classCode='CATEGORY | [@mood Code="E
VN'/component{@type Code='COMP'l[substanceAdministration/id){k)/substanceA
dministration[@classCode='SBADM'[@mood Code="EVN'}/consumablel@typeCode
='CSM'I[1VinstanceOfKind[@classCode="INST'}/subjectOfl@type Code="SBJ'}obse
N1ll@classCode='0BSH@mood Code="EVN/value[@xsiitype='CE'll@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2.1.5'l/@codeSystem Version
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XPath /MCCI_IN2001000UVO01[@ITSVersion=XML_1.01l@xsi:schemaLocation="urn:hl7-

org:v3

MCCI_IN200100UV01.xsd'I/PORR_IN048016UV rl/controlActProcessi@classCod
e='CACT'l[@moodCode='"EVN'subjectl@typeCode='SUBJ'{1}/investigationEvent
[@elassCode="INVSTG H@mood Code="EVN'M/statusCode/@cade
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XPath

/MCCI_IN200100UVO1[@ITSVersion="XML_1.0'H@xsi:schemal.ocation="urn'hl7-
orgvd

MOCT INZOGIO0UVO L xed TPORR INGA2018UV e VeontrolAct Processt@classCod
e='CACT'{@moodCode="EVN/subject[@typeCode='SUBJ' [ 1}/investigationEvent
[@classCode=TNVSTG@moodCode="EVNl/component|[@typeCode="COMP'}{adv
erseEventAssessment][1}/adverseEventAssessment[@classCode="INVSTG[@mo
odCode=EVN'}component1{@typeCode="COMP'[observationEvent{codel@code="
31[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10']]H{ 1}/observationEventl@c
lassCode="0BS"[@moodCode="EVN/valuel@xsi:type='ED'[/text)
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XPath /MCCI_IN2001000V01[@ITSVersion=XML_1.0'[@xsi:schemalocation="urn:hl7-
orgiv3
MCCI_IN200100UV0L.xsd'VPORR_IN048016UVIrl/controlActProcessl@classCod
e="CACT@moodCode="EVN'l/subject{@typeCode="SUBJ'I[ 1}/investigationEvent
[@classCode="INVSTG@mood Code="EVN'l/subjectOf2[@type Code="SUBJ l[inve
stigationCharacteristic/code[@code="5'] [@Co&eSysteme. 16.840.1.113883.3.989.5.
1.3.2.1.127{1}investigationCharacteristicl@classCode="0BS'l[@mood Code="EVN'
Jivaluel@xsitype='CE[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.6@code

XPath /MCCI_IN200100UV01{@ITSVersion="XML_1.0'l|@xsi'schemal.ocation="urn:hl7-

(codeSystem | orgivd

Version) MCCI_IN200100UV01.xsd VPORR_IN049016UVIrl/controlActProcessi@classCod

Jvaluel@xsiitype='CEl@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.6'/@

e="CACT"[@moodCode='"EVN'l/subject[@typeCode="SUBJ'}[ 1}/investigationEvent
[@classCode="INVSTGH@moodCode='"EVN/subjectOf2[@typeCode="SUB.J' ] [inve
stigationCharacteristic/code|@code="5'}{@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.121{[1/investigationCharacteristic[@classCode="OBS [@mood Code="EVN'

codeSystemVersion
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XPath

MCCI_IN260100UV01[@ITSVersion="XML_1.0'l{@xsi:schemalocation="urn:hl7-

orgiva

MOCE_INZO0160UVO L xsd VPORR_INO49016UV i eontral&ct Procesal@elassCond
e='CACT|l@moodCode="EVNVsubject[@typeCode="SUBJ'I[1Vinvestigation Event
[@classCode="INVSTG H@mood Code="EVN/subjectOf2[@type Code="SUBJ Hinve

stigationCharacteristic/codel@code='6"l[@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.12N[1}/investigationCharacteristici@classCode="OBS{@mood Code="EVN’
Ivaluel@xsitype="ED'|text()
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XPath /MCCI_IN200100UV01{@ITSVersion="XML_1.0'[@xsi:schemaLocation="urn:hl7-

orgv3

MCCI_IN200100UV01.xsd I/PORR_IN049016UVIrl/controlAct Process@classCod
e='CACT"{@moodCode="EVN'I/subjectl@typeCode='SUBJ|[1}/investigationEvent
[@classCode='INVSTGl[@mood Code="EVNYcomponent[@type Code="COMP ] [adv
erseEventAssessmentl{1)/adverse EventAssessmentl@classCode=INVSTG[@mo
odCode="EVN"/component 1{@typeCode='COMP'][observationEvent{codel@code="
4'll@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1. 10'l11[1)iobservationEvent[@e
lassCode="OBS'][@moodCode='"EVNvaluel@xsitype="ED'Vtext(
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XPath

MCCT_IN200100UV01[@ITSVersion='"XML_1.0'{{@xsi:schemal.ocation="urnhl7-
org.v3

Gwsd VPORR INGAO01 80 VI eontrolActProcessl@alass Cod

BACCT INZ00 100UV
e='CACT'[@mood Code="EVN'l/subjecti@typeCode="SUBJ'H1)/investigationEvent
[@classCode="INVSTG H@moodCode="EVN'Y/component[@typeCode='COMP'}|adv
erseEventAssessmentl{1]/adverseEventAssessment[@classCode="INVSTG | [@mo

odCode='EVN")/component1[@typeCode="COMP'l[observationEvent{codel@code="
5'][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'//l{1}/observationEvent[@c
lassCode='0BS'[@moodCode="EVN'/valuel@xsi:type="EDl/text(
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XPath MCCI_IN200100UV01[@ITSVersion="XML_1.01[@xsi:schemaLocation="urn:hl7-
org:v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV rl/controlActProcessl@classCod
e='CACT ) @moodCode="EVN'V/subjectl@typeCode='SUBJ'l[1)/investigation Event
[@classCode=INVSTG [@moodCode='EVN'Y/component[@type Code="COMP}adv
erseEventAssessmentl[1)/adverseEventAssessment[@classCode="INVSTG'[@mo

odCode="EVN"/component 1[@typeCode='"COMP'][observationEventlcodel@code='
6'l{@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'1]][1//observationEvent[@c
lassCode="0BS'l[@mood Code="EVN'l/valuel@xsi:type="ED'l/text()
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XPath /MCCI_IN200100UV01i@ITSVersion="XML_1.0[@xsi:schemaLocation="urn*hl7-
orgiv3

MCCI_IN200100UV01.xsd'V/PORR_IN049018UVirl/controtActProcessi@classCod
e='CACT H@moodCode="EVN'Vsubjectl@typeCode="SUBJ'|[1}/investigationEvent
[@classCode=TNVSTG'I[@mood Code="EVN'l/component{@typeCode="COMP'{adv
erseEventAssessment][1}/adverse EventAssessmentl@classCode="INVSTG}[@mo

odCode="EVNV/subjectl[@typeCode="SBJ'[1}/primaryRolel@classCode=TNVSB.J'
l/subjectOf2[@typeCode='SBJ'H[organizer/code|@code="4'[@codeSystem='2.16.840.
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1.113883.3.989.2.1.1.20'H[1}organizer{@classCode='"CATEGORY l{@mood Code='E
VN'licomponent[@typeCode='"COMP"}[substanceAdministration/idl/substanceAd

ministrationi@classCode= SRADM N @mond Codes EVINHronsumable/instanceOf

Kind/kindOfProduct/asSpecializedKind/generalizedMaterialKind/code/original Te
xtlf 1)/econsumable[@type Code="CSM'}[1}/instanceOfKind [@classCode=TNST")/kin
dOfProduct[@classCode='MMAT H@determinerCode="KIND'//asSpecialized Kind{
@classCode="GEN'{1}/generalizedMaterialKindl@classCode="MAT" {@determiner
Code='KIND'}/code/loriginal Text/text()
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XPath /MCCI_IN200100UV01][@ITSVersion="XML_1.0'1[@xsi:schemalocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd I/PORR_IN0490168UV[r]/controlActProcessf@classCod
e="CACT'|[@moodCode="EVN'l/subject{@typeCode="SUBJ'H 1]/investigation Event
[@classCode="INVSTG'l[@moodCode='"EVN'/component@type Code="COMP'|[adv
erseEventAssessment]{1]/adverseEventAssessment{@elassCode="INVSTG H@mo
odCode="EVN'l/subject1[@typeCode='"SBJ'H{1]/primaryRolel@classCode=TNVSB.J*
l/subjectOf2l@type Code="SBJ)lorganizer/codel@code='1"[@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1. 111} [xVorganizer[@classCode='CATEGORY " [@mood Code
='"EVN'Ycomponent{@typeCode='COMP'Vobservationl@classCode="0BS' [@mood
Code="EVN'[codel@code='T1@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1. 10"
Wivaluel@xsi:type=INT [/@value
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XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.01[@xsi:schemalLocation="urn:hl7-
orgiva

MCCI_IN200100UV01.xsd'VPORR_IN049016UV(rl/controlActProcess/@classCod
e='CACT'][@moodCode="EVNYsubject@typeCode='SUBJ1[1)/investigationEvent,
[@classCode="INVSTG [@mood Code="EVNT/componenti@typeCode="COMP'|{adv
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erseBventAssessment][1V/adverse EventAssessment[@classCode=INVSTG H@mo
odCode='"EVN/subject 1{@typeCode='"SBJH1l/primaryRole[@classCode="TNVSBJ'

Pt

VsubjeettH2l@tyveCode' SR Horganizericodel@oode=" 11 @codeSysten='2,15.840,
1.113883.3.989.5.1.5.2.1. 11"l {ri/forganizerl@classCode="CATEGORY 'l{@moodCode
='EVNYcomponent[@typeCode='"COMP'//observationf@classCode="OBS'H@mood

Code="EVNlcodel@code="81@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'

NIvaluel@xsitype="EDV/text()
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XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'll@xsi:schemalocation="urn‘hi7-
orgvd

MCCI_IN200100UV01.xsd'/PORR_IN049016UV{rl/controlActProcess[@classCod
e="CACTH@moodCode="EVN'/subjectf@typeCode="SUBJ |[1])/investigationEvent
[@classCode="INVSTG [@moodCode="EVNT/component{@typeCode="COMP'lladv
erseEventAssessment][1]/adverseEventAssessment[@classCode="INVSTG'H[@mo
0dCode="EVN')/subject1[@typeCode='SBJ'|[1}/primaryRole(@classCode="INVSBJ'
VsubjectOf2[@typeCode="SBJ'l[organizer/codel@code='1'l[@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1. 11'}{r)/organizer{@classCode="CATEGORY [@mood Code
="EVN'/componentl@typeCode='COMP}/observationf@classCode="OBS'l[@mood

Code="EVN1lcode[@code='9'l[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1. 10’
Nvaluel@xsictype="CEll@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.7'}/@cod

e
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XPath
{codeSystem

Version)

MCCI_IN200100UVO0Ll[@ITSVersion="XML_1.0'[@xsi:schemalocation="urn:hl7-
orgivd
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,,,,,,,,,,, o

e='CACT'|[@mood Code="EVN/subject[@typeCode="SUBJ ' 1}/investigation Event
[@classCode=INVSTG'I[@mocdCode="EVN'}/component[@typeCode='COMP{adv
erseEventAssessmenti[1}/adverse EventAssessment[@classCode="INVSTG[@mo

odCode='"EVN'l/subject1[@typeCode="SBJ'|{1)/primaryRole[@classCode="TNVSRBJ"
l/subjectOf2l@typeCode='SBJ'|[organizer/code[@code="1"l[@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.111Hr)lorganizerl@classCode="CATEGORY | [@mood Code
='EVN'l/component{@typeCode="COMP']/observation|@classCode="0BS'[[@mood

Code='EVN'l{codel@code="91[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'

lIvaluel@xsitype='CE'H@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.7//@cod
eSystem Version
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XPath

/MCCI_IN200100UVO01[@I TS Version="XML,_1.0'l{@xsi'schemalocation="urnhl7-
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MCCI_IN200100UV01.xsd' I/PORR_IN049016UVirl/controlActProcess[@classCod
e='CACT'l{@moodCode="EVN'/subject{@typeCode="SUBJ'l{1}/investigation Event
[@classCode="INVSTG'l[@mood Code="EVN'}/component[@typeCode="COMP{adv
erseEventAssessment][1]/adverseEventAssessment[@classCode="INVSTG 1 @mo

odCode="EVN'l/subject1[@typeCode="SBJ'1{ 1}/primaryRolel@classCode="INVSBJ'
J/subjectOf2{@typeCode='SBJ'[organizer/codel@code="11[@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.11'l}{r)/organizer{@classCode='CATEGORY l{@moodCode
='EVN'/component|[@typeCode='COMPV/observationl@class Code='0BSH@mood

O'llvaluel@xsi:type='"BL }/@value
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XPath
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e='CACT'l[@moodCode="EVN'l/subjectl@typeCode="SUBJ '} 1)/investigationEvent
[@classCode="INVSTG ] [@moodCode="EVNVcomponent|[@typeCode="COMP Hadv
erseEventAssessment][1])/adverseEventAssessment[@classCode="INVSTG [{@mo
odCode="EVN/subject1{@typeCode="SBJ'{1)/primaryRolel@classCode="TNVSBJ'
I/subjectOf2[@typeCode="SBJ'Hobservationlidlicodel@code="29'l[@codeSystem="2.
16:840.1.113883.3.989.2.1.1.19'1l{il/observationf@classCode='"0BS'l{@mood Code=
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@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'H[1)/observation[@classCode=
'OBS@moodCode="EVNvaluel@xsitype="CEl{@codeSystem='2.16.840.1.11388
3.3.989.5.1.3.2.1.8V@code

XPath
{codeSystem

Version)

MCCT_IN200100UV01@ITSVersion="XML_1.01[@xsi:schemalocation="urn:hi7-
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MCCI_IN200100UV01.xsd'/PORR_IN049016UV[rl/controlActProcessl@classCod
e='CACT'll@moodCode='"EVN'l/subject@typeCode='"SUBJ'|[1}/investigationEvent
[@classCode="INVSTG H@moodCode="EVN')/component[@typeCode="COMP'}{adv
erseFventAssessment}[1}/adverseEventAssessmentl@classCode='INVSTG'H@mo

| 6dCode="EVN'V/subject1{@typeCode="SBJ'l[ 1}/primaryRole[@classCode="INVSB.J'

VsubjectOf2l@typeCode='SBJ 1 {observation(idl{codel@code="29'l{@codeSystem="2.
16.810.1.113883.3.989.2.1.1.19'111[il/observationl@classCode="0BS' {@mood Code=
"EVN/outboundRelationship2[@type Code="PERT }[observation/codef@code="11'][
@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10']][1}/observation[@classCode=
'OBS T{@moodCode="EVN'Ivaluel@xsitype='CE'll@codeSystem='2.16.840.1.11388

3.3.989.5.1.3.2.1.81/@codeSystem Version
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| ment/codel@code="2[@codeSystem='2.16.840.1.113883.3.989.2.1.1.2711[r}/docum

orgvd
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV{rl/controlActProcess{@classCod
e='CACT'|[@moodCode='"EVN'//subject(@typeCode="SURJ [ 1}finve stigationEvent
[@classCode="INVSTG'|[@mood Code="EVN']/referencel@typeCode="REFR{docu

entl@classCode="DOCl[@moodCode='"EVN'l/participation[@typeCode='AUT }assi
gned Entityl@classCode="ASSIGNED/representedOrganization[@classCode='OR
G'll@determinerCode="INSTANC E'/asLocated Entity@classCode=LOCE/ocatio
nf{@classCode='COUNTRY l{@determinerCode="INSTANCE/codel@codeSystem=
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e='CACTl{@moodCode="EVN/subject@typeCode='SUBJ /[ 1]/investigationEvent
[@classCode="INVSTG'[@mood Code='EVN/componentl@type Code="COMP" [ad v
erseEventAssessmentl{1)/adverse EventAssessment[@classCode="INVSTG' [@mo
odCode='"EVN'//component1{@typeCode="COMP'HobservationEventlcode[@code='
12'[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.101}[1}/observationEvent|@
classCode='OBS[@moodCode="EVN'Ivaluel@xsi:type='ED Itext()

8 H WHRBEDOH S, THRERER B L (FEEERE L) O sT,
EE R L

e A7 Y 1N

A 1=ERERER 9T

2=JERE R e

15



XPath

entl@classCode="DOCH@moodCode="EVN'Hititle/text(

MCCI_IN200100UVO1[@ITSVersion=XML_1.0'1[@xsischemal.ocation="urn'hl7-
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XPath /MCCL_IN200100U V01 [@ITSVersion="XML_1.0'1{@xsi:schemalocation="urn:hl7-
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MCCI_IN200100UV01.xsd/PORR_IN049016UV{rl/controlActProcess[@classCod
e="CACT[@moodCode="EVN'/subjectl@typeCode='"SURJ'l[1}//investigationEvent
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edEntityl@classCode='ASSIGNED VassignedPerson[@classCode='"PSN'l[@determ

inerCode="INSTANCEl/name/prefix{1]/text(}
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e='CACT']l@moodCode='"EVN/subject/@typeCode="SUBJ1{1}/investigation Event
[@classCode="INVSTG [@mood Code='EVN'l/subjectOf L [@type Code="SUBI [cont
rolActEvent/primaryInformationRecipient}[ 1}/controlActEventl@classCode="CAC
T'H@moodCode="EVN'[/primarylnformationRecipient[@typeCode=PRCP Vassign
edEntityl@classCode="ASSIGNED l/assignedPersonl@classCode='"PSN'{{@determ
inerCode="INSTANCE'l/name/familyl 1}/text()
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e='CACT[[@moodCode="EVN'//subject|@typeCode='SUBJ [ 1Vinvestigation Event
[@classCode="INVSTG l[@moodCode="EVN1/subjectOf1 [@type Code="SUBJ Tleont
rolActEvent/primaryInformationRecipient}{1}/controlActEvent[@classCode="CAC
T1@moodCode="EVN/primaryInformationRecipient[@typeCode="PRCP)/assign
edEntityl@classCode="ASSIGNED VassignedPersonl@classCode="PSN'l[@determ
inerCode="INSTANCE[/name/given[1l/text(
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MCCI_IN200100UV01.xsd'l/PORR_ING49016UV [rlcontrolAct Process[@clagsCod
e='CACT'l{@mood Code='"EVNI/subject[@typeCode="SUBJ[1)/investigationEvent
[@classCode="INVSTG'H[@moodCode="EVN'l/component[@typeCode="COMP1[adv
erseEventAssessment](1]/adverseEventAssessment[@classCode=INVSTG H@mo

odCode="EVN"V/component1i@typeCode='COMP'][observationEventcode[@code="
13'l{@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1. 10')1l{ 1//observation Event|@
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MCCI_IN200100UV01.xsd')/PORR_IN049016UV[rl/controlActProcess@classCod
e='CACT'H@moodCode="EVN'Vsubject@typeCode="SUBJ {1)/investigationEvent
[@classCode='INVSTG@moodCode="EVN'l/component{@typeCode="COMP'][adv
erseEventAssessmentl[1}/adverseEventAssessment[@classCode=TNVSTG H{@mo
odCode="EVN/component1[@typeCode="COMP'HobservationEvent|codel@code="
14'[@codeSystem='2.16.840.1.113883.5.989.5.1.3.2.1.10'l[1//observationEvent[@
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[@classCode="INVSTG[@moodCode="EVN'/component[@typeCode="COMP'{adv
erseEventAssessment][1}/adverseEventAssessment[@classCode=INVSTG'H@mo
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